ZSVC FI9IbAh9no

BRLDV)—XEZ%= 7)o L TR0

it | 72— Finm

TR | C85 | wmpOvR |
TR | cssw | #EEB@EOVE |
BRER | C85 |  =®0®-5) | 8,10,12,16,20,25
O KEY R Cc8s5K | #mBAOVE |
FALYMIIY M C85R | #mBAOVE |
AR ‘ CP96 ‘ BEAOVE | 5 40,50,63.80.100,125
mgmovr | T
32— 51348 (mm)
1REERS ‘ C96 ‘ alat iy | 32,40,50,63,80,100,125
m@mov k|

it | 32—7isinm
55

BAER | C | #®®HOvE | 20,32,40,50,63,80,100 |

[ BROKRIEZES ][ PDFu>0O—-RIETES ]

\ 7
B =B @) &

B FRRDY—)/N—K VW IEERIBET I,




ISO Cylinder

ISO cylinders are designed to meet with the international standard faid down by the International Organization for Standardization (ISO).
As long as the standard number is identical, the mounting sizes are applicable worldwide.

ISO 6432 ISO 15552 ISO 21287
Series C85 Series CP96/C96 Series C55

Machine manufactured

Mounting compatibi " overseas

Transposable with cylinders [
manufactured overseas. @

Transposable

[P

Compatible mounting

ISO cylinders manufactured overseas

Prompt deliver

This is produ.ced in Jgpan :_;md ;L Irsr:g;;%set nt:‘rennet Transportation costd
as such a quicker delivery is will also be incurred.
available by comparison with the

back-orders from overseas.

Replaceable sea

SMC’s ISO cylinders have a
replaceable seal.
We provide this product with a seal set.

It will be more cost efficient than a
cylinder replacement.
(For details, refer to pages 1, 11, 21, 36, 42 and 58.)

P-E10-2A



ISO Cylinder, Series Variations

ISO 6432

- C85 -

' Double acting,
Single rod

Double rod

Single rod

Double acting,

~ Single acting,

Bore size (mm) |

e e

900000
900000
00000

-C85R"

Double acting,
Single rod

999000

ISO 15552 +

CP96

Single rod

Double rod

' Double acting,|

' Double acting,

ISO 15552 +

- C96

Single rod

Double rod

' Double acting,

Double acting,,

ISO 21287 -

- C55 -

Single rod

Double acting,

oo

P.1

P.11

P.21

000000
000000

P.35

000000
000000

P.41

00000 P

Small auto switch
mountable on all types

2-color indication solid state auto switch
O©Appropriate setting of the mounting position can be
performed without mistakes.

A

the oﬁ

um operating range.

light lights up at

range

' Red |

Green

Mountable on all four sides

__ON
ange LA Ror
OFF

| Red |

A

Optimum oprating range

i Water resistant auto switches are available in
| environments with exposure to water or coolants.

.....................................................................................

CNOMO grooves

Mount a switch from the head
end for attaching to the CNOMO
groove on the port surfaces.

-
- __ Groove for the D-M9[],
A9 type*

* The D-M91V, A9V series
are not mountable.

CP96

Since the adjustment of the
cushion valve is performed with a
hex wrench key, even finite
control can be easily
accomplished. Furthermore, the
cushion valve has been recessed
so that it does not protrude from

the cover.

Feature 1




ISO Standards

Air Cylinder: Standard/Non-rotating Type
Double Acting, Single/Double Rod

Series C85

08, 010, 012, 016, 620, 325

R
o
7))
How to Order 2
)
(%)
e SIS C D85  |K|INJ[16]-|40]C| J] -|A
Single rod
_ I — | | [ | I
sl C D|85W | | E [16]-(40|C|JJ|-B
Double rod
Built-in magnetl lAuto switch mounting
Nil None A | Rail mounting (e}
D Built-in magnet B | Band mounting 83
Applicable auto switches are shown Q
Typee on page 24. Please order auto s
Nil Standard switches and bands separately. Q
K Non-rotating rod (Au_to switches and bands cannot be a
(Rubber bumper only) indicated here.) n
. e Rod boot (Only 020, 325)
_ ____Mounting ¢ Nil Without rod boot
N* Basic (integrated clevis) J Nylon tarpaulin (one side)
k%
E Double end boss-cut style K | Heat resistant tarpaulin (one side)
F Boss-cut basp style JJ* Nylon tarpaulin (both sides)
Y Head cover axial port KK* |Heat resistant tarpaulin (both sides)
* Air cushion type is applicable only = In the case of double acting/double rod. ©
for the N type. (>
++ Double rod is applicable only for o Cushion 0
the E type. Nil | Rubber bumper (Standard) %
c Air cushion (Only “N” mounting, E
l 210 to 25) (7]
Bore size Stroke e
Bore size -~ Max. stroke (mm)***
(mm) DETREIE S G (i) Standard | Non-rotating |Double rod
8* 200
10 10, 25, 40, 50, 80, 100 100 100
12 10, 25, 40, 50, 80, 100 400
16 125, 160, 200 200 200
20 10, 25, 40, 50, 80, 100
25 125, 160, 200, 250, 300 1000 1000 500 R
* Not available with air cushion. o
=x Other strokes available on request. q‘g
wxx For exceeding the standard stroke range, it will be available as a special =
order (-X2018). t‘}’)
Mounting Bracket Part No. Replacement Parts/Standard Cylinders
" —— Bore size (mm) 8 10 12 16 20 25 Bore size (mm) Part no. NoFe
ounting bracket 20 C85-20PS Every set includes:
Foot (1 pc.) C85L10A | C85L16A | C85L25A 1 rod seal
Foot (2 pcs. with 1 seal retgining yvasher
Mounting | mounting nut 1 pc.) C85L10B | C85L16B | C85L25B 25 C85-25PS 1 retaining ring
bracket | Flange C85F10 C85F16 C85F25
Trunnion C85T10 C85T16 C85T25
Clevis C85C10 C85C16 C85C25 . . s
_ . Replacement Parts/Non-rotating Cylinders (“K”)
Single knuckle joint KJ4D KJ6D KJ8D |KJ10D -
Bore size (mm) Part no. Note
Accessory | Double knuckle joint| GKM4-8 | GkMe-10 | CKM8|GKMI0 20 C85K-20PS Every setincludes:
-16 | -20 1 rod seal
1 seal retaining washer
Floating joint JA10-4-070 | JA15-6-100 | 30 | A% 25 C85K-25PS  retaining 1ing




Series C85

Specifications

/ Bore size (mm) 8 10 12 16 20 25
,ﬁ Piston rod dia. (mm) 4 4 6 6 8 10

0.7 | M6x1 M6x1 |M8x1.25| M10x1.25

=1

0.8 | M5x0.8 | M5x0.8 G 1/8 G 1/8

Piston rod thread M4 x 0.7 | M4 x
Port size M5x0.8 | M5 x
ol - Action

Double acting, Single/Double rod

- Fluid Air
Rubber bumper/Single rod Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa
Min. operating pressure | 0.1 MPa 0.08 MPa [ 0.05 MPa
Ambient and fluid temperature —20 to 80°C (Built-in magnet: —10 to 60°C)
Cushion Rubber bumper, Air cushion (Except 88) (Non-rotating: Rubber bumper only)

Air cushion/Single rod Lubrication Not required.

Use turbine oil Class 1 1ISO VG32, if lubricated.

Nylon

tarpaulin
Rod boot P

Max. ambient
temperature 60°C

Heat resistant
tarpaulin

Max. ambient
temperature 110°C*

Piston speed

50 to 1500 mm/s

Rubber
Allowable | bumper 002J | 003J | 004J | 009J | 027J | 04J
kinetic Al
energy r — 0.17J 0.19J 0.4J 0.66 J 0.97J
cushion
Non-rotating accuracy +1.5° +1.5° +1° +1° +0.7° +0.7°
i Stroke length tolerance R i
-
Air cushion/Double rod * Maximum ambient temperature of rod boots only.
’
Non-rotating rod
Weight
(9)
JIS Symbol Bore size (mm) 8 10 12 16 20 25
Double acting, Single rod ) ) ) 183 258
o Double acting | Basic weight 45 49 96 109 (203) | (286)
—Hﬁ Double rod | Additional weight per 10 mm of stroke 3 3.2 6.2 72| 11.8 18.4
C85LLA 20 40 95
‘ ‘ ‘ ‘ C85L0B 55 105 210
Rubber bumper Air cushion Mounting bracket C85F0 12 25 90
C85T0O 20 50 75
Double acting, Double rod c85CH 20 40 85
o« z Single knuckle joint KJOD 17 25 45 70
ﬁ4 g Double knuckle joint GKMO-O 10 20 50 100
LA | 2| Floating joint JAD-O-O 10 20 50 70
‘ ‘ ‘ ‘ Calculation: (Example) C85N10-50, C85F10 (' ): In the case of air cushion
Basic weight ---eeeeeeeeeee 49 (210) g
Rubber bumper Air cushion Additional weight- -3.2/10 mm stroke
Cylinder stroke -+ -50 mm stroke
Mounting bracket -+« 12g
Non-rotating rod: Double acting, Single rod 49 +3.2x50/10=659g 65+12=77g

4

[

O
2



Air Cylinder: Standard/Non-rotating Type .
Double Acting, Single/Double Rod Series C85

Dimensions

Double acting, Single rod
Rubber bumper: C[185N [Bore size|-[Stroke |-
Without magnet, Built-in magnet

XC + Stroke p)
WH Gi1 G2 I
> o
BE 5 3
EE EE a =
P ‘ /8 @
| - 1 (0
a ‘ ‘
S o= <%} Ji)-
‘U HR i EW d13
N1 <N_2_ NA
P i+8tr0ke : RFR Rail mounting type (A) Band mounting type (B)
+ Stroke or non-magnet
ZZ + Stroke
3
Air cushion: C[185N [Bore size|—[Stroke |C - Q
Without magnet, Built-in magnet xc . stroke Cushion needle &)
(Width across flats 1.5) g’)
61 | S
= %))
|
gre h—— BT
| S N (R =
i1 ro—
n 7
N N L@J MM
S + Stroke | NA
£+ Stoke Rail ting type (A) Band ting type (B
Hnm ntin nam ntin
77 + Stroke ail mounting type (A) Band mounting type (B)
or non-magnet ©
3
With rod boot K ClI85KN *
Non-rotating, Piston rod (Rubber bumper only) 2
)
| \ @
r— ‘ 1 \\
—! \
2o o dgd- bl
T / = 1|
] \
e Rod cross section
W KK AM
h
0
%)
mm) | Q
Ef;rg AM| BE |C|cD| D | EE [EW/ F|G1|G2|H|HR|K|KA| KK |KV|[KW| N1 | N2 |NA |NDRR| S [SW|U|WAWH XC | Z | 2z _3
P
8 [12[mi2x1.25] 4[4 [16.7]msx08] 8[12] 7 [ 5 [28]10 [—] 42| Max0.7[19] 6] 11.5| 9.5 |15 [12[10] 46| 7| 6] — [16] 64 | 76 | 86 3
10 |12\ M12x1.25 | 4|4 [167 | M5x08]| 8[12| /x| 2 28] 105|—| 42| Max0.7 |[19] 6] 115 | 35 15 [12|10| 28 | 7| 6|105|16| 84 | 76 | 86
: : : (5.5)| (5.5) : : : (13.5) | (13.5) (53) : (71)|(83)| (93)
8 | 6 125 | 105 50 75 | 91 | 105
12 |16| M16x15 | 6|6 |197 | M5x08(12|17| 5| 5% |38| 14 | 5| 62| M6x1 |24| 8| 452 | (122 | 18:3[16/14| 54| 10] 9| 95(22| 79 | (9%) | (109)
8 | 6 125 | 105 56 82 [ 98 | 111
16 |16| M16x15 | 6|6 |197 | M5x08(12|17| 5| (55| 38[ 14 | 5| 62| M6x1 [24| 8| 453) | (125) | 18:3[16|13|(36)| 10| 9| 95|22| (gp) | 98 | (111)
20 [20[m22x15]| 8|8[28 [G1/8 [16]20] 8 | 8 [44]17 |6 82 Msx1.25[32][11]15(17)[15(17)[24 |22[11] 62 [13[12][13 [24] 95 [115] 126
25 [22[ M22x1.5[10]8[335] G 1/8 [16]22] 8 | 8 [50[20 |8 [10.2] Miox1.25 [32[11]15(17)[15(17)[30 [22[11] 65 [17[12]13 [28] 104[126] 137

( ): In the case of air cushion.

With Rod Boot (mm)
ltem h
Boresza~Stroke| AM | € | e | f | K — 11050 | 5110100 | 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 | 8 | 36 | 20 | 6 | MBx1.25 71 84 96 109 134 159 —
25 22 | 10 | 36 | 20 | 8 |Miox125| 74 87 99 112 137 162 187
ltem | Wh
Bore siz~Stroke| 1 to 50 |51 to 100] 10710 150 ] 15110200 ] 20710300 [ 30710400 40110500 | 1 | *W [ %0 50 [51 10 100 ] 101 10 150 ] 151 to 200] 207 10 300 301 10 400 | 401 10 500
20 125 | 25 | 375 | 50 | 75 | 100 | — |235|105| 51 64 | 76 | 89 | 114 | 139 | —
25 125 | 25 | 375 | 50 | 75 | 100 | 125 |235|105] 52 | 65 | 77 | 90 | 115 | 140 | 165

3



Series C85

Dimensions

Double acting, Single rod
Rubber bumper: C[I85E [Bore size|-[Stroke |-
Without magnet, Built-in magnet

G2
BE
EE EE
2 L Vi /
=] N \
RS
HR
N2
H S + Stroke F Rail mounting type (A) Band mounting type (B)
ZZ + Stroke or non-magnet
With rod boot CO85KE
K Wh Non-rotating, Piston rod (Rubber bumper only)
TB’F;T
| W ‘ \
| \
e —! - \
o/ s &g gD -
- o - \
q |5 5 / % m A
= - Rod cross section
W KK AM f
h
(mm)
El"zrg AM BE c| D EE F|Gi|G2|H|HR| K | KA KK KV |KW| N1 | N2 [ NA [ND| S [SW|WH| 2z
8 |12 |Mi12x1.25| 4|167|M5x08 | 12| 7 | 5 |28 |10 | — | 42| M4x07 |19| 6|11.5]| 95|15 |12 /46| 7|16 | 86
10 |12 |M12x125| 4[167|M5x0.8|12| 7 | 5 |28 [10.5] — | 42| M4x0.7 |19 | 6|11.5| 95|15 |12 |46 | 7|16 | 86
12 |16 | M16x15 | 6[19.7|M5x0.8 |17 | 8 | 6 |38 |14 | 5 | 62| M6x1 |24| 8|125/105|18.3| 16 |50 | 10 | 22 | 105
16 | 16 | M16x1.5 | 6|19.7 | M5x0.8 |17 | 8 | 6 |38 |14 | 5 | 62| M6x1 |[24| 8[125(10.5[18.3| 16 |56 | 10 | 22 | 111
20 |20 | M22x1.5 | 8|28 G1/8 |20| 8 | 8 |44 (17 | 6 | 82| M8x1.25 |32 | 11|15 |15 |24 |22|62 | 13|24 [126
25 |22 | M22x15 |10[335| G1/8 |22| 8 | 8 |50|20 | 8 [10.2| M10Ox125 |32 | 11[15 [15 |30 |22 |65 | 17|28 |137
With Rod Boot (mm)
Item h
AM f K KK
Bore siz&~ Stroke Cle 1t050 | 51t0100 | 101to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 8 | 3 | 20 | 6 | M8x1.25 71 84 96 109 134 159 —
25 22 | 10 | 36 | 20 | 8 |M10x125 74 87 99 112 137 162 187
Item 1 uhSw Wh
Bore size~Stroke| 1 to 50 | 510100 | 1011t 150 | 1510200 | 201 to 300 | 301 t0 400 | 401 to 500 1 t0 50 | 5110100 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 12.5 25 37.5 50 75 100 — |235(/105| 51 64 76 89 114 | 139 —
25 12.5 25 37.5 50 75 100 | 125 |23.5(10.5| 52 65 77 90 115 | 140 | 165
4
ZS\VC



Air Cylinder: Standard/Non-rotating Type .
Double Acting, Single/Double Rod Series C85

Dimensions

Double acting, Single rod
Rod foot, Head foot: C85L108, C85L164, C85L258

w LT
T

[+ 4 x oAB Ao
@ H 5 IF () \ IT{I({\_ _,}% E
. . :J =z 4
XS AV | TR | TR |
LS + Stroke us us

XL + Stroke |LAO

N

UR

!

Series C85

.__.i._.

Head cover E Head cover N

Rod flange, Head flange: C85F10, C85F16, C85F25
-©--
AN (D
30 @hres <3
7 Q.
¢ = Q
FBH13 FBH13 _q"’,
UR E
(721
Head cover E Head cover N
Rod trunnion, Head trunnion: C85T10, C85T16, C85T25
| | I__I
i i
Sl e ke H O O
| P Uy U S
] S
1T S | LI WL |TDe8 WL _|TDe8 %)
XZ troke
XV * uw uw %
) Head cover E Head cover N 'E
Clevis: C85C10, C85C16, C85C25 )
XC + Stroke a AE
— (8]
4 L T Q AN
LGN
=H= = | T Eé
\J 2 x oAB = : L
et SS =
AO AU
TR R
LG Head cover N 8
(mm) q‘g
Bore size Rod foot, Head foot Rod flange, Head flange %
AB | AO | AV LS LT |[NH |[TRJS14| UR | US | W XL XS | FBH13 | FT | TF | UF | UR | W WL 5]
8 4.5 5 1 68 32| 16 25 26 | 35 [12.8 73 23.8 45 32| 30 | 40 | 22 |12.8 65.2
10 4.5 5) 11 | 68(75) | 3.2 | 16 25 26 | 35 |12.8| 73 (80) |23.8 4.5 32| 30 | 40 | 22 [12.8| 65.2 (72.2)
12 55 6 14 | 78(82) | 4 20 32 33 | 42 |18 86 (90) |32 55 4 40 | 52 | 30 |18 76 (80)
16 55| 6 14 | 84 (84) | 4 20 32 33 | 42 |18 92 (92) |32 55 4 40 | 52 | 30 |18 82 (82)
20 6.6 8 17 96 5 25 40 42 | 54 |19 103 36 6.6 5 50 | 66 | 40 |19 91
25 6.6 8 17 929 5 25 40 42 | 54 |23 110 40 6.6 5 50 | 66 | 40 |23 98
Bore size Rod trunnion, Head trunnion Clevis
TD e8 T™ | TT | TZ | UW | XV XZ AB | AE | AO | AU CD H9 LG |[LT |NH | TR XC
8 4 26 6 38 | 20 | 13 65 45| 81| 1.5 |13.1 4 20 | 25| 24 [125 64
10 4 26 6 38 | 20 | 18 65 (72) 45| 81| 1.5 |13.1 4 20 | 25| 24 |125 64 (71)
12 6 38 8 58 | 25 | 18 76 (80) 5.5 [12.1] 2 18.5 6 25 | 32| 27 |15 75 (79)
16 6 38| 8 |58 | 25| 18| 82(82) |55 |121|2 |185 6 25 (32| 27 |15 82 (82)
20 6 46 8 66 | 32 | 20 90 6.6 |16.1| 4 241 8 32 | 4 30 (20 95
25 6 46 8 66 | 32 | 24 97 6.6 |16.1| 4 241 8 32 | 4 30 |20 104

(): In the case of air cushion.



Series C85

Dimensions

Double acting, Single rod
Rubber bumper: C[185F/Y [Bore size|—[Stroke|-[]
Without magnet, Built-in magnet

WH G1 G
© 2
KV g
sw
KK i %F EE EE
LT_ ; 4 _; 0
HK of U—
S
KW
AM F N1 N2
H S + Stroke
Z + Stroke Head cover Y  Head cover F  Head cover Y Head cover F
Rail mounting type (A) Band mounting type (B)
or non-magnet
With rod boot CO85KF/Y [Bore size|—[Stroke |-[]
Non-rotating, Piston rod (Rubber bumper only)
K Wh
TS’T;T
| W 1 ‘ \
I ) M ! !
N =i= e R = Rz 5= | v -
YERwanr: | A :
W KK AM f
h Rod cross section
(mm)
Egg AM| BE c| D EE F |[Gi|G2| H| HR | K | KA KK KV|(KW| N1 | N2 | NA [ ND | S [SW|WH| Z
8 |12 |Mi2x125| 4|16.7|M5x08|12| 7 | 5 |28 |10 |— | 42| M4x07 |19 | 6|115| 95|15 | 12 |46 | 7|16 | 74
10 | 12 | Mi2x125| 4| 16.7 [M5x0.8 12| 7 | 5 |28 |105| — | 42| M4x07 |19| 6|115| 95|15 | 12 |46 | 7|16 | 74
12 | 16 | M16x15| 6[19.7 [M5x08 |17 | 8 | 6 |38 |14 | 5 | 62| M6x1 |24| 8|125|105|18.3| 16 |50 |10 |22 | 88
16 | 16 | M16x1.5| 6| 19.7 |M5x0.8|17 | 8 | 6 [38 |14 | 5 | 62| M6x1 |24| 8|125|10.5|18.3 | 16 |50 |10 |22 | 88
20 |20 | M22x15| 8|28 G1/8 20| 8 | 8 44|17 | 6 | 82| M8x125|32| 11|15 |15 |24 | 22 |62 |13 |24 |106
25 |22 | M22x15|10|335| G1/8 |22 | 8 | 8 |50 |20 | 8 [10.2|M10x125|32| 11|15 |15 |30 | 22 | 65|17 |28 |115
With rod boot (mm)
tem AM | C f K KK h
Bore siza~Stroke ° 1t050 | 51to 100 | 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 8 | 36 | 20 | 6 | M8x1.25 71 84 96 109 134 159 —
25 22 | 10 | 36 | 20 | 8 | M10x1.25 74 87 99 112 137 162 187
Item 1 Wh
Bore siza~S1roke | 1 to 50 |51 to 100 [101 to 150|151 o 200|201 to 300{301 to 400|401 t0 500 R | W 5750 [51 10100 101 0 160] 151 to 200]201 10 300] 301 0 400] 401 t0 500
20 12.5 25 37.5 50 75 100 — |285]/105] 51 64 76 89 114 139 —
25 12.5 25 37.5 50 75 100 | 125 |235|105| 52 65 77 90 115 140 165
6
4 S\VC



Dimensions

Air Cylinder: Standard/Non-rotating Type
Double Acting, Single/Double Rod

Double acting, Single rod
Rod foot: C85L10A, C85L16A, C85L25A

Series C85

Series C85

Series C96 Series CP96

Series C55

w LT | |
| |
| L N N
— ElL: ‘ : i
i B | I 7 N | P B o 7*_*'@*_* o 771\
- =} - ! > - :
2 x oAB
e - I I
: —T_' f x f f I 1
A0| AV TR . TR |
#SJ us us
Head cover Y Head cover F
Rod flange: C85F10, C85F16, C85F25
|
— 1
(D
| !
_ H (MR
soEH ) P < O s R
_.@_
|| N ; /
w FT ‘ FBH13 FBH13
UR UR
Head cover Y Head cover F
Rod trunnion: C85T10, C85T16, C85T25
\ \
— i | |
_ | S ) Ho i
S ER-- < < 2 + I-E|
= ! | |
— |
I N\ ! /,
m |:E:|
\
T TDe8
XV uw uw
Head cover Y Head cover F
(mm)
Bore size Rod foot Rod flange Rod trunnion
AB |AO|AV |LT |NH| TRJS14 |[UR|US| W | XS FBH13 FT|TF |UF ([UR| W TD e8 TM | TT | TZ |UW | XV
8 45| 5 |11 (32| 16 25 26 | 35 |12.8|23.8 45 3230|4022 |12.8 4 26| 6 | 38|20 | 13
10 45| 5 |11 (32| 16 25 26 | 35 [12.8|23.8 4.5 32|30 |40 |22 |12.8 4 26 | 6 [ 38|20 | 13
12 55| 6 |14 |4 20 32 33|42 |18 |32 55 4 40 | 52 | 30 | 18 6 38| 8 | 58|25 |18
16 55| 6 |14 |4 20 32 33|42 |18 |32 55 4 40 | 52 | 30 | 18 6 38| 8 | 58|25 |18
20 66| 8 |17 |5 25 40 42 | 54 |19 |36 6.6 5 50 | 66 | 40 |19 6 46 | 8 |66 | 32 | 20
25 66| 8 |17 |5 25 40 42 | 54 (23 |40 6.6 5, 50 | 66 | 40 |23 6 46 | 8 | 66 | 32 | 24




Series C85

Dimensions

Double acting, Double rod
Rubber bumper: CCI85WE [Bore size|-[Stroke |-
Without magnet, Built-in magnet

KV WfH'g * G1_ WH + Stroke
KV | -
SW BE g BE
] EE
KK NOFN | KK
K\ L,_ '\ |- { _ ©
kST g |\
AM KW AM
F N1 N1 F
H S + Stroke H + Stroke Rail mounting type (A) Band mounting type (B)
ZZ + 2 x Stroke or non-magnet

Air cushion: CCI85WE [Bore size|—[Stroke|C -

Without magnet, Built-in magnet
Cushion needle
Wi L (Width across flats 1.5)

Gi1 G1 AD
' ‘
4 | S - ® BN
S | I 1 IS | > _ "—8’ X m _ 7 N <
- SRS
- T8
N1 N1 \/
NA
S + Stroke
ZZ + 2 x Stroke ‘ 08 to 25
Rail mounting type (A) Band mounting type (B)
With rod boot K Wh or non-magnet
‘8’7;7
0 P
=R R = i —
z |
.—/3 -
JW| KK/ | AM f
h
(mm)
Egg AM| BE cC| D EE F| Gt |[H|[HR|K KK KV|KW| Ns | NA| ND S |SW| WA (WH| Zzz
8 |12|M12x125| 4(16.7|M5x0.8|12| 7 |28|10 |—| M4x0.7 |19| 6| 115 | 15 | 12 |48{54}| 7| — |16/ 104{110}
10 |12 |Mi2x1.25| 4[16.7|M5x0.8|12(7(5.5)|28 [10.5|—| M4x0.7 |19| 6(115(135) | 15 | 12 |48(53)| 7| 10.5 |16 |104(109)
12 |16 |M16x1.5| 6[19.7|M5x0.8(17(8(55)[38 |14 |5 | M6x1 |24| 8[125(125)(18.3| 16 |52(54)|10| 9.5 |22 128(130)
16 [16|M16x1.5| 6|19.7|M5x0.8|17(8(55)|38|14 |5 | M6x1 |[24| 8|125(125)[18.3| 16 |52(54)|10| 9.5 |22 128(130)
20 |20|M22x15| 8|28 G1/8 |20| 8 |44[17 |6 | M8x1.25 |32|11|15(17)| 24 | 22 62 [13] 13 |24| 150
25 |22|M22x15|10(33.5| G1/8 (22| 8 |50(20 | 8 |M10x1.25|32|11|15(17)| 30 | 22 65 |17| 13 |28| 165
( ): Inthe case of air cushion. { }: In the case of built-in magnet.
With Rod Boot (mm)
Item h
_ AM | C e f K KK
Bore sizé~Stroke 1t050 | 51to 100 | 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 8 | 36 | 20 6 | M8x1.25 71 84 96 109 134 159 —
25 22 | 10 | 36 | 20 8 |[M10x1.25 74 87 99 112 137 162 187
ltem 1 Wh
Bore size~Stroke| 1 to 50 |50 to 100|101 to 150 151 to 200| 201 o 300 | 301 to 400 | 401 to 500 e IW 0 50 5110 100 101 to 150 | 151 t0 200 | 201 0 300 |301 1040 0] 407 t0 500
20 12.5 25 37.5 50 75 100 — 235 | 105 51 64 76 89 114 139 —
25 12,5 25 375 50 75 100 125 | 235 | 10.5 52 65 77 90 115 140 165

8 Z;S\VC



Air Cylinder: Standard/Non-rotating Type
Double Acting, Single/Double Rod

Dimensions

Double acting, Double rod
Rod foot, Head foot: C85L10%, C85L168, C85L254

w LT

LS + Stroke
XL + Stroke AO|

Rod flange: C85F10, C85F16, C85F25

|
|
1

Series C85

TRJS14

us

- @ N
[ [
M K| | —
a5 —————— r-=eds HOH -
N % /!
w FT | FBH13
UR
Rod trunnion: C85T10, C85T16, C85T25
\ \
m ( [| )
— ‘ !
- | ) T -
e+ ><p——F3-98EF Y + A
J | (-
— i
1 \ . J
Ll—‘ |ji:|
1) | Lo
XV uw
(mm)
Bore Rod foot, Head foot Rod flange Rod trunnion
sizé | AB [AO|AV| LS |LT|NH|TRJSI4|UR|US| W XL XS |FBH13 |FT |TF |UF |UR| W |TDe8|TM | TT | TZ |UW | XV
8 45| 5 | 11]70{76} |3.2] 16 25 26 | 35| 128 | 75{81} | 23.8| 45 |3.2|30 |40 |22 |12.8 4 26 | 6 | 38|20 |13
10 45| 5 |11 |70(75) |3.2| 16 25 26 | 35| 12.8 | 75(80) | 23.8 | 45 |32|30|40|22|128| 4 26| 6 | 38|20 |13
12 55| 6 |14 |80(82) |4 |20 32 33|42 |18 88 (90) | 32 55 |4 |40 |52|30]|18 6 38| 8 | 58|25 18
16 | 55| 6 | 14|80(82) |4 |20| 32 |33|42|18 |88(90) |32 55 |4 |40 |52 |30]18 6 |[38| 8 |58|25]18
20 66| 8 |17 96 5 25 40 42 | 54 | 19 103 36 6.6 |5 50 | 66 | 40 | 19 6 46 | 8 | 66 | 32 | 20
25 6.6 | 8 |17 99 5 |25 40 42 | 54 | 23 110 | 40 6.6 |5 |50 |66 |40]|23 6 46 | 8 | 66 | 32 | 24

Series C85

Series C96 Series CP96

Series C55

(): In the case of air cushion. { }: Inthe case of built-in magnet.

9



Series C85
Accessory Dimensions

Single Knuckle Joint

Double Knuckle Joint

n

d
- [5e) 0
B {E@ NAT =] -8 ?
K _{ of
/‘\
a| o | T _
I3 o f;“:*{__',f q,i -
=m El ]
N~
°
(mm) (mm)
Bore size| Model | b1 | b3 |[dh7| dé | d7 | h | 13 ds3 00 Bore size Model a|/bjlc|d f g i e
8 KJ4D 8| 60 5118 1127 |10 | 10 |[M4x0.7| 75 8 GKM4-8 8| 4| 8|16 | 4| 8| 6| M4x0.7
10 |KJ4D 8| 6.0 5118 11|27 |10 | 10 |[M4x0.7| 7.5 10 GKM4-8 8| 4| 8|16 | 4| 8| 6| M4x0.7
12  |KJ6D 9675 6[20|13 3012 |10 | M6x1 | 65 12 GKM6-12 12| 61224 | 6[10]| 8 M6 x 1
16 |KJ6D 9|67 6[20|13[30[|12 10| M6xXx1 | 65 16 GKM6-12 12| 61224 | 6|10]| 8 M6 x 1
20 |KJ8D |12 ] 9 8124|1636 |16 | 12 | M8x1.25 |13 20 GKM8-16 16 | 816 (32| 8|12 | 10| M8x1.25
25 |KJ10D | 14 [105 | 10 | 28 | 19 | 43 | 20 | 14 | M10x1.25 |13 25 GKM10-20 | 20 | 10 |20 | 40 | 10 | 18 | 12 | M10x 1.25
Floating Joint: Series JA
In the case of dimension without C
M N
5 \ ) f ;
] T
Al — —
,j____|__+_____<__ 4_..1_._4_._F_ S
L N
2 L ' J
oF/ L.
| —
B G
c E P B E
A
(mm)
M Maximum Max. operating
q " . Allowable tension and
Bore size Model Nominal . A B C D E F G H screw-in o d
thread dia.| Fitch depth P eIy ngnw%??lfll\?)n
8,10 JA10-4-070 4 0.7 26 9 10 12 1.5 4 4 7 5.5 0.5 0.054
12,16 JA15-6-100 6 1 345|125 | 14 16 | 2 6 5 10 7 0.5 0.123
20 JA20-8-125 8 1.25 | 44 175 — 21 4.5 7 7 13 8 0.5 1.1
25 JA30-10-125 10 125 1495|195 | — 24 | 5 8 8 17 9 0.5 25
10
Z SMC



ISO Standards

Air Cylinder: Standard/Non-rotating Type
Single Acting, Spring Return/Extended

Series C85

08, 010, 012, 016, 620, 325

R
o
0
How to Order 2
O
(%))
Single acting, 8 S
Spring extended l l Auto switch
Built-in magnet mounting
Nil None A | Rail mounting
D Built-in magnet B | Band mounting
Type Applicable auto switches are ©
Nil Standard shown on page 24. Please ')
Non-rotating rod order auto switches and Q.
K bands separately.
(Rubber bumper only) (Auto switches and bands Q
Mounting ¢ cannot be indicated here.) q"’,
S
N | Basic (integrated clevis) t‘}’)
E | Double end boss-cut style .
F Boss-cut basic style ¢ Action
Y* Head cover axial port S | Single acting, Spring return
+ Except single acting/spring T | Single acting, Spring extended
extended type.
lBore size Stroke @
Bore size (mm) Standard stroke (mm)* Max. stroke (mm) ©
8 2]
10 10, 25, 40, 50 50 &)
12 %
16 =
20 10, 25, 40, 50, 80, 100 150 (7}
125, 150 L2
25
* Other strokes available on request.
Mounting Bracket Part No. Replacement Parts/Standard Cylinders
Mounting Boreinilrfwe; s 10 12 16 20 25 Bore size (mm) Part no. Note
bracket . Every set includes: 7o)
Foot (1 pc.) C85L10A C85L16A C85L25A 2 C85-20PS 1 rod seal 8
=) Foot (2 pes. with 1 seal retaining washer
% 8 | mouniing nut 1 pc,) C85L10B C85L16B C85L25B 25 C85-25PS 1 retaining ring q,,,J
3 § Flange C85F10 C85F16 C85F25 %
= S [Trunnion C85T10 C85T16 C85T25 @
Clevis C85C10 C85C16 C85C25 . . i
Single knuckle Replacement Parts/Non-rotating Cylinders (“K”)
e KJ4D KJ6D KJ8D | KJ10D -
g‘ joint Bore size (mm) Part no. Note
(%] H .
@ | Doubleknuckle | iy GkMe-10 | GKM8 |GKIIO 20 C85K-20PS Every set includes:
g |joint -16 -20 1 rod seal
< L JA20 | JA30 1 seal retaining washer
Floating joint JA10-4-070 JA15-6-100 8195 | -10-125 25 C85K-25PS 1 retaining ring

11



Series C85

Spring extended

Rubber bumper

JIS Symbol
Standard

o

Spring return

Non-rotating

Spring return

Non-rotating

—8-A

Spring return

12

Spring extended

Spring extended

Specifications

Bore size (mm) 8 10 12 16 20 25
Piston rod dia. (mm) 4 4 6 6 8 10
Piston rod thread M4 x0.7 | M4x0.7 | M6x1 M6 x1 |M8x1.25| M10x1.25
Port size M5x0.8 | M5x0.8 | M5x0.8 | M5x0.8 G 1/8 G 1/8
Action Single acting, Single rod, Spring return/extend
Fluid Air
Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa
Min. operating | Spring return 0.18 MPa
pressfre g Spring extended| %22 MP2 0.18 MPa 0.13 MPa 023 VPa

Ambient and fluid temperature

—20 to 80°C (Built-in magnet type: —10 to 60°C)

Cushion

Rubber bumper (Standard)

Lubrication

Not required. Use turbine oil Class 1 ISO VG32, if lubricated.

Piston speed

50 to 1500 mm/s

Allowable kinetic energy | 0.02 J 0.03J 0.04J 0.09J 0.27 J 0.4J
Non-rotating accuracy +1.5° +1.5° +1° +1° +0.7° +0.7°
Stroke length tolerance . A,
Spring Retracting Force
Spring Return (N)
Spring force
2‘:: S::‘odgd 10 25 50 100 150
(mm) (mm) Retract [Extended| Retract [Extended| Retract [Extended| Retract [Extended| Retract [Extended
8 4.4 4.0 4.4 3.4 4.4 25 — — — —
10 10, 25, 50 6.3 5.7 6.3 4.9 6.3 3.5 — — — —
12 7.2 6.6 7.2 5.8 7.2 4.4 — —_ — —
16 182 | 121 | 13.2 | 10.3 | 13.2 7.5 | 13.2 7.5 | 13.2 7.5
20 11065’51'58' 216 | 186 | 216 | 16.7 | 21.6 | 11.8 | 39.2 9.8 | 39.2 9.8
25 275 | 253 | 275 | 221 | 275 | 16.7 | 471 | 13.7 | 471 | 157
Spring Extended (N)
Spring force
Zg: Sgﬁ:‘;’@rd 10 25 50 100 150
(mm) (mm) Retract |[Extended| Retract |[Extended| Retract |[Extended| Retract |Extended| Retract |Extended
8 5.3 3.9 5.3 3.1 5.3 2.7 — — — —
10 10, 25, 50 6.0 4.8 6.0 4.0 6.0 3.5 — — — —
12 6.6 5.6 6.6 4.9 6.6 4.5 — — — —
16 14.7 | 11.3 | 14.7 9.2 | 147 7.9 | 147 7.9 | 147 7.9
20 1?655% E?(())’ 39.2 | 33.0 | 39.2 | 235 | 39.2 9.8 | 39.2 9.8 | 39.2 9.8
25 471 | 404 | 471 | 304 | 471 | 13.7 | 471 | 13.7 | 471 | 157

O
g




Air Cylinder: Standard/Non-rotating Type .
Single Acting, Spring Return/Extended Series 085

Dimensions

Single acting, Spring return
CO85 Bore size|-[Stroke] S -
Without magnet, Built-in magnet

S
XC + Stroke o
»
G =
2 (=] b
I o
EE BE A 0
o
=y Q
<[ 1
I | Po—
\
u,
N2
S + Stroke F Head cover E Head cover N Head cover E Head cover N ©
Z + Stroke RR g).
ZZ + Stroke . . .
Rail mounting type (A) Band mounting type (B) (&)
or non-magnet g
3
n
C185KN, C[185KE
Non-rotating (Piston rod)
u‘u \‘
_ N “4\\
— \
e = s B B 4 <
\ L \ [+))
e &
Rod cross section g
=
Q
n
(mm)
Egg AM BE c |cD| D EE |(EW| F |G2| H |HR | K| KA KK KV [KW| N1 | N2 | NA [ND|RR|SW| U |WH
8 |12 |M12x125| 4| 4 [16.7|M5x08| 8|12 |5 |28 (10 |—| 42| M4x0.7 |19 | 6| 55/ 95|15 |[12|10| 7| 6| 16
10 | 12 [M12x125| 4| 4 [16.7|M5x0.8| 8 |12 |5 |28 |10.5|—| 42| M4x0.7 | 19| 6| 55 95(15 |12 |(10| 7| 6|16
12 |16 [M16x1.5| 6| 6 [19.7|M5x0.8/ 12 |17 |6 |38 |14 |5 | 6.2| M6x1 |24 | 8| 55/105(183|16 | 14| 10| 9 |22 tg
16 | 16 [M16x1.5| 6| 6 [19.7|M5x0.8| 12 |17 [ 6 |38 |14 |5 | 62| M6x1 |24| 8| 55/105(18.3| 16|13 | 10| 9 |22 Q
20 |20 |M22x15| 8| 8 |28 G1/8 |16 |20 |8 |44 |17 |6 | 82|M8x125|32 (11|15 (15 |24 |22 |11 | 13|12 |24 g;)
25 (22 |M22x1.5|10| 8 |335| G1/8 |16 |22 |8 |50 |20 | 8 [10.2|M10x1.25|32 |11 |15 |15 |30 [22| 11| 17|12 |28 E
Bore S XC V4 74 m
SIz€ | 11050 | 5110100 |101t0150| 1to50 | 51t0100 |[101t0150| 1to50 | 510100 |101t0150| 1to50 | 51to 100 | 101 to 150
8 |46 (52) (56(62)) — — 64 (70) {74(80)) — — 76 (82) {86(92)} — — 86 (92) {96(102)} — —
10 |46 (50) {56(60)} — — 64 (68) {74(78)} — — 76 (80) {86(90)} — — 86 (90) {96(100)} — —
12 | 50(58.5) . . 75 (78.5) - . 91 (94.5) . . 105 (108.5) N .
{60(63.5)} {85(88.5)} {101(104.5)} {115(118.5)}
16 | 56(59.5) | 71.5(75) | 87(90.5) | 82(85.5) | 97.5(101) |113(116.5) | 98 (101.5) | 113.5(117) | 129 (132.5) | 111 (114.5) | 126.5 (130) | 142 (145.5)
{66(69.5)} | {92(95.5)} |{118(121.5)}| {92(95.5)} |{118(121.5)}|{144(147.5)}|{108(111.5)} | {134(137.5)} | {160(163.5)} | {121(124.5)} |{147(150.5)} | {173(176.5)}
20 | 62{87} 112 137 95 {120} | 145 170 115 {140} | 165 190 126 {151} | 176 201
25 | 65{88.5} | 113.5 138.5 [104 {127.5}| 1525 1775 |126 {149.5}| 174.5 199.5 |137 {160.5}| 185.5 210.5

(): Inthe case of auto switch style. { }: In the case of non-rotating rod.

13



Series C85

Dimensions

Single acting, Spring return
Rod foot, Head foot: C85L10g, C85L168, C85L253

w__ LT
i _H
2
| ’ 4 x oAB 5| ¢
‘ ‘ \:f =
g :
XS | AV ﬁ
LS + Stroke
XL + Stroke |LAO Head cover E Head cover N
Rod flange, Head flange: C85F10, C85F16, C85F25
B (_€}_\ f_LD_\
B i
e SR <o A = A
E@;‘q F R 5 O+ i% ik
L N | N |
W |FT FT ||, FBH13 FBH13
WL + Stroke UR UR
Head cover E Head cover N
Rod trunnion, Head trunnion: C85T10, C85T16, C85T25
| |
i i
|
=Y == s O \9)
[LTT |LTT . |TDe8 'l |TDe8
XZ + Stroke { uw uw
. Head cover E Head cover N
Clevis: C85C10, C85C16, C85C25
‘ XC + Stroke
a AE
o
L]
- 2N
N
|
I\
AU
LG
Head cover N
(mm)
Rod foot, Head foot Rod flange, Head flange
Bore LS XL WL
Siz€ |AB|AO|AV LT |NH|TR JS14{UR|US| W XS |FBH13| FT [TF|UF|UR| W
1 to 50 | 510 100 | 101 to 150 1 to 50 | 510 100 | 101 to 150 1 to 50 | 510100 | 1010 150
8 |45|5 |11 Beam | — — [32[16] 25 |26|35(12.8| gaen | — — |238] 4.5 |3.2(30]40|22[12.8| %3 a] — —
10 |45|5 |11 S | — — |32|16] 25 |26|35/128| &Gn | — — |238] 4.5 [3.2|30]40|22|12.8| 22508 | — —
12 |55|6|14) @&8 | — — |4 |20] 32 [33]4218 | been| — — |32 |55 |4 [40]52|30|18 | fetesn | — —
16 (55| 6 | 14| sais7ay |(ioonzoan|aaiason 4 [20] 32 [33]42[18 |iiop{ioasy|izeisn s|isatiarsy| 32 | 5:5 |4 |40[52|30(18 | Geas) |itaitorn|satiarsy
20 |6.6|8(17(96{121}| 146 | 171 |5 |25 40 |42|54|19 [103{128}| 153 | 178 |36 | 6.6 |5 |50|66|40|19 |91{116}| 141 | 166
25 |6.6|8[17(96{1225)| 147.5 | 172.5 |5 |25| 40 |42|54|23 |110{1335)| 158.5 | 183.5 |40 | 6.6 [5 |50|66|40|23 [98{1215) 146.5 | 171.5
Rod trunnion, Head trunnion Clevis
By Xz XC
SIz€ |TD e8|TM|TT|TZ |UW|XV AB| AE [AO| AU |CD H9|LG|LT NH| TR
1 to 50 | 510100 | 101 to 150 1 to 50 | 510 100 | 101 to 150
8 | 4 |26]6(38[20[13] 24n | — — 45| 81|15[131| 4 |20|25|24|125] i | — —
10 | 4 |26]638|20/13] 3289 | — — |45| 81|15[131] 4 |20]25|24[125| 56D | — —
12 | 6 |38]8(58|25(18] fadean | — — |55[121]|2 [185] 6 |25]32|27|15 | Bafeen| — —
16 | 6 [38)8 |58(2518| o{605) |(iracsessulraatrars)| 5:5|121|2 [185] 6 |25[32)27|15 | gol60s) |(iracsen sl raatrars)
20 | 6 |46 8(66/32(20|90{115)| 140 | 165 [6.6(16.1|4 [241| 8 [32|4 [30[20 [95{120} 145 | 170
25 | 6 |46|8|66|32|24|97{1205)| 145.5 | 170.5 |6.6(16.1|4 |241| 8 [32|4 [30[20 [104{1275} 152.5 | 177.5
(' ): In the case of auto switch style. { }: In the case of non-rotating rod.
14
ZS\VC



Air Cylinder: Standard/Non-rotating Type .
Single Acting, Spring Return/Extended Series 085

Dimensions

Single acting, Spring return
CO85%[Bore size|-[Stroke|S -
Without magnet, Built-in magnet

D
WH 0
»
sw KW 2
[0
KK BE (75}
\ 2 1
(=) |
=
—4 -1 - =10 i S ——
- /I
(8]
Q
K KV,
AM | |_ F N1
H S + Stroke Head cover Y Head cover F Head cover Y Head cover F 8
Z + Stroke Rail mounting type (A) Band mounting type (B) ?5
or non-magnet P
2
a
n
C[85KF, C[185KY
Non-rotating (Piston rod)
| \
sow M\
\
< I . N | L
& = ©
\ L \ ()
| \ QO
Rod cross section %
=
[0
n
(mm)
E,f;fg AM BE © D EE F |G2| H | HR | K| KA KK KV [KW | N1 | N2 | NA | ND | SW | WH
8 12 | M12x125 | 4 |167|M5x0.8| 12 | 5 |28 |10 |—| 42| M4x07 |19 | 6| 55| 95|15 12| 7| 16
10 | 12 | M12x125 | 4 | 167 |M5x08| 12 | 5 | 28 [105|—| 42| M4x07 |19 | 6 | 55| 95|15 12 | 7| 16
12 | 16 | M16x1.5 6 [19.7 | M5x08| 17 | 6 | 38 |14 |5 | 6.2 M6 x 1 24 | 8| 55|105(18.3| 16 | 10 | 22 ll?)
16 | 16 | M16x1.5 6 |19.7 | M5x0.8| 17 | 6 | 38 |14 |5 | 6.2 M6 x 1 24 | 8| 55|105 (183 | 16 | 10 | 22 Q
20 |20 | M22x1.5 8 | 28 G1/8 |20 | 8 | 44 |17 |6 | 82| M8x125 | 32 |11 |15 |15 |24 |22 | 13 | 24 8
25 | 22 | M22x15 | 10 [335| G1/8 |22 | 8 [ 50 |20 |8 |10.2| MIOx1.25 | 32 | 11 |15 |15 |30 | 22 | 17 | 28 'E
n
Bore S Z
S 110 50 51 to 100 101 to 150 1 to 50 51 to 100 101 to 150
8 46 (52) {56(62)} — — 74 (80) {84(90)} — —
10 46 (50) {56(60)} — — 74 (78) {84(88)} — —
12 50 (53.5) {60(63.5)} — — 88 (91.5) {98(101.5)} — —
16 50 (53.5) {60(63.5)} 65.5 (69) {86(89.5)} 81 (84.5) {112(115.5)} 88 (91.5) {98(101.5)} 103.5 (107) {124(127.5)} 119 (122.5) {150(153.5)}
20 62 {87} 112 137 106 {131} 156 181
25 65 {88.5} 113.5 138.5 115 {138.5} 163.5 188.5

(' ): In the case of auto switch type. { }: In the case of non-rotating.

15



Series C85

Dimensions

Single acting, Spring return
Rod foot: C85L10A, C85L16A, C85L25A

B 1 1
— | |
DAl NG « « _ _
- = =]
2 x oAB r I I
Rl Z Z
! e | !
T -] x i x
A0, AV . ™®” |
XS us
Head cover F
Rod flange: C85F10, C85F16, C85F25
|
— ]
" __@_ N
| 1 1
- — -l 1
[T
Ha-H -G < He-HE Y s 5
4
|| o ; J
w FT || FB || FB
UR UR
Head cover Y Head cover F
Rod trunnion: C85T10, C85T16, C85T25
\ \
|:!] ( |:D )
| 1 1 l
_ | i - i
SR> <} BN - F M
= | I |
— |
| S 0
m B:|
\
TT TDe8
XV uw uw
Head cover Y Head cover F
(mm)
Bore Rod foot Rod flange Rod trunnion
size | AB |AO|AV | LT |[NH| TRJS14 ([UR|US| W | XS | FBH13 | FT |TF|UF|UR| W | TDe8 |TM|TT | TZ |UW| XV
8 45| 5 | 11|32 |16 25 26|35 (128|238 | 45 32|30 |40 22128 4 26| 6 [ 382013
10 45| 5 |11 |32 |16 25 26 [ 35|12.8 (238 | 45 3.2 (30|40 221238 4 26| 6 [ 382013
12 55| 6 |14 |4 |20 32 33|42 |18 |32 55 4 |40 |52 (30|18 6 38| 8 [58|25]| 18
16 55| 6 |14|4 |20 32 33|42 (18 |32 55 4 |40 |52 30|18 6 38| 8 58|25/ 18
20 66| 8 |17|5 |25 40 42 |54 (19 |36 6.6 5 | 5066|4019 6 46| 8 |66 | 32|20
25 66| 8 |17|5 |25 40 42 | 54 | 23 | 40 6.6 5 |50 664023 6 46 | 8 |66 |32 | 24

16

O
2



Air Cylinder: Standard/Non-rotating Type .
Single Acting, Spring Return/Extended Series 085

Dimensions

Single acting, Spring extended
C85YBore size]—|Stroke| T -0
Without magnet, Built-in magnet

XC + 2 x Stroke

Series C85

WH + Stroke G
© (2]
= I
EE EE
[a] —_ BE O
% f H i I I%
; a]
I o %3t 2
K O . : R—
" kv, u
KV v
AM N1 N2
H + Stroke S + Stroke LF Head cover E Head cover N Head cover E Head cover N
Z + 2 x Stroke RR 8
ZZ + 2 x Stroke Rail mounting type (A) Band mounting type (B) Q
or non-magnet o
0
QL
o
(7]
CLI85KN/E
Non-rotating (Piston rod)
| \
— i ‘ ] v
<i i A ©
X T 2N I N\ P
- i \ 0
g .
Rod cross section _/ 8
=
[
(7]
(mm)
‘2?2“(‘3 AM| BE Cc |cD| D EE |EW| F [G|H |HR|K|KA KK |KV|KW| N1 | N2 | NA [ND|RR|SW| U |WH
8 12 (M12x1.25| 4| 4 |16.7|M5x08| 8 |12 |7 |28 |10 |—| 42| M4x0.7 | 19 6115 95|15 12 | 10 7 6|16
10 | 12 [M12x1.25| 4 | 4 (16.7(M5x0.8| 8 |12 |7 |28 [105|— | 42| M4x0.7 | 19 6 [11.5| 95|15 12 | 10 7 6|16 7o)
12 |16 |M16x15| 6| 6 [19.7|M5x0.8| 12 | 17 | 8 | 38 |14 5] 62| Méx1 24| 8|125(105(18.3| 16 | 14 | 10 91|22 8
16 | 16 |M16x1.5| 6| 6 [19.7(M5x0.8| 12 | 17 | 8 | 38 |14 5| 62| M6x1 24| 8|125|10.5(18.3| 16 | 13 | 10| 9 | 22 »
20 |20 | M22x15| 8| 8 |28 G1/8 |16 |20 | 8 | 44 (17 6| 82| M8x125|32 |11 |15 |15 |24 |22 |11 |13 |12 |24 g
25 |22 |M22x15| 10| 8 |335| G1/8 |16 |22 | 8 | 50 |20 8 [10.2 M10x1.25| 32 | 11 |15 |15 |30 22 (11 (17 |12 | 28 8‘;
Bore S XC z 2z
S1Zz€ 1to 50 51to 100 | 101t0 150 | 1 to 50 5110 100 |101to 150| 1 to 50 51to 100 | 101 to 150 | 1 to 50 51to 100 | 101 to 150
8 |64.5(70.5) — — 82.5 (88.5) — — 94.5 (100.5) — — 104.5 (110.5) — —
10 |64.5 (68.5) — — 82.5 (86.5) — — 94.5 (98.5) = = 104.5 (108.5) — =
12 | 70(73.5) — — 95 (98.5) — — 111 (114.5) — — 125 (128.5) — —
16 | 75(78.5) |101 (104.5)[127 (130.5)|101 (104.5)|127 (130.5)[153 (156.5)|117 (120.5)|143 (146.5){169 (172.5)|130 (133.5)|156 (159.5)|182 (185.5)
20 87 112 137 120 145 170 140 165 190 151 176 201
25 88.5 113.5 138.5 127.5 152.5 177.5 149.5 174.5 199.5 160.5 185.5 210.5

(' ): In the case of auto switch style.

17



Series C85

Dimensions

Single acting, Spring extended
C[I85N, CI85E
Rod foot, Head foot: C85L10g, C85L168, C85L258

A

)

W + Stroke LT
e 4—[H_ i 4
(= s X gAB g
=t —i 2
XS + Stroke | Av| |-
\ LS + Stroke
XL + (2 x Stroke) AO

C85N, CI85E
Rod flange, Head flange: C85F10, C85F16, C85F25

Head cover E

Head cover N

(-o- (-o-
A X L [
iz =t {} =B {} =
N~ ¥~
FT || FTll FBH13 FBH13
W + Stroke WL + (2 x Stroke) UR UR
Head cover E Head cover N
CO85N, C[I85E
Rod trunnion, Head trunnion: C85T10, C85T16, C85T25
|
:‘[ﬂ [l [l
i
I O \O)
i
‘ il il
TD e8 TD e8
XV + Stroke XZ + (2 x Stroke) uw uw
Head cover E Head cover N
CO85N XC + (2 x Stroke)
. AE
Clevis: C85C10, C85C16, C85C25 ™
L]
=
LG Head cover N
(mm)
Rod foot, Head foot Rod flange, Head flange
Bore
B |5 XL WL
Size |AB|AO(AV S LT [NH| TRJS14 [UR|US| W XS [FBH13 | FT [TF|UF|UR| W
1to 50 | 5110100 | 101 to 150 1to 50 | 5110100 | 101 to 150 110 50 | 511t0 100|101 to 150
8 [45]|5|11|865(925)| — —_ 32|16| 25 |26|35(12.8(915(97.5)] — —_ 23.8| 4.5 |3.2|30(40(22|12.8(83.7(89.7)| — —_
10 [4.5|5|11(865(905) — — |32[16| 25 |26(35/12.8(91.5(%55) — — |23.8| 4.5 |3.2]30|40(22(12.8(83.7 (87.7)) — —
12 |55|6 (14|98 (101.5) — — |4 |20 32 |33|42|18 |[106(109.5) — — |32 | 55 (4 |40|52|30|18 |96(99.5) — —
16 |5.5| 6 |14[103(106.5)[129 (132.5)|155 (1585) 4 |20 32 [33|42|18 |[111(114.5)|137 (1405)/163 (166.5)| 32 | 5.5 |4 |40|52[30(18 |101 (104.5)[127 (130.5)|153 (156.5)
20 (6.6(8 (17| 121 146 171 5 |25| 40 |42|54(19 128 153 178 36 | 6.6 |5 |50/66({40|19 116 141 166
25 (6.6|8|17| 1225 | 1475 | 1725 |5 |25| 40 |42|54|23 133.5 | 158.5 | 183.5 (40 | 6.6 |5 [50|66|40|23 121.5 | 146.5 | 171.5
Rod trunnion, Head trunnion Clevis
Bl Xz XC
SIZ€ | TD e8 | TM|TT | TZ [UW|XV AB| AE |AO| AU |[CDH9|LG|LT [NH| TR
1to 50 | 51to 100|101 to 150 1to 50 | 51to 100|101 to 150
8 4 |26|6 |38(20(13|835(89.5) — — 45| 81(15(|131| 4 |20|25|24({125(825(88.5)] — —
10 4 |26|6|38|20(13(83.5(87.5)| — — 45] 81|15(131| 4 |20|25(24|125(825(86.5) — —
12 6 [38|8(58(25(18|96(99.5) — — |55(121|2 [185| 6 |25|32|27[15 |95(98.5) — —
16 | 6 |38]8 |58|25(18(101(104.5)127 (1305|153 (156.5)| 5.5 12.1|2 [18.5| 6 |25|3.2(27|15 [101(104.5)/127 (130.5) 153 (156.5)
20 6 [46| 8 |66(32|20| 115 140 165 6.6(16.1|4 [241| 8 |32(4 (30|20 120 145 170
25 6 [46|8 |66(32(24| 120.5 | 145.5 | 1705 |6.6|16.1|4 |241| 8 [32|4 |30|20 127.5 | 1525 | 177.5
(' ): In the case of auto switch style.
18
2 S\NC



Air Cylinder: Standard/Non-rotating Type
Single Acting, Spring Return/Extended

Series C85

Dimensions

Single acting, Spring extended
CI85F [Bore size|—[Stroke | T -1
Without magnet, Built-in magnet

S
&}
WH + Stroke G »
]
KW =
sw BE EE %
f PN 0
1
sl 1B . ( \ - | -
p ‘
e e e o< < =
K % H ~ \ ) \/\/4
I
KV
AM F N1 N2 HR NA
H + Stroke S + Stroke Rail mounting type (A) Band mounting type (B) 8
or non-magnet Q.
Z + (2 x Stroke) Q
»
2
o
(7))
C85KF, CD85KF
Non-rotating (Piston rod)
| \
o i ‘ —4\-
= i R | | N7 | -
> I N\ ©
— | \ [+
_ 1 — O
Rod cross section / o
]
T
o
(7))
(mm)
E?Z’g AM BE c| D EE F|G|H|HR |K|KA KK KV |[KW| N1 | N2 | NA |SW|WH
8 12 | M12x125 | 4|167|M5x08 |12 |7 |28 |10 |—| 42| M4x07 |19| 6|115| 95|15 7|16
10 |12 | M12x125| 4 [167|M5x08 |12 |7 |28 |105|—| 42| M4x07 |[19| 6|115| 95|15 7|16
12 |16 | Mi16x15 | 6197 |M5x08 |17 |8 |38 |14 |5| 62| M6x1 24| 8|125|105|18.3| 10 | 22 R
16 |16 | M16x15 | 6197 |M5x08 |17 |8 |38 |14 |5| 62| Mex1 24| 8|125|105|183 |10 | 22 QO
20 |[20| M22x15 | 828 G1/8 |[20|8 |44 |17 |6 | 82| M8x125 [32 |11 |15 |15 |24 |13 |24 @
25 20| M22x15 |10[335| G1/8 |22|8|50(20 |8 |102|MI0Ox125|32 |11 |15 [15 |30 |17 |28 E
(7))
Bore S Z
S1Z€ 1t0 50 51 to 100 101 to 150 1t0 50 51 to 100 101 to 150
8 64.5 (70.5) — — 92.5 (98.5) — —
10 64.5 (68.5) = — 92.5 (96.5) — —
12 70 (73.5) — — 108 (111.5) — —
16 69 (72.5) 95(98.5) | 121 (124.5) | 107 (110.5) | 133 (136.5) | 159 (162.5)
20 87 112 137 131 156 181
25 88.5 113.5 138.5 138.5 163.5 188.5

(' ): In the case of auto switch style.

19




Series C85

Dimensions

Single acting, Spring extended
Rod foot: C85L10A, C85L16A, C85L25A

W + Stroke LT
| . -
— I -
e T e R & o
- jun]
2xgoAB T %
e a
—ge
AO AV
XS + Stroke | uUs
Rod flange: C85F10, C85F16, C85F25
1 1
_ i H i
L\ L
56— — D T 5
__/
|| AN et
\
W + Stroke UR
Rod trunnion: C85T10, C85T16, C85T25
\
m
| 1
_ | ‘i‘u 4
T e — <t ——— < L
— I I |
— |
| .
| '
. |
\
T TD e8
XV + Stroke uw
(mm)
Bore Rod foot Rod flange Rod trunnion
Sizé | AB |AO|AV | LT |[NH| TRJS14 |[UR|US| W | XS | FBH13 | FT |TF |[UF |[UR| W | TDe8 |TM|TT | TZ |[UW| XV
8 45| 5 |11 |32 |16 25 26 35| 2.8|238| 45 32|30 |40 221238 4 26| 6 [ 38|20 13
10 45| 5 | 11|32 |16 25 26 |35 |12.8|238| 45 3.2 (30|40 |22 128 4 26 | 6 [ 38|20 |13
12 55| 6 |14]|4 |20 32 33|42 |18 |32 55 4 |40 |52|30] 18 6 38| 8 |58|25]|18
16 55| 6 |14 |4 |20 32 33 (42|18 |32 55 4 |40 |52 30|18 6 38| 8 58|25/ 18
20 66| 8 |17|5 |25 40 42 |54 (19 |36 6.6 5 | 5066|4019 6 46| 8 |66 | 32|20
25 66| 8 |17|5 |25 40 42 | 54 | 23 | 40 6.6 5 |50 |66 |40]|23 6 46 | 8 | 66|32 | 24
20

O




ISO Standards

Air Cylinder: Direct Mount Type
Double Acting, Single Rod

Series C85R

08, 010, 012, 016, 620, 325

R
o
0
How to Order 2
Q
(%))
w il C(D|85R|A|F][16]-[40]-B
Single rod
Built-in magnet lAuto switch
Nil None mounting
D Built-in magnet A | Rail mounting
B | Band mounting
Type Applicable auto switches are ©
A | Bottom side mounting shown on page 24. Please (o))
B* | Front side mounting order auto switches and Q.
; bands separately.
* Only 620, 025 (Auto switches and bands (3’
cannot be indicated here.) Q
Mounting e S
F | Boss-cut basic style n
Y |Head cover axial port
lBore size Stroke e
Bore size (mm) Standard stroke (mm)* Max. stroke (mm)**
B 10, 25, 40, 50, 80, 100 200
10 ©
12 10, 25, 40, 50, 80, 100 400 1)
16 125, 160 O
20 10, 25, 40, 50, 80, 100 0
25 125, 160 1000 2
# Other strokes on request. d"';
=% For exceeding the standard stroke range, it will be available as a special order (-X2018).
Mounting Bracket Part No. Replacement Parts
Mounting bracket Bore size (mm) Bore size (mm) Part no. Note
8 [ 10 12 [ 16 20 25 20 C85-20PS Every set includes: ©
Single knuckle joint KJ4D KJ6D KJ8D | KJ10D 1 rod seal L
Double knuckle joint GKM4-8 GKM6-10 | GKM8-16 [GKM10-20 1 seal retaining washer o
JA20 JA30 25 C85-25PS 1 retaining ring (7]
Floating joint JA10-4-070 JA15-6-100 | 7oc | 40-125 g
Q
»n

21



Series C85R

Square rod cover makes direct
mounting possible

Space-saving

Mounting accuracy and rigidity made
possible by means of faucet joint and direct
mounting.

2 mounting types
Front side mounting and bottom side mounting
available to suit your applications.

Bottom side mounting

Front side mounting

Bottom side mounting Front side mounting

JIS Symbol
Double Acting, Single Rod

22

Specifications

Bore size (mm) 8 10 12 16 20 25
Piston rod dia. (mm) 4 4 6 6 8 10
Piston rod thread M4 x0.7 | M4x0.7 | M6x1 M6x1 |M8x1.25| M10x1.25
Port size M5x0.8 | M5x0.8 | M5x0.8 | M5x0.8 G 1/8 G 1/8
Action Double acting, Single rod
Fluid Air
Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa
Min. operating pressure | 0.1 MPa 0.08 MPa [ 0.05 MPa

Ambient and fluid

—20 to 80°C (Built-in magnet type: =10 to 60°C)

temperature
Cushion Rubber bumper (Standard)
Lubrication Not required. Use turbine oil Class 1 1ISO VG32, if lubricated.

Piston speed

50 to 1500 mm/s

Allowable kinetic energy | 0.02 J 0.03J 0.04 J 0.09J [ 0.27 J [ 0.4J
Stroke length tolerance . e
Weight
-
9
Bore size (mm) 8 10 12 16 20 25
. . Bottom side mounting 43 46 84 95 167 253
Basic weight - -
Front side mounting — — — — 163 230
Additional weight per 10 mm of stroke 2 2.2 4.1 5.1 7.8 12.2

O
2




Air Cylinder: Direct Mount Type .
Double Acting, Single Rod Series 085R

Dimensions

Double acting, Single rod
Bottom side mounting/C185RA%[8 to 16| [Stroke|-B
Without magnet, Built-in magnet (Band mounting type)

()
o)
XB | (&
»
WH G1 (]
SW —— EE =
\
N ¥ 4 3
el A |
S — 2 G
K/ = :
AM N1 \ NA
O
L H s S + Stroke Head cover Y Head cover F
ZZ + Stroke
mm) 8
Boresize|AM| B [C|D| EE |Gi1|Ge|H |K| KK |L LD LH|LX| N1 | N2 | NA | S |[SW|WH|XB |ZZ Q.
8 12|16 | 4 |17 |M5x0.8|19| 5 |16 | — | M4 x 0.7 | 23 | 83,5, 06.5 depth of counterbore 4 | 8 | 14 |23.5| 9.5|15 58| 7| 4 |12 |74 Q
10 |12|16| 4 [17 |M5x0.8|19| 5 | 16 | — | M4 x 0.7 | 23 | 035, 06.5 depth of counterbore 4 | 8 | 14 [23.5| 95(15 |58 | 7| 4 [12 |74 2
12 |16|20 |6 |20 |M5%x0.8|25| 6 |21| 5| M6x1 |26 | 045 08 depth of counterbore 5 | 10 | 16 [29.5|10.5[18.3| 67 | 10| 5 | 16 | 88 5
16 16 (20| 6 |20 |M5x0.8 (25| 6 |21 | 5 | M6x1 |26 | 045, 08depth of counterbore5 | 10 | 16 [29.5(10.5[18.3| 67 |10 | 5 | 16 | 88 2]
Bottom side mounting/C(185RA§[20/25]| - [Stroke|-B
Without magnet, Built-in magnet (Band mounting type)
XB
2xoLD SW WH G EE EE G2 %
O / \
: : : : KK\TT_‘.;:I ] g
%@ o 2 Al l" ”| o) o
N s | J“ m Y P
hN=alk S N 8
15 15 K 3 L —l =
Q
()
LX AM [3]| N1 N2 NA NA
L H S + Stroke
ZZ + Stroke Head cover Y Head cover F
(mm)
Boresize|AM| B |C| D | EE |G1|G2| H [ K KK L LD LH|LX|N1|N2|NA| NDh8 | S [SW|WH|XB| zz
20 [20(30.3| 8|28 |G1/8|22| 8 |30 6 |M8x1.25 |33.5 055,095 depth of counterbore 65| 15 | 21 | 29 | 15 | 24 |20 a5 | 76 | 13| 10 | 22 | 106
25 [22(36.6/10(33.5(G1/8|22| 8 [36| 8 | M10x1.25 |39 [066, 011 depth of counterbore 75| 18 | 25 | 29 [ 15 | 30 [26 Qpss | 79 | 17 | 14 [ 26 | 115
1
- - m
Front side mounting/C(185RB[20/25]| - [Stroke|-B o
Without magnet, Built-in magnet (Band mounting type) 3
S
[
()
4 x oFF sw WH_ G1 EE EE G
- K\ ol L \J]
@ =uH | [EE i 3E
! 9 D i
\&)) g I I N7 i
O — A N i
K i i
FX AM |3 N1 N2 NA NA
F H trok
S + Stroke Head cover Y Head cover F
ZZ + Stroke
(mm)
Boresize|AM|C | D | EE | F FF FX|G1|G2| H | K KK N1|N2|NA| NDh8 | S [SW|WH| zz
20 [20| 8|28 |G1/8(30.4|M5x0.8depth9|22|22| 8 [30|6 | M8x1.25 |29 |15 (24|20 s | 76|13 | 10| 106
25 [2210(33.5|G 1/8(36.4|M6x 1 depth 11|26 |22 | 8 |36 | 8 | M10x1.25 [ 29 | 15 [ 30 |26 S4as | 79 | 17 | 14| 115

23



Series C85
Auto Switch

Please order auto switches and mounting brackets separately.

Applicable Auto Switches/Refer to Best Pneumatics No. 2 for further information on auto switches.

. o Load voltage Auto switch model Lead wire length (m) ) )
Type| Special function Electrical|indicatof ~ Wiring e Rail mounting asl ol alls Pre-wired| Applicable
entr light | (Output it = 0N\ connector load
Y (Output) bC AC mounting |perpendicular|  In-line | (Nil) [(M)| (L) | (2) | (N)
3-wire MON — — ® | @/ ® O —| O
(NPN) = F7 ® | —|®O|—| O
- 5V,12V F7NV 9 IC
Grommet 3-wire M9P — — ® | /e O —| O
— (PNP) — |Ffev| Frp (@ [—]@|0[—] ©
5 M9B — — ® e O —| O
-‘; 2-wire 12V — F7BV J79 ® —|® O|—| O —
»
Connector H7C J79C — o — 0 0 e —
(]
- Yes 24V —_
s 3-wire MONW | — — |e|e|l@|O|—| O RF?L"‘(‘:V’
z (NPN) sV 12y — |FINWv| F7ow | @ |—|@®|O|—| O | .
@ Diacnosis indicat 3-wire ’ MoPW | — — |[e|elelo[—] O
iagnosis indication (PNP) — — — —
(2-colon Grommet F7PW | @ ®|O O
M9BW — — ® e O —| O
2-wire 12V — F7BWV| J79W (@ |— (@ | O|—| O —
Water resistant (2-color) *HH7BA |[*“*FTBAV| ***FTBA| — | — | @ | O |—| O
Diagnosis output (2-color) 4-wire (NPN) 5V,12V H7NF — F79F | @ |—| @ | O|— O IC
3-wire o o A76H
(Equiv.to NPN) | 5V — 96 — 6 ® | — @ ——| — IC —
Yes — 200 V — A72 A72H (@ |— | @ |—|— | —
Grommet
S 100V — A73 | A73H (@ |—| @@ | —| — | —
H — 793 — — |®e|—|®|—|—| — Rela
3 None| o-wire 12V [100Vorless| **A90 | A80 | ABOH | @ [—|@|—|—[ — |ic| 5
& Yes 24V — C73C | A73C — e —|eoj0oj0 — | —
Connector
None 24Vorless| C80C | A8OC — o — o000 — IC
Diagnosis indication Grommet| Yes _ _ _ wazoWl  — P [ ) D D _
(2-color)

=xx \Water resistant type auto switch can be mounted to the models with the above mentioned part numbers, but this does not guarantee the water
resistance of the cylinder. For other applicable auto switches, please contact SMC.

+ Lead wire length symbols: 0.5 m «------+ Nil (Example) MONW « Solid state switches marked with a “O” are produced upon receipt of order.

-+ M (Example) MONWM

-+ L (Example) MONWL

.- Z (Example) MONWZ

N (Example) H7CN

= Since there are other applicable auto switches than listed, refer to the next page.

+ For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.

x Band mounting type is not available for D-A901V, M9JV, MOOOWV, and D-M9UJA(V) types.

= D-A90)/MOLI/MOIW/A7/A80L1/F70100/J700 auto switches are shipped together (but not assembled). (However, when D-A9C/MILI/MOCIW types are
selected, only auto switch mounting brackets are assembled at the time of shipment.)

= When D-A90J(V)/M9I(V)/MOOIW(V)/MILIA(V) types are mounted on a 98 to 25 rail, order auto switch mounting brackets separately. Refer to the next
page for details.

=+ D-A79W type cannot be mounted on bore sizes 28, 810, and @12 cylinder.

=+ D-A9O type cannot be mounted on bore sizes 88, 810, and @12 cylinder.

24

O
2



Auto switch Series C85

Auto Switch Mounting Bracket/Part No.

= Normally closed (NC = b contact) solid state switch (D-F9G, F9H type) are also available. For details, refer to Best Pneumatics No. 2.
* For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.

How to mount the ; Bore size (mm)
ajogign | 110 SWitch model 08 010 012 016 020 025
Note 1), Note 2) Note 1), Note 2) i Note 1), Note 2) Note 1), Note 2) Note 1), Note 2) Note 1), Note 2)
(DBJ2-008 2BJ3-1 | (DBJ2-010 @BJ3-1 | (DBJ2-012 @BJ3-1 | (DBJ2-016 @BJ3-1 | (DBM2-020 @BJ3-1 | (DBM2-025 2)BJ3-1
e <?)
d - ; o]
D-A9LINote 5) [Switch holder (Resin) %: V SW.ItCh spacer (Stainless steel)| O
D-M9LC] c Auto switch 0
Band D-M9OIW [Switch bracket (Stainless steel) }\@% \\b Set screw (unused) .g
an - -
mounting [AUtO switch mounting screw]  (1)g2.0090 and BM2-0000 are a set of a and b %
o shown above.
Auto switch mounting band | (2)BJ3-1is a set of ¢, d and e shown in the drawing.
D-C701/C80
D-C73C/C80C
D-H7C/H7OW BJ2-008 BJ2-010 BJ2-012 BJ2-016 BM2-020 BM2-025
D-H7BA/H7NF
D-A9[INote 5) Note 3), Note 4) Note 3), Note 4) Note 3), Note 4) Note 3), Note 4) Note 3) Note 3)
D-A9]VNote 5) BQ2-012,BQ2-012S | BQ2-012,BQ2-012S | BQ2-012,BQ2-012S | BQ2-012, BQ2-012S BQ2-012 BQ2-012
D-M9[Note 6) % 8
Rail D-M9[]VNote 6) 7
mounting | D-IM9L]WNote 6) 282:811228 ] / &
D-M9[1WVNote 6) P
D-M9[]ANote 4) 9
D-M9[]AVNote 4) a
Note 1) Two kinds of auto switch mounting brackets are used as a set. @
Note 2) When a cylinder is shipped, only auto switch mounting brackets are assembled.
Note 3) When mounting a small auto switch on a rail mounting type of bore size @8 to 825 cylinders, auto switch mounting brackets are required as shown
in the above chart. Order them separately from the cylinders.
Ordering example: CD85KN10-40-A---1 pc. D-M9BWV---2 pcs. BQ2-012---2 pcs.
Note 4) When using D-M9UJA(V), order BQ2-012S which is produced with stainless steel mounting screw.
Note 5) When mounting a band and/or a rail on bore sizes 28, 10 and @12 cylinder, D-A9CJ(V) type cannot be mounted.
Note 6) When mounting a rail on bore sizes 820 and @25 cylinder, D-M9J(V), MOOOW(V) and M9UA(V) types cannot be mounted.
S
&)
How to Order Auto Switch _3
o
The order procedure for the solid state auto switches, auto switch mounting brackets and order quantity, if the solid state auto switch D-M9B is %
mounted on the C85N8 series with band.
Type. Order No. Order Qty. SW|tch spacer (Stainless steel) ]
Auto switch D-M9B 2 [ Switch holder (Resin) /
BJ2-008 5 c Auto switch
Auto switch | (Part number for a and b sef) [ Switch bracket (Stainless steel) }\@ A Set screw (unused)
mounting bracket BJ3-1 5 [Auto switch ti |
(Part number for c, d, and e set) uto switch mounting screw
+ Please order cylinders separately. a
Auto switch mounting band] tg
o
(7]
Q2
o
R 8;
I Besides the models listed “How to Order”, the following auto switches are applicable. :
: For detailed auto switch specifications, refer to Best Pneumatics No. 2. I
1 Type Auto switch model Electrical entry Features Mounting | Applicable bore size 1
D-A93V, A96V ) — .
1 Grommet (Perpendicular) - — - Rail 216, 820, 625 1
1 . D-A90V Without indicator light 1
I Reed switch D-C73. C76 1
- Grommet (In-line) - — - Band 08 to 825
1 D-C80 Without indicator light 1
1 D-M9NV, M9PV, M9BV — 1
: D-MONWYV, MOPWV, M9BWV Grommet (Perpendicular) | Diagnosis indication (2-color) Rail 08to @16 :
I Solid state switch D-M9NAV, M9PAV, M9BAV Water resistant (2-color) 1
D-H7A1, H7A2, H7B ) —
1 Grommet (In-line) - — Band 28 to 825 1
1 D-H7NW, H7PW, H7BW Diagnosis indication (2-color) 1
1 1
1 1
4

L o o o o o e e e e e e e e R e e e e e e R R R R R R R R R e e e e e

SvC 25

O



Series C85
Auto Switch Mounting 1

Minimum Stroke for Auto Switch Mounting

28, 010, 212, 16 n: No. of auto switch (mm) 220, 025 n: No. of auto switch (mm)
Number of auto switch mounted Number of auto switch mounted
Auto switch 2 switches Other qty. Auto switch 2 switches Other qty.
model 1 switch Different| Same @810 016 model 1 switch Different| Same 220, 625
side | side | Different side Same side side | side | Different side Same side
D-M9oC] Note 1)| Note 1) (n-2) _ D-MoC] Note 1)| Note 1) _
D-MOCIW 10 | 15 | 45 |15+ 4(?1 e j”sj) D-MOOW | 10 | 15 | 45 4(5,1+_354(n6,_§)
D-A9[Note 2) (n=2,4,6-) e D-A9C] =
-2)
o| D-C70 15+ 40 L 50+20(n-2) o| D-C70] (N-2)| 50 +45(n-2)
Sli=ets 10 | 15 | 50 2 (=24 6. £l picso 10| 15 | 50 |15+45 5 | S 75" )
5 (n=2,4,6-) S T
3 3 (n=2,4,6-)
€| D-H7O (n-2) £| D-H7O
T | D-H7OW 10 15+ 45 =L | 60 +22.5 (n-2) T | D-H7OW 60 + 45 (n - 2)
&|D-H7BA 15 | 60 (=246 | (=246 S| D-H7BA 10 115 | 60 (n=2,4,6-)
D-H7NF e D-H7NF
D-H7C (n-2) D-H7C -2 65,50 (n-2
D-C73C 10|15 | es |27 72 58]+=227 "Z(”sjﬁ) D-C73C 10|15 | 65 |90 T2 =2 4(n6,,.))
D-C80C (n=2,4,6-) " D-C80C (n=2,4,6-) o
D-M9CIV D-F70V i . 10+10 (n -2)
D-F700V 5| —| 5 — 10(; :13 (2:)2) D-J79C ° ° (n=4,6-)
D-J79C ' D-F70 5 | — 5 - 15+15(n-2)
D-F7C] 51 — | s _ 15+ 15 (n - 2) D-J79 (n=4,6-)
D-J79 (n=4,6-) D-A90] 5 | — | 10 _ 10+15(n-2)
p-AaovNeea| 5 | — | 10 _ 10+ 15 (n - 2) D-A90V (n=4,6-)
(n=4,6-) o| D-A700
D-A701 =| D-A80 A N _ 15+ 10 (n - 2)
D-A80 5| — | 10 _ 15+10 (n - 2) 3| D-A73C (n=4,6.)
D-A73C (n=4,6-) €| D-As0C
D-A80C S| D-A70H 5 10 15+15(n-2)
o| D-A700H 5| — | 10 _ 15+ 15 (n-2) D-A80H - - (n=4,6-)
£ | D-A8OH (n=4,6-) D-F7WV 1041502
2| D-MoU 10 10 o 15+ 15 (n - 2) D-F7BAV 10 | — | 15 — (n=4,6-)
= D-A9[Note 2) - (n=4,6-) D-A79W -
O | D-F7O0WV _ D-F7O0W
D-FZBAV | 10 | — | 15 — A D-J79W 10| — | 15 - 16+20(0-2)
D-A79WNote 2) =4 e (n=4,6-)
D-M9CIWV w0 — | 15 . 15+ 15 (n - 2)
D-M9JAV (n=4,6-)
D-F7O0W
D-J79W 10| — | 15 — 1’ +_22 (2 -2
D-F7BA (n=4,6-)
- _ 15+15(n-2)
D-M9CIW 15 | — | 15 (n=4,6-)
: . 20+ 15 (n - 2)
D-M9IA 15 | — | 20 (n=4,6-)

Note 1) How to mount the auto switch (with the stroke range within the below, an adjustment is required as shown in the chart below).

Auto switch model

With 2 auto switches

Different side Note 1)

Same side Note 1)

A-6

Auto switch /fj ,:::j:’,,f/‘

D-M9C]
D-M9CIW

The proper auto switch mounting position is 6 mm inward from

the switch holder edge.

B-6

O

9—

= =0
|
O

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the
auto switch and lead wire do not interfere with each other.

D-A93

45 to less than 50 strokes

D-M9C/M9CIW

15 to less than 20 strokes

45 to less than 55 strokes

Note 2) D-A9C1(V) and A79W types cannot be mounted on bore sizes 8, 10, and @12 cylinder.
Note 3) When mounting a rail on bore sizes 620 and 925 cylinder, D-M9I(V), MOOW(V) and M9TIA(V) types cannot be mounted.

26



Auto Switch Mounting Series C85

Operating Range

(mm)
) Bore size
Auto switch model P 10 12 16 20 25
D-M9[] <?)
D-MOCW 2 25 2.5 3 3 3 @
o [ p-H7O o
g D-H7OW 0
3 3 3 4 4 4 (4]
é D-H7BA T
= D-H7NF w0
= D-H7C 8 8 8 9 7 8.5
0 D-A9[] — — — 7 6 6
D-C701/C80
D-C73C/C80C ’ ’ ! ! ! 8
D-MorCI/M9CIV
D-M9CIW/M9TIWV 25 3 3.5 3.5 — —
D-M9LJA/M9LIAV
D-F700/J79
D-F70IVIJ79C ©
(o]
IS D-F7O0W/J79W (2}
£ | D-F7OWV ° ° 6 6 ° 6 Q.
g D-F79F o
= D-F7BA/F7BAV a
© ~
o D-A9(] S
— — — . ()
D-A9C1V 6.5 59 6 n
D-A7C1/A80
D-A7C1H/A80H 8 8 9 9 7 7
D-A73C/A80C
D-A79W — — — 13 10 10.5
Note) Since this is a guideline including hysteresis, not meant to be guaranteed. (Assuming approximately £30% dispersion)
There may be the case it will vary substantially depending on an ambient environment.
Note 1) D-A901(V) and A79W types cannot be mounted on bore sizes 8, 10, and 12 cylinder.
Note 2) When mounting a rail on bore sizes 820 and 925 cylinder, D-M9J(V), MOCIW(V) and M9JA(V) types cannot be mounted.
S
&)
(7))
QL
P
Q
»n
2]
L
o
(7]
Q2
o
»n

27

O
2



Series C85
Auto Switch Mounting 2

Proper Auto Switch Mounting Position (Detection at stroke end) and Mounting Height

Double/Single acting: Band Mounting Double/Single acting: Rail Mounting
D-M9] D-M9C] A B
D-M9CIW D-M9C1V T N ‘ )
D-M9IW ) .- +
D-M9CIWV F ) A o)
D-M9CIA 0
D-M9CJAV
D-H70I A ¥ Y B_ D-F70 A B » "
D-H7OW - @ D-F70W N
D-H7BA %}% D-J79 % % mum
D-H7NF | D-J79W s 2
D-C70 8.5 D-F7BA @
D-C80 D-F79F
D-A70H
D-A80H
D-H7C D-J79C 13.3 13.3
LA ¥ ¥ B, D-A73C A B 010
5 D-A80C |
el — — 2
8.5 :
D-A9] D-F70OV 11 11
16 D-F7COWV A B_ 7
i D-F7BAV |
v D-A70] % miin
£ D-A80 . 2
(): Values for D-A93 r D-A79W 0
D-C73C A ¥y B
D-C80C ™ ]
8.5
28

O
2



Auto Switch Mounting Series C85

Proper Auto Switch Mounting Position (Detection at stroke end) and Mounting Height

Applicable series: CD85 (Double acting, Single rod), CD85W (Double acting, Double rod), CD85R (Direct mounting type)

Proper Auto Switch Mounting Position (mm) (mm)
Auto Band mounting Auto Rail mounting
switch switch D-F701/J79
model model D-F7OWN79W
D-M9] D-F70V
s e D-C70] DMoOV DEZOWY | Cara
-M9r] i D-C80 D-M9COwW | D-F79F/J79 -A9[] -A7 i
p-momw |B-H7OW | D-ASCI 1 o D-Morwv |D-F7BA D-A9CIV D-A80 D-ATOW
D-H7BA D-C80C D-MoOA  |D-F7BAV
D-H7NF D-MoUAV |D-A72/A7CH
D-A80H
Bore Bore D-A73C/A80C
size A[B|A[B[A[B|A]B size A B A B A B A B A B
8 65|65 2 |2 | —|—1]3]|3 8 5 5 4 4 — | — [ 85|35 | — | —
0 |65]65[2 ]2 3|3 - 5 5 4 4 35 | 35
@ | @ |5)|@5)| — | — [(35)|(35) (55)| (65 | @5 | @45 | — | — | @ | @ | — | —
12 |75|75| 8 |3 | _|_|4]4 12 6 6 5 5 | _ | a5 | a5 | _ | _
(8.5)[(8:5)| (4) | 4) (5) ] (5 @ | @ | 6) | (6 (5.5) | (5.5)
13.5 9 9.5 10 12 11 9.5 10.5 8
75 3 35 4 6 5 35 45 2
16 |55 [(109)| 4 | 6) | 45|65 & | 7) 16 7 9) 6 @ | a5 | €9 | 55 | 75| 4 (5)
(8.5) [7.5] (4) [3] (4.5) [3.5] (5) 4] @) (6] (6) [5] (4.5) [3.5] (5.5) [4.5] () 2]
) 105/95| 6 | 5 |[65(55| 7 | 6 ) I 8 7 65 | 55 | 75 | 65 | 5 4
0 1(85)|(7.5)] (@) | (3) |4.5)|(3.5)| (5) | (4) g 6 | (5 | (45 | (85| (5 |45 | @ | @
12|11 |75]65| 8 | 7 |85|75 | |95 ] 85 8 7 9 8 | 65 | 55
25 1(10)| (9) |(5.5)[(4.5)| (6) | (5) |(6.5)[(5.5) 25 (75) | 65 | 6) | 65) | (7) | (6) | (45) | (35)

* The value in () is in cases with air cushion.

+* The value in [ ]is in cases of CD85F16, CD85Y.

Note 1) D-A90J type cannot be mounted on bore sizes 28,
210, and 212 cylinder.

Note 2) In the actual setting, adjust them after confirming
the auto switch performance.

= The value in () is in cases with air cushion.

+* The value in[ ]is in cases of CD85F16, CD85Y.

Note 1) D-A90J(V) and A79W types cannot be mounted on bore sizes 98, 10, and 612
cylinder.

Note 2) D-M9I(V), MOOIW(V), and M9TIA(V) types cannot be mounted on bore sizes 320
and @25 cylinder.

Note 3) In the actual setting, adjust them after confirming the auto switch performance.

Auto Switch Mounting Height (mm) (mm)
Auto Band mounting Auto Rail mounting
switch switch|p.pomnete )| D-F701
model D-H7CI model D-M9CIV |D-J79
pD-mom |D-H7LIW D-MOLW |D-F7TLW |, oy Note 2)
D-H7BA D-C73C D-M9CIWV | D-J79W D-A701 | D-A73C
D | D-H7nE | 7€ | p-caoc D-MoIA (D-FroF | D-FTCINVI D79C | b hgg | pagoc | DATIW
D-C70] D-M9CAV |D-F7BA
D-C80 D-A90Nete2)| D-A7CIH
Bore Bore D-A9C1V |D-A8OH
size Hs Hs Hs Hs size Hs Hs Hs Hs Hs Hs Hs
8 15 16 19 18.5 8 19 19 21.5 23.5 18 25 —
10 16.5 17 20 19.5 10 19 19 21.5 23.5 18 25 —
12 18 18.5 21 21 12 20.5 20.5 23 25 19.5 26.5 —
16 20 20.5 23 23 16 20.5 20.5 23 25 19.5 26.5 22
20 22 22.5 25 25 20 23.5 23.5 26 29 225 29.5 25
25 24.5 25 27.5 27.5 25 26.5 26.5 29 32 25.5 32.5 28

Note 1) D-A90 type cannot be mounted on bore sizes 28,
210, and @12 cylinder.

Note 1) D-M9I(V), MOOIW(V), and MITIJA(V) types cannot be mounted on bore sizes 620
and @25 cylinder.

Note 2) D-A901(V) and A79W types cannot be mounted on bore sizes @8, 610, and ¢12
cylinder.

29

Series C85

Series C96 Series CP96

Series C55



Series C85
Auto Switch Mounting 3

Proper Auto Switch Mounting_j Position (Detection at stroke end) and Mounting_j Heigﬂ

Applicable series: CD85[-[JS (Single acting, Spring return)

Proper Auto Switch Mounting Position (mm) (mm)
Auto switch Bore A Dimensions B Auto switch Bore A Dimensions B
model size | 5to 50 st |51to 100 st|101 to 150 st model size | 5to 50 st |51 to 100 st|101 to 150 st
8 18.5 18.5 18.5 6.5 D-M9] 8 17 17 17 5
10 16.5 16.5 16.5 6.5 D-mMo0Iv 10 15 15 15 5
12 18 18 18 75 V= 12 165 | 165 | 165 6
13.5 D-M9JA 12
D-M9CJ 16 18 33.5 49 16 16.5 32 47.5
LB 105 - 3-th79|:D1/ﬁ'\/,9 8 16 16 16 [?1]
- (35.5) 605 855 95 g-i;’gv“’," 10 14 14 14 4
g 15. 15. 15.
25 10.5 605 855 11 D-F700V 12 5.5 5.5 5.5 5
(35.5) D-F70WV 16 155 31 465 1
8 14 14 14 2 D-F79F/J79C ) ' [5]
10 12 12 12 2 D-F7BA 8
D-H70 12 135 135 135 3 DRraAv & (33) 58 83 /
D-H7C 9 €| D-A7CH/A80H 8
16 13.5 29 445 = 25 58 83 8.5
D-H7OW [3] S | D-A73C/A80C (33)
2| D-H7BA 6 g 8
Z | D-H7NF 20 31) 56 81 5 = 16 125 28 43.5 2]
3 5 & | p-AoC1 5
£ 25 31) 56 81 6.5 D-A90IV 20 (30) 55 80 4
S o D-A79W 5
M .
16 14 29.5 45 3.5] 25 (30) 55 80 5.5
6.5 8 15.5 15.5 15.5 3.5
D-A9C] . 1. .
20 | @g15 | %65 81.5 55 10 135 135 135 35
25 (361'55) 56.5 81.5 7 12 15 15 15 1‘22
. D-A73 16 15 30.5 46 i
T T T W 73 -
12 14.5 14.5 14.5 4 20 (32.5) 575 825 63
ads 10 7.5
D-C80 16 14.5 30 45.5 4] 25 (32' 5) 57.5 82.5 8
D-C73C S :
D-C80C
20 (32) 57 82 6
25 Y 57 82 7.5
(382) )
x The value in () is in cases of non-rotating.
#* The value in[ ]is in cases of CD85F16, CD85Y.
Note 1) D-A901(V) and A79W types cannot be mounted on bore sizes 98, 10, and @12 cylinder.
Note 2) When mounting a rail on bore sizes 820 and 925 cylinder, D-M9J(V), MOOOW(V) and M9UIA(V) types cannot be mounted.
Note 3) In the actual setting, adjust them after confirming the auto switch performance.
Auto Switch Mounting Height (mm) (mm)
Auto Band mounting Auto Rail mounting
D-H7O D-M9C1V |D-J79
D-H7OW D-M9CIW |D-F70OW
D-M9OI D-F700V Note 2)
D-H7BA D-C73C D-M9CIWV | D-J79W D-A700 | D-A73C
Do ey D-HZNE | PHTC [ p.cgoc D-MomA |D-F7oF D7 NVY| DJ79C | pago | p.agoc | PATOW
D-C70 D-M9CJAV |D-F7BA
D-C80 D-A9Note 2)| D-A7IH
Bore Bz D-A9C1V |D-A80H
size Hs Hs Hs Hs size Hs Hs Hs Hs Hs Hs Hs
8 15 16 19 18.5 8 19 19 21.5 23.5 18 25 —
10 16.5 17 20 19.5 10 19 19 21.5 23.5 18 25 —
12 18 18.5 21 21 12 20.5 20.5 23 25 19.5 26.5 —
16 20 20.5 23 23 16 20.5 20.5 23 25 19.5 26.5 22
20 22 22.5 25 25 20 23.5 23.5 26 29 22.5 29.5 25
25 24.5 25 27.5 27.5 25 26.5 26.5 29 32 25.5 32.5 28

Note 1) D-A90] type cannot be mounted on bore sizes 28,
210, and 212 cylinder.

30

Note 1) D-M9I(V), MOOW(V), and M9TIA(V) types cannot be mounted on bore sizes 320
and @25 cylinder.
Note 2) D-A90J(V) and A79W types cannot be mounted on bore sizes 98, 10, and 612
cylinder.



Auto Switch Mounting Series C85

Proper Auto Switch Mounting Position (Detection at stroke end) and Mounting Height

Applicable series: CD85[1-LIT (Single acting, Spring extended type)

Proper Auto Switch Mounting Position (mm) (mm)
Auto switch . B Dimensions Auto switch . B Dimensions 0
model  |BOeSIZel A 5R 0 st [51 10 100 st]101 0 1505t model Boresizel A 5 i550st[51t0 10081010 1505 ]
8 6.5 31 31 31 D-M9C] 8 5 29.5 29.5 29.5 0
10 6.5 29 29 29 D-Mo0IV 10 5 27.5 27.5 27.5 4
12 75 31 31 31 g ml 12 6 295 295 295 =
D-M9C] - D-M9CIWV : : : o
D-M9CIW 16 75 36 62 88 D-M9CIA T 6 345 60.5 86.5 &
) [30] [56] [82] D-M9CIAV [28.5] [54.5] [80.5]
20 10.5 34.5 59.5 84.5 B:E;g®79 8 4 28.5 28.5 28.5
25 12 34.5 59.5 84.5 D-J79W 10 4 26.5 26.5 26.5
D-F701V
8 2 26.5 26.5 26.5 D-E7CIWV 12 5 28.5 28.5 28.5
D-H7C 10 2 24.5 245 24.5 D-F79F/J79C 16 5 33.5 59.5 85.5
2| p-H7C 12 3 265 265 265 o| DF7BAV [27.5] | [535] | [79.5]
‘| D-H7OW 31.5 57.5 83.5 = [ DFA72 20 8 32 57 82
D-A7C1H/A80H
é D-H7BA 16 s [25.5] [51.5] [77.5] 3 | D-A73C/A80C 25 9.5 32 57 82
g D-H7NF 20 6 30 55 80 E - - 5 30.5 56.5 82.5 8
= | D-
3 25 7.5 30 55 80 T | p-asCV [24.5] [50.5] [76.5] q
1 a5 32 58 84 D-A79W 20 5 29 54 79 O
[26] [52] (8] 25 6.5 29 54 79
D-A9] 1)
20 6.5 30.5 55.5 80.5 8 3.5 28 28 28 2
25 8 30.5 55.5 80.5 10 3.5 26 26 26 a
8 3 27.5 27.5 27.5 D-A73 12 4.5 28 28 28 «
10 3 25.5 25.5 25.5 33 59 85
. D-A80
g_g;? 12 4 27.5 27.5 27.5 16 o (27] (53] [79]
D-C73C 16 4 32.5 58.5 84.5 20 7.5 315 56.5 81.5
D-C80C [26.5] | [52.5] | [78.5] 25 9 31.5 56.5 81.5
20 7 31 56 81
25 8.5 31 56 81
= The value in[ ]is in cases of CD85F16, CD85Y.
Note 1) D-A901(V) and A79W types cannot be mounted on bore sizes 98, 810, and @12 cylinder.
Note 2) When mounting a rail on bore sizes 20 and 25 cylinder, D-M9I(V), MOOW(V) and M9IA(V) types cannot be mounted. g
Note 3) In the actual setting, adjust them after confirming the auto switch performance. Q
(7))
Q2
Auto Switch Mounting Height (mm) (mm) <
Auto Band mounting Auto Rail mounting ]
D-H7O D-M9CV | D-J79
D-H7OW D-M9CW |D-F70W
D-M9oOI D-F700V Note 2)
D-H7BA D-C73C D-M9CIWV |D-J79W D-A700 | D-A73C
D ey DH7NE | PH7C b caoc D-MooA |D-F7oF | DFTOWY | D979C | pago | p.agoc | PATOW
D-C70 D-M9CIAV |D-F7BA
D-C80 D-A9[Note 2)| D-A7C0H
B Bz D-A90V |D-A80H
size Hs Hs Hs Hs size Hs Hs Hs Hs Hs Hs Hs (5}
8 15 16 19 18.5 8 19 19 215 23.5 18 25 — 8
10 16.5 17 20 19.5 10 19 19 215 23.5 18 25 —
12 18 18.5 21 21 12 20.5 20.5 23 25 19.5 26.5 — 8
16 20 20.5 23 23 16 20.5 20.5 23 25 19.5 26.5 22 a
20 22 225 25 25 20 235 23.5 26 29 22.5 29.5 25 n
25 24.5 25 27.5 27.5 25 26.5 26.5 29 32 25.5 32.5 28
Note 1) D-A9 type cannot be mounted on bore sizes 28, Note 1) D-M9I(V), MOOIW(V), and MOOIA(V) types cannot be mounted on bore sizes 620
210, and @12 cylinder. and 225 cylinder.
Note 2) D-A9C1(V) and A79W types cannot be mounted on bore sizes 98, 10, and g12
cylinder.

31



Series C85

How to Mount and Move the Auto Switch

Band Mounting Type

<Applicable auto switch>

Solid state --.--- D-M9N, D-M9P, D-M9B
D-M9NW, D-M9PW, D-M9BW

Reed --:::eeeeeeee. D-A90, A93, A96

How to Mount and Move the Auto Switch

Mounting the Auto Switch

1. Attach the switch bracket to the switch holder.

(Fit the convex part of the switch bracket over the concave part of the holder.)

2. Mount the auto switch mounting band to the cylinder tube.

3. Set the switch holder between the reinforcing plates of the band which is
already attached to the cylinder.

4. Insert the auto switch mounting screw in the hole of the reinforcing plate
through the switch holder, and thread it into the other plate. Tighten the screw
temporarily.

5. Remove the set screw attached to the auto switch.

6. Attach the switch spacer to the auto switch.

7. Insert the auto switch with a switch spacer from the back of the switch holder
and set it at the specified position.

(Insert the auto switch with an angle of approximately 10 to 15°. See figure 1.)

8. To secure the auto switch, tighten the switch mounting screw with the
specified torque (0.8 N-m to 1.0 N-m).

Adjusting the Switch Position

1. Unloosen the auto switch mounting screw 3 turns to adjust the auto switch
set position.

2. Tighten the screw as described above (8) after adjustment.

Dismounting Auto Switch

1. Remove the auto switch mounting screw from the switch holder.

2. Move the auto switch back towards the position where it stops at the lead
wire side.

3. Hold up the lead wire side of the auto switch at the angle of around 45°.

4. Maintain the angle, and pull back the auto switch obliquely at the same angle.

Note 1) Be careful not to pull or strain the lead wires.
Be careful not to apply excess tensile force (over 10 N) to the auto
switches.
Adjust the auto switch position after sufficiently loosening its screw. For
the band mounting type BJ3-1, loosen the screw three rotations or more.
Note2) Be sure to use the switch spacer and switch bracket for the band
mounting type.
Use together with the conventional auto switch mounting bands
(brackets) BJ2-0J00 or BM2-0J00.
Confirm that a switch spacer is mounted to the end of the auto switch
before fastening the auto switch. If the switch bracket is not mounted,
the auto switch may move after installation.

<Applicable auto switch>

Solid state --.-.- D-H7A1, D-H7A2, D-H7B,
D-H7BA, D-H7C, D-H7NF,
D-H7NW, D-H7PW, D-H7BW

Reed -.............. D-C73, D-C76, D-C80, D-C73C,
D-C80C

How to Mount and Move the Auto Switch

1. Put a mounting band on the cylinder tube and set it at the auto switch
mounting position.

2. Put the mounting section of the auto switch between the band mounting
holes, then adjust the position of mounting holes of switch to those of
mounting band.

3. Lightly thread the auto switch mounting screw (M3 x 0.5 x 14 L) through the
mounting hole into the thread part of band fitting.

4. After setting the whole body to the detecting position by sliding, tighten the
mounting screw (M3 x 0.5 x 14 L) to secure the auto switch while properly
contacting the auto switch bottom part and the cylinder tube. (Tightening
torque of M3 screw should be 0.8 to 1 N-m.)

5. Modification of the detection position should be made in the condition of 3.

6. After auto switch is mounted and fixed, attach a protective tube on the tip of
an auto switch mounting screw (M3 x 0.5 x 14 L).

[Mounting screws set made of stainless steel]

/\ Caution

1. Tighten the screw under the specified torque when mounting auto switch.
2. Set the auto switch mounting band perpendicularly to cylinder tube.

T e
| ]

Mounting correctly

E b
]

Mounting incorrectly

Aporox. 10 to 15°

Figure 1. Switch insert angle

Switch spacer
(Stainless steel)

S

d /,/ S

Switch holder 9;' o ®
(Resin) 5% " Auto switch
0 Auto switch mounting screw ®

>,/ (Low carbon steel wire rog) | & Set screw (unused)

[ AN
Switch bracket
(Stainless steel)

A3\
Sy =
<

© ®

[ ]The parts indicated in are
attached to BJ3-1.

Face the rubber lining surface upward.
AN Py
TN\60t0 80° 7

[Auto switch mounting band]

Reinforcing
BJ2-000 plates
BM2-000 BM2

BJ2-0000 and BM2-000J1 are a set of a and b shown above. BJ3-1 is a
set of ¢, d and e shown above.

A\ Caution

1. Tighten the screw under the specified torque when mounting auto switch.
2. Set the auto switch mounting band perpendicularly to cylinder tube.

] b

Mounting incorrectly

ol b—

I

Mounting correctly

Auto switch

Auto switch
mounting screw
2 / M3x05x14L

\ Qpy

\\ Auto switch ‘ ?
\mounting bracket Auto switch mounting band
(With bracket)

The following set of mounting screws made of stainless steel is also available. Use it in accordance with the operating environment. (Please order the auto switch

mounting band separately, since it is not included.)
BBA4: For D-C7/C8/H7

“D-H7BA” switch is set on the cylinder with the stainless steel screws above when shipped.

When only an auto switch is shipped independently, “BBA4” screws are attached.
Stainless Steel Mounting Screw Set

Contents ' . . ) )
Part no. Description Size Qy. Applicable auto switch mounting bracket part no. | Applicable auto switch
. . BJ2-006, BJ2-010, BJ2-016 D-C7, C8
BBA4 Auto switch mounting screw M3x0.5x14L BM2-020, BM2-025, BM2-032, BM2-040 D-H7

32 %



How to Mount and Move the Auto Switch Series C85

Rail Mounting Type

<Applicable auto switch>
Solid state ----- D-M9N(V), D-M9P(V), D-M9B(V),

D-MONW(V), D-MOPW(V), D-M9BW(V), ]
D-M9NA(V), D-M9PA(V), D-MOBA(V) St core < o
............... - Auto switch Auto switch
Reed D-A90(V), A93(V), A96(V) mounting screw (Unused) _3
1. Slide the auto switch mounting nut inserted into the mounting rail M3x0.5x8L / o
and set it at the auto switch mounting position. (Attached to the cylinder) ® 7]
2. Fit the convex part of the auto switch mounting bracket arm over a @®
the concave part o_f the rail, a_nd slide tht_a arm t_o the nut position. Auto switch mounting bracket ‘ @ ® b
3. Push the auto switch mounting screw lightly into the hexagon nut @\ Auto switch mounin
through the hole of the auto switch mounting arm. screw 9
4. Remove the set screw (M2.5) attached to the auto switch. M2.5x 0.45 X 6 L
5. Insert the auto switch in the auto switch attachment part of the auto
switch mounting bracket.
6. Secure the auto switch mounting screw (M2.5 x 0.45 x 6 L).
(Tightening torque of M2.5 screw: 0.1 to 0.2 N-m)
7. Secure the auto switch mounting screw (3) after confirming the Cviind 8
detecting position. (Tightening torque of M3 screw: 0.5 to 0.7 N-m) ylinder Q.
8. Modify the detecting position while the auto switch is secured at O
the position of (3) in the figure. *BQ2-012 is a set of a and b shown above. s
2
S
&
<Applicable auto switch>
Solid state ------ D-F79, D-F7P, D-J79, D-F7NV,
D-F7PV, D-F7BV, D-J79C,
D-F79W, D-F7PW, D-J79W,
D-F7NWV, D-F7TBWV, D-F79F,
D-F7BA, D-F7BAV,
Reed «weeeseenee D-A72, D-A73, D-A80, @
- - Auto switch mounting screw
D-A72H, D-A73H, (M3 x05x80) ‘ 8
D-A76H, D-A80H, ‘ Qo
D-A73C, D-A80C, D-A79W o
. Q
How to Mount and Move the Auto Switch | Auto switch S
1. Slide the auto switch mounting nut (M3) inserted into the mounting ‘ i
rail and set it at the auto switch mounting position. . ,
2. Fit the convex part of auto switch mounting arm into the concave part Auto switch mounting nut
of auto switch mounting rail. Then slide the switch over the nut. (M3)
3. Push the auto switch mounting screw (M3 x 0.5 x 8 L) lightly into the
mounting nut (M3) through the hole of auto switch mounting arm. Auto switch mounting rail
4. After reconfirming the detecting position, tighten the mounting screw 9
(M3 x 0.5 x 8 L) to secure the auto switch. (Tightening torque of M3
screw should be 0.5 to 0.7 N-m.)
5. Modification of the detecting position should be made in the condition
of 3. tg
&)
/)
2
S
&
[Mounting screws set made of stainless steel]
The set of stainless steel mounting screws (with nuts) described below is available and can be used depending on the operating environment.
(Please order the auto switch spacer, since it is not included.)
BBA2: For D-A7/A8/F7/J7
“D-F7BA” auto switch is set on the cylinder with the stainless steel screws above when shipped.

When only an auto switch is shipped independently, “BBA2” screws are attached.

Stainless Steel Mounting Screw Set

Part no. No. Descri;igz)r:ents Size Qy. Applicable auto switch mounting bracket part no.| Applicable auto switch
M3 x0.5x6L 1 BMU1-025
1 Auto switch mounting screw M3x05x8L 1 BQ-1 D-A7, A8
BBA2 M3 x0.5x10L 1 BQ-2 D-F7,J7
2 Auto switch mounting nut (Hexagon nut) M3 x 0.5 1 BQ-1
3 Auto switch mounting nut (Convex shape) M3 x 0.5 1 BQ-2

Note 1) A spacer for BQ-2 (black resin) is not included.
Note 2) When using D-A901(V)/M9CI(V)/MITIW(V)/MOTIA(V) auto switches with BQ2-012, use stainless steel screws suitable for the auto switch mounting bracket.

SvC 3

O



Series C85
Auto Switches Connection and Example

Basic Wiring

Solid state 3-wire, NPN Solid state 3-wire, PNP  2-wire (Solid state) 2-wire (Reed switch)

----------------- Brown
Load

Indicator

h h h h i
: : : :

1 1 1 1 1

1 [Main ' [Main ' [Main ! , ,

1 |eurcuit == 1 |curcuit - | |curcuit : protection| 1 -
1 [of switch 1 |of switch ' |of switch ! circuit, !

! ' ! [ ' efc. '

I I I I

I I I I

lmmmmmmmmmmoees lmmmmmmmmmmoees lmmmmmmmmmmoees ' Blue lmmmmmmmmmmoees ' Blue

Indicator !

protection| ! -

circuit, !

etc. !
O

Main Main
curcuit
of switch of switch

h
|

|

.

| .
+|curcuit
|

|

|

|

|

Example of Connection with PLC (Programmable Logic Controller)

Connect according to the applicable PLC
input specifications, as the connection
method will vary depending on the PLC
input specifications.

e Source input specifications
3-wire, PNP

Black

¢ Sink input specifications
3-wire, NPN

Black

Auto switch Auto switch

2-wire

2-wire

Brown
O

Input
P Q

Blue
O

Auto switch Auto switch

O
Blue

COM =---ommmmmeeee

PLC internal circuit PLC internal circuit

Example of AND (Series) and OR (Parallel) Connection

e 3-wire
AND connection for NPN output
(Using relays)

AND connection for NPN output OR connection for NPN output

(Performed with auto switches only)

Brown Load Brown Brown
- Black - Black |_T - Black _-_I
[Auto switch 1 e LRI I—] < Relay [Auto switch 1 @ Load Auto switch 1K —2 "=
A1 contact A4 £
Brown T Brown Brown
Black Black Black
Auto switch 2 Rel I—] i Aut 'th2'|:
| uto switc %{ elay ‘ Auto switch 2 Blue uto switcl Blue

The indicator lights will light up when
. both auto switches are turned ON.
*2-wire

2-wire with 2-switch AND connection 2-wire with 2-switch OR connection

When two auto switches

(Solid state auto switch)
When two auto switches

(Reed auto switch)
Because there is no

Brown are connected in series, a Brown
load may malfunction are connected in parallel, current leakage, the load
because the load voltage Auto switch 1 Blue bmalfuncti?r? Taydoccltjr vc:.:tag;e will ;c())tlir'lcrease
will decline when in the ON ecause the load voltage wnen turne .
state. will increase when in the However, depending on
The indicator lights will light OFF state. the number of auto
up when both of the auto. Brown switches in the ON state,
Blue switches are in the ON Blue the indicator lights may

state.

sometimes grow dim or
not light up, due to the

Load voltage at OFF = Leakage current x 2 pcs. x Load impedance
=1mAx 2 pcs. x 3 kQ
=6V

Example: Load impedance is 3 kQ.
Leakage current from auto switch is 1 mA.

SVC

Load voltage at ON = Power supply voltage — Residual voltage x 2 pcs.
=24V -4V x2pcs.
=16V

Example: Power supply is 24 VDC
Internal voltage drop in auto switch is 4 V.
34

dispersion and reduction
of the current flowing to
the auto switches.

O



ISO Standards

Air Cylinder: Standard
Double Acting with End of Stroke Cushioning

Series CP96

032, 240, 350, 263, 280, 3100, o125

How to Order

B cro6s [B[32)- 100

||

I cr96SD Bl32]-[100

Series C85

==

-IM9BW|S

Built-in magnet lNumber of
auto switches ©
Nil 2 pcs. 82
Mounting s 1 pe. O
B | Basic ) “3"pcs. ()
L | Axial foot n n_pes. 2
F | Rod flange t?)
G | Head flange ¢ Auto switch
€4 Single clevis [ Nil_| Without auto switch ]
D | Double clevis ) )
,. - + For applicable auto switch
* Mounting brackets are model, refer to the table below.
shipped together, (but
not assembled). eRod
Bore sizee® Nil | Single rod
32 32 mm w Double rod
40| 40mm ©
50 | 50 mm 8
63| 63mm o Stroke (mm)
80 80 mm Refer to “Standard Stroke” on page 36. _3
100/ 100 mm <
125 125 mm »
Applicable Auto Switches/Refer to Best Pneumatics No. 2 for further information on auto switches.
Type| Special function Electrical *g = Wiring Load voltage Auto switch OLSead V\1/|re Iené;th (m; Pre-wired | Applicable
O .
entry g = (Output) DC AC model Wi | v | © ) connector load
3-wire (NPN) M9N [ ) [ J [ J O O
5 — Grommet 3-wire (PNP) 5V.12v M9P [ ) [ ) [ ) ] O IC
= 2-wire 12V M9B ® e e | O ©) — R
o Diagnosis 3-wire (NPN) MONW [ ] [ ] [ ] O O
g indication Yes [3-wire (PNP) | 24 |2V 12V — MPPW | @ | ® | ®@ | O 0 Ic Ef'é‘y' O
: (2-color) Grommet 2-wire 12V MBW | @ | ® | ®@ | O 0 — 2
2 _ 3-wire (NPN) MNA** | O [ O [ @] O O =
[} Q
® Wa;zicrglso'f)tam 3-wire (PNP) SV, 12V MOPA** | O | O | @ | O O Ic 7))
2-wire 122V M9BA** O O [ ) O O —
3-wire
=8 B crommet | YeS [(EQuivONPN)| 5V - e ¢ - - - o
- owire |24V | 12V 100V A93 o — | o | — — — | Relay,
None 100 V or less A90 [ J — [ J — — IC | PLC

=+ \Water resistant type auto switch can be mounted to the models with the above mentioned part numbers, but this does not guarantee the water resistance
of the cylinder.

= Lead wire length symbols: 0.5 m -« Nil (Example) MONW = Solid state switches marked with a “O” are produced upon receipt of order.
Tmeeees M (Example) MONWM
3meeeeens L (Example) MONWL
5meeeeee Z (Example) MONWZ

= Since there are other applicable auto switches than listed, refer to Best Pneumatics No. 2 for details.
+ For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.
+ D-A90, M9, MOOW, M9UJA are shipped together, (but not assembled).
= (Switch mounting bracket is only assembled at the time of shipment.)
Note) D-Y59A, Y69A, Y7P, Y7OW, Z701, Z80 type cannot be mounted on the CP96 series.
Moreover, D-M90I1 and A9 type cannot be mounted on square groove of the CP96 series.

ZSVC %



Series CP96

N

36

Specifications
Bore size (mm) 32 | 40 50 63 80 100 125
Action Double acting
Fluid Air
Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa
Min. operating pressure 0.05 MPa

Ambient and fluid

Without auto switch: —20 to 70°C*

temperature With auto switch: =10 to 60°C*

Lubrication Not required (Non-lube)

Operating piston speed 50 to 1000 mm/s [ 50 to 700 mm/s
Allowable stroke |\, 1, 550 st: *1 251 t0 1000 st: *5* 1001 to 1500 st: *§% 1501 to 2000 st: *22
tolerance

Cushion Air cushion

Port size G188 [ G14 | G1/4 [ G3/s [ G3B [ G1/2 | G2

Basic, Axial foot, Rod flange,
Mounting Head flange, Single clevis, Double clevis,
Center trunnion

= No fleezing

Standard Stroke

Bore size Standard stroke Max.
(mm) (mm) stroke Note)
32 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500 2000
40 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500 2000
50 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500, 600 2000
63 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500, 600 2000
80 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500, 600, 700, 800 2000
100 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500, 600, 700, 800 2000
125 — 2000

Intermediate strokes are available.
Note) Please consult with SMC for longer strokes.

Accessories
Mounting Basic| Foot Rod Head S|ng!e Doub]e Cent.er
flange flange clevis clevis | trunnion
Rod end nut (K J [ J [ J [ J (] [
Standard —
Clevis pin — — — — — [ —
Piston rod ball joint| @ | @ [ [ [ (] [
Option Rod clevis ® | O [ J @ o [ J [ J
Rod boot (] [ ] [ ] [ ] [ ] () [ J

= Please do not use a piston rod ball joint (or floating joint) together with a single clevis with a ball
joint (or clevis pivot bracket with a ball joint).

Replacement Parts/Seal Kit

Bore size (mm) Kit no. Contents
32 CS95-32
40 CS95-40 Cushion seal
50 CS95-50 Wearing
63 CS95-63 Piston seal
80 CS95-80 Rod seal
100 CS96-100 Tube gasket
125 CS96-125

x Seal kit includes cushion seal, wearing, piston seal, rod seal, and tube gasket. Order the seal
kit, based on each bore size.

x Seal kit includes a grease pack (232 to 950: 10 g, 963, ©80: 20 g, 100, 8125: 30 g). Order with
the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)

O

SVC




Air Cylinder: Standard )
Double Acting w/ End of Stroke Cushioning Series CP96

Dimensions
Basic: CP96S(D)B |Bore size |- | Stroke |

PL 2xEE PL g
sSw
N * S
[ I ‘ Qo
a P \ = e = E
=1 — —1| < »
b - o I8 eNEr
[ o ) 2|
| T e | C
N \

>

+
+ L
VD Lo | Cushion
L1z L2 BG_| \8 xRT valve
R WH G | G
E

H Ls + Stroke VA
ZZ + Stroke
>
Q
Q
»
2
o
Basic: CP96S(D)B | Bore size|- |Stroke| W 0
PL 2 xEE PL
sw sw
KK KK
|
—\ — \ {o
aja L s . = Q|8 O
_\_/_ —(-}-%— = LN 4 |
_/ L_T] _/ _%
L | F——3 I — =
— o\ Q
[ »n
VD Lo ‘ Cushion vD
L12 L2 BG 8 xRT valve L2 |L12|
A WH G| G WH + Stroke A
H Ls + Stroke H + Stroke
ZY + 2 x Stroke
T
&)
»
2
o
7))
(mm)
Bcz:ﬁ:]')ze A d'131 BG|D| E | EE | G | H KK |L2| Ls |Le|Li2|PL| R RT |SW|VA|vD|WA |wB |WH| zy | zz
32 [22|30(16|12| 47|G1/8|32 | 48 |M10x125|15| 94| 4 | 6 |13 | 325| M6x1 |10| 4 |4 | 4 | 7 |26[190|146
40 |24 |35(16|16| 54| G1/4|375| 54 |M12x125|17|105| 4 | 65|14 | 38 M6x1 |13| 4 | 4| 5 | 9 |30|213|163
50 [32|40(16|20| 66|G1/4|375| 69| M16x15|24|106| 5 | 8 [155| 465|M8x1.25 (17| 4 | 4 | 6 |105|37 |244 | 179
63 [32|45(16|20| 77|G3/8|45 | 69| Mi6x15|24|121 |5 | 8 [165| 565|M8x1.25 17| 4 | 4 | 9 |12 |37 |259|194
80 |40|45|17|25| 99|G3/8|45 | 86| M20x1.5[30|128| — (10 |19 | 72 |M10x15|22| 4 | 4 |115|14 |46 300|218
100 |40 |55 |17 |25|118|G1/2|50 | 91 |M20x1.5|32|138|— [10 [19 | 89 |[M10x15|22| 4 | 4 |17 |15 |51 |320|233
125 |54 |60|20|32|144|G1/2|58 |119| M27x2 |40 |160|— [13 |19 |110 |M12x175|27| 6 | 6 [17 |15 |65|398 285

ZSvC 37



Series CP96

Dimensions

Axial foot (L)

) XA + Stroke
& " & ::::'
- | B, s
S Ly Cing2
o oHZ 4x0AB
L_TR_| 'E#:\_AOJ_ SA + Stroke
E1
Rod flange (F)
4 xFB
- T ; L II T { II L ; L
( NIl T 1 1
m | T —Yr—yr—Jyr——yyr——yyr—— -_'1 _»__1
() % F e
sl /\ 7 T \ vt %
g - IIH‘—‘\ | T l T h%ﬁ;
/ e S | -
TF W [MF
UF
Head flange (G) ‘ e
T 1 L II T { II L 1 L
LI S —
_‘ mn Il Ll T
1k
YA | 1
—/ L N
L
e
ZF + Stroke
cD . . .
Single clevis (C) Double clevis (D)
T e | |
m I m
() T% ——— ] T N i
i I a
A | I \
— LJ{ — S
| j B
L |MR EW
XD + Stroke
(mm)
Bore size UB | CB CD
(mm) E1 |[TR|/AH| AO |AT |AB |SA | XA | R | TF [FB| E2 UF | W |MF| ZF h14 |H1a EW Ho L MR | XD | EB
32 48 |32 32| 10 |45 | 7 |142|144|32| 64| 7 50 79 [16]10|130| 45|26| 26202 | 10| 12 9.5 | 142 65
40 55 |36 |36 | 11 4510 |161|163|36| 72| 9 B55) 90 [20|10|145| 52|28 | 2832 |12| 15 |12 160 75
50 68 |45|45| 12 | 55|10 |[170|175|45| 90| 9 70 110 |25 |12 |155| 60|32 | 3232 12| 15 | 12 170 80
63 80 |50 |50| 12 |[55(10 |[185|190|50|100| 9 80 | 120 |25 |12|170| 70|40| 40232 |16| 20 |16 190 90
80 100 |63 63| 14 |65 (12 |210|215|63|126 | 12| 100 153 [30|16|190| 90|50 | 5032 |16| 20 | 16 210 | 110
100 120 |75 | 71 16 | 6.5|14.5|220|230|75|150 |14 | 120 | 178 | 35| 16| 205|110 |60 | 60252 |20 | 25 |20 230 | 140
125 |Max.157| 90 | 90 |Max.25| 8 |16 | 250 | 270 | 90 | 180 | 16 | Max.157 | Max.224 | 45 | 20 | 245 | 130 | 70 | 70293 | 25 | Min.30 | Max.26 | 275 | Max.157
38
ZS\VC



Series CP96
Auto Switch Mounting 1

Minimum Stroke for Auto Switch Mounting
(mm) 1)
Auto switch | Number of auto Iy
model switch mounted i iy & e = Ly L O
(7))
2 switches (Different Q9
. . 15 10 =
side, Same side) Q
D-MsC 1 switch 15 10 «
Other qty. 15+5 (n-2) 10+10 (n-2)
2‘ switches (Qifferent 15 10
D-MOCIW side, Same side)
D-M9UJA 1 switch 15 10
Other qty. 15+10 (n-2) 10+10 (n-2) ‘ 10+15 (n-2)
2 switches (Different 15
side, Same side)
D-A9C] : ©
1 switch 15 ‘ 10 [2})
Other qty. 15+10 (n-2) | 15415 (n-2) | 15+20 (n-2) %
Note) n=3,4,5 - 7
2
P
Q
(%)

Recommended Mounting Position for Stroke Ends

Auto Switch Proper

Mounting Position (mm)
h " Auto switch| D-M9O]
‘ model| D-M9TIW D-A9C]
] | D-M9UIA
H —_— Bore size A B A B g
, 32 10.5 8 6.5 4 QO
L1 40 10.5 8 6.5 4 g
A B 50 11 8.5 7 45 g
63 11 85 | 7 45 L2
80 14 12.5 10 8.5
100 14 12.5 10 8.5
125 16 16 12 12
Note) Adjust the auto switch after confirming the
operation to set actually.
Operating Range
=
(mm) 8
Auto switch Bore size (&)
model 32 | 40 | 50 | 63 | 80 | 100 | 125 @
D-M9CI 2
D-M9OOW 4 4 5 6 5.5 6 7 t?)
D-M9CJA
D-A9[] 7 8 8.5 9.5 9.5 | 105 | 125
= Since this is a guideline including hysteresis, not meant to be
guaranteed. (Assuming approximately £30% dispersion)

There may be the case it will vary substantially depending on an
ambient environment.

[F e

I Besides the models listed “How to Order,” the following auto switches are applicable. :
1 * Normally closed (NC = b contact) solid state switch (D-F9G, F9H type) are also available. 1
1  For details, refer to Best Pneumatics No. 2. 1
g g R |
39
2 S\NC



Series CP96
Auto Switch Mounting 2

How to Mount and Move the Auto Switch

<Applicable Auto Switch>

Solid state switch...... D-M9N/M9P/M9B
D-MO9NW/M9PW/M9BW
D-MO9NA/M9PA/M9BA

Reed switch....---... .. D-A90/A93/A96

How to Mount and Move the Auto Switch

Auto switch
mounting screw

Auto switch

* Please use a watchmaker’s screwdriver with a handle diameter of 5 to 6 mm when tightening the auto switch mounting screw.

Auto switch mounting screw

tightening torque (N+m)
Auto switch model Tightening torgue
D-M9oCI
D-MoOOW 0.05t0 0.15
D-M9JA
D-A90] 0.10 to 0.20

= As a guide, turn 90° from the position where it comes to feel tight.
Note) D-M901 and A9 type cannot be mounted on square groove of the CP96 series.

40

O
2



ISO Standards

Air Cylinder: Standard
Double Acting, Single/Double Rod

Series C96

032, 240, 350, 263, 280, 3100, o125

How to Order

B co6s  [B[32)- 100

| |

I c96SD [B]32]-[100

"
W

-IM9BW||S

Built-in magnet lNumber of auto switches
. Nil 2 pcs.
Mounting S 1 po.

B | Basic/Without bracket .

- Bore size 3 3 pcs.
L | Axial foot n “n” pcs.
F | Rod end flange 32 32 mm :
G | Head end flange 40 | 40 mm $Rod ——e Auto switch
C | Single clevis 50 | 50 mm o : | Nil [ Without auto switch |
D | Double clevis 63 63 mm Nil | Single rod # For applicable auto switch
T | Center trunnion 80| 80mm W__| Double rod model, refer to the table below.

* Mounting brackets except center G 100 mm ¢ Strok

trunnion type are shipped 125] 125 mm roke (mm)

together, (but not assembled). Refer to “Standard Stroke” on page 42.

Applicable Auto Switches/Refer to Best Pneumatics No. 2 for further information on auto switches.

e Soecial function Electrical g = Wiring Load voltage A.uto switch model | Lead wire length (m) Pre-wired | Applicable
yp p entry |5 2| (Output) DC AC Tie-rod Band | 05| 1 | 38 | 5 | connector load
< mounting | mounting | (Nil) | (M) | (L) | (2)
3-wire (NPN) M9N = ® | e e | O O
Sromme 3wire (PNP) |24v |2V 12V MoP — |e|e|e[0| o |°
_ o-wire 12V M9B — e|le|[e|O o .
— — 100V, 200 V J51 — ® | — | @ | O —
5 Terminal 3-wire (NPN) 5V, 12V — G39 — | === — IC
.‘; conduit 2-wire 12V — K39 — | == — — —
@ . e 3-wire (NPN) MONW — ® ® & O O
e 5V,12V |
% Diagnosis indication Yes [3-wire (PNP) MOPW — e o e O o) C |Relay,
s (2-color) , PLC
_g 2-wire 12V M9BW = ® & @& O O —
= , 3-wire (NPN) | 24 V - #*VIONA — o|lo|e]|O @)
o 1 5V,12V
@ Wa‘gcrggf)‘a”t Grommet 3-wire (PNP) ‘ “MOPA| — | O | O | ®| O o IC
2-wire 12V **M9BA = O|O | @] O O —
Diagnosis output (2-color) 4-wire (NPN) 5V, 12V F59F = ® | —| ® | O O IC
Magnetic field 2-wire (Non- . . - .
resistant (2-color) polar type) [z e o %
3-wire
(Equiv. to — 5V — A96 — e — | 0| — — IC| —
Yes NPN)
Grommet 100V A93 — [ ) — [ ) — — —
S . None 100V orless| A90 = e | —| e | — — IC |Relay,
% Yes 100V, 200V | A54 = e —| e | ® — PLC
5 None 12V |200Vorless| A64 — e — | e | — —
8 Terminal 2-wire |24V — — A3 | — | — | — | — — PLC
conduit 100V, 200V = A34 — | — | — | — — -
DIN Yes ’ — A44 — | == | — — Relay,
Diagnosis indication N . . . _ _ PLC
(2-color) Grommet A59W [ J [ J

=x \Water resistant type auto switch can be mounted to the models with the above mentioned part numbers, but this does not guarantee the water resistance
of the cylinder.

+ Lead wire length symbols: 0.5 m «-----+ Nil (Example) MONW = Solid state switches marked with a “O” are produced upon receipt of order.
Tmee M (Example) MONWM
3meeeeeens L (Example) MONWL
5meeee Z (Example) MONWZ

= Since there are other applicable auto switches than listed, refer to Best Pneumatics No. 2 for details.
+ For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.
= D-A90, M9, MOOW, M9LJA are shipped together, (but not assembled).

(Switch mounting bracket is only assembled at the time of shipment.)

SVC 41

O

Series C85

Series CP96

Series C96

Series C55



Series C96

Specifications
Bore size (mm) 32 | 40 50 63 80 100 125
Action Double acting
Fluid Air
Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa
Min. operating pressure 0.05 MPa
Ambient and fluid Without auto switch: —20 to 70°C*
temperature With auto switch: =10 to 60°C*
Lubrication Not required (Non-lube)
Operating piston speed 50 to 1000 mm/s [ 50 to 700 mm/s

Allowable stroke tolerance | Up to 250 st: *§ 251 to 1000 st: *§* 1001 to 1500 st: *3® 1501 to 2000 st: *32

Cushion Air cushion

Port size G1/8 [ G14 [ G1/4 [ G38 [ Gas [ G1/2 | G1/2
. Basic, Axial foot, Rod flange,

Mounting Head flange, Single clevis, Double clevis,

Center trunnion

# No freezing

Standard Stroke

Bore size Standard stroke Max.
(mm) (mm) stroke Note)
32 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500 1000
40 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500 1900
50 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500, 600 1900
63 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500, 600 1900
80 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500, 600, 700, 800 1900
100 25, 50, 80, 100, 125, 160, 200, 250, 320, 400, 500, 600, 700, 800 1900
125 — 2000

Intermediate strokes are available.
Note) Please consult with SMC for longer strokes.

Accessories
Mounting Basic| Foot Rod Head Singlle Dout?le Cent.er
flange flange clevis clevis | trunnion
Rod end nut (] [ J [ J [ J [ J [ J [ J
Standard —
Clevis pin — — — — — [ —
Piston rod ball joint | @ [ [ J [ (] [ J [ J
Option Rod clevis o [ J [ J [ J [ [ J [ J
Rod boot [ ] [ [ ] [ ] [ ] [ ] [ ]

= Please do not use a piston rod ball joint (or floating joint) together with a single clevis with a ball
joint (or clevis pivot breacket with a ball joint).

Replacement Parts/Seal Kit

Bore size (mm) Kit no. Contents
32 CS95-32
40 CS95-40 Cushion seal
50 CS95-50 Wearing
63 CS95-63 Piston seal
80 CS95-80 Rod seal
100 CS96-100 Tube gasket
125 CS96-125

x Seal kit includes cushion seal, wearing, piston seal, rod seal, and tube gasket. Order the seal
kit, based on each bore size.

x Seal kit includes a grease pack (232 to 950: 10 g, 863, ©80: 20 g, 100, 8125: 30 g). Order with
the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)

42 SMC

O



Air Cylinder: Standard )
Double Acting, Single/Double Rod Series C96

Dimensions
Basic: C96S(D)B |Bore size |- |Stroke |

PL 2 x EE PL g
sSw o
KK
0
| o
— I P
() | (%
= 1% =NIE
w e [11]fa)
SIS} r\_) i ] o0 7 \
= =
I T-1—\
’t:H \II II \
VD| | |Ls \ Cushion
L12 L2 BG 8 x RT valve
A WH G | G
H Ls + Stroke VA
ZZ + Stroke (o)
[+})
Q
o
n
2
o
Basic: C96S(D)B |Bore size|-|Stroke |W n
PL 2 x EE PL
sSwW sw
KK KK
ma () & () o om 0
Q| a \_) 1 = d \_) Ql e
Sy \—— Yy »
—/ / 9
— P
1 3
vD| | |Ls \ Cushion
L12 L2 BG 8 x RT valve |L12|
A WH G| WH + Stroke A
H Ls + Stroke H + Stroke
ZY + 2 x Stroke
T
&}
n
2
o
(771
(mm)
B‘z::'rf]')ze A d'131 BG|D| E | EE | G | H KK |L2| Ls |Le|Li2|PL| R RT |SW|VA|vD|WA |wB |WH| zy | zz
32 |22|30|16 (12| 47 |G1/8|32 48 | M10x1.25 15| 94| 4 | 6 |13 | 325| M6x1 |10 4 |4 | 4 | 7 |26]190 | 146
40 |24|35|16 (16| 54 |G1/4|375| 54 | Mi2x125 |17 |105| 4 | 65|14 | 38 M6x1 |13 4 | 4| 5 | 9 |30]213|163
50 |32|40|16 (20| 66 |G1/4|375| 69| M16x15|24|106| 5 | 8 |155| 465|M8x1.25 17| 4 | 4 | 6 |10.5|37 | 244|179
63 [32|45|16|20| 77 |G3/8 |45 69 | M16x1.5 (24 [121| 5| 8 |165| 565|M8x1.25 |17 | 4 | 4 | 9 |12 [37|259|194
80 |40|45|17 (25| 99 |G3/8 |45 86 | M20x1.5 (30| 128 | — |10 |19 | 72 |M10x15|22| 4 | 4 |11.5|14 |46 300 | 218
100 |40 |55|17 |25 |118 |G 1/2 |50 91 [M20x15|32|138|— |10 |19 | 89 |M10x15|22| 4 | 4 |17 |15 |51 |320 233
125 (54 /60|20 |32 |144|G1/2(58 |119| M27x2 |40|160|— |13 |19 |110 | M12x175 |27 | 6 | 6 |17 |15 |65 |398 | 285

Z;SMC 43



Series C96

Dimensions
Axial foot (L) -
: I - |: I
g ' o T——— (7))
— ? ;h mz:ﬁif:w
! WA
E a ;JD _JFA - {H::dk:j:’
4x0AB p— S
E# |AQ|. SA + Stroke o]

Center trunnion (T)

Z + 1/2 Stroke
XV + 1/2 Stroke

]
|
HH - Ll 7 UWIRG
; @ I ?"ﬂ""g’QJ'T a
E 4:[ : g L E‘h:%jﬁ::‘ % 'EI: T
e i S5
Rod flange (F)
Wi | ; ‘? [» . szag:%j
S —) ‘;L,7 ,,,,, R
W__[MF
Head flange (G) - B

]
el

ZF + Stroke

cD
R R
i i
SH iy [ oy
L |MR
XD + Stroke
Boresize| ¢\ gl an|a0|AT|AB|sA|XxA|TM|TL| TP |uw|L1| xv | z | R |TF|FB|E2 |UF| W |MF|ZF EW L |[MR|xD|EB
(mm) e8 h14 |H14 H9

32 48132 |32|10 [4.5] 7 [142]144|50 |[12|12]| 49|17 | 73 9 |32| 64
40 55|36 |36 |11 [4.5[10 [161[163|63 |16|16| 58 |22 | 82.5|106.5 |36 | 72
50 68|45 (45|12 |55[10 [170[175| 75 |16|16| 71|22 | 90 |122 [45| 90
63 80|50 |50 |12 |5.5[10 [185[190| 90 |20|20| 87|28 | 97.5 | 129.5 | 50 | 100 80120 | 25|12 |170| 70| 40| 4033| 16|20 |16 |190] 90
80 100 |63 |63 | 14 |6.5|12 |210(215]110|20 |20 | 110 |34 | 110 |150 |63 |126|12100|153|30 |16|190| 90|50 | 50205 | 16| 20 |16 |210|110
100 |120|75|71| 16 |6.5|14.5/220|230(132|25 |25 | 136 [40| 120 |160 |75 [150|14 120|178 |35 |16|205|110|60 |60295|20| 25|20 |230140

Max. Max. Max. Max. | Max. 05 Min. Max. Max.
125 157 90 | 90 o5 8 |16 [250(270|160|25 |25 160 501|145 [199 [90(180|16 157 | 204 45120 |245|130| 70 | 70273 | 25 30 | 2% 275 157

50| 79|16 |10 |130| 45|26 | 26232 10| 12| 95|142| 65
55| 90|20 |10 |145| 52|28 |28232| 12| 15|12 |160| 75
70 | 110 |25 [ 12| 155| 60|32 | 3220%| 12| 15 |12 |170| 80

N|© |||

44

O
2



Series C96

Auto Switch Mounting 1

Minimum Stroke for Auto Switch Mounting

&

(mm)
Auto Number of Center trunnion Support bracket other than Center trunnion
switch auto switch 032, 040,
model mounted 032 40 050 063 280 2100 2125 92!50’ 263’ 280, 26100 2125
1 switch, 2 switches
(Different side, 70 75 80 85 95 100 15
D-A9C] Same side)
Other gt 70 +40 (n - 4)/2 75 + 40 (n - 4)/2 80+40 (N-4)/2 | 85+40 (N-4)/2 | 95+40 (nN—4)/2 | 100 + 40 (n - 4)/2 15+ 40 (n - 2)/2
eral. | n=48 12,16 n=4,8 12 16.- n=4,812,16- | n=4,8,12,16-- | n=4,8,12,16-- | n=4,8,12,16-- n=24,6,8"
1 switch, 2 switches|
(Different side, 45 50 55 60 70 75 10
D-A9C1V Same side)
Other at 45430 (n—4)/2 50 + 30 (n—4)/2 55+30 (N-4)/2 | 60+30(N-4)2 | 70+30 (n-4)/2 | 75+ 30 (n-4)2 10 + 30 (n - 2)/2
- | n=4,81216- n=4,812 16 n=4,81216- | n=4,8,12,16-- | n=4,8,12,16-- | n=4,8,12,16-- n=24,6,8"
1 switch, 2 switches|
(Different side, 75 80 85 90 95 105 15
D-M9mI Same side)
[BHAEIONY oreray. | 75+ 40 (=42 80 + 40 (n—4)2 85+ 40 (N—4)/2 | 90+40 (N—4)2 | 95 +40 (n—4)/2 | 105 + 40 (n— 4)2 15+ 40 (n—2)/2
W | n=4,812 16 n=4,812, 16 n=4,81216- | n=4,8,12,16-- | n=4,8,12,16-- | n=4,8,12,16-- n=24,6 8"
1 switch, 2 switches
(Different side, 50 55 60 65 70 80 10
D-MomIV Same side)
DAMOS Other gt 50 + 30 (n - 4)/2 55+ 30 (n—4)/2 60+30 (N-4)2 | 65+30(n-4)/2 | 70+30 (n—4)/2 | 80+30 (n-4)2 10 + 30 (n - 2)/2
- | n=4,812 16 n=4,8 12 16.- n=4,812,16- | n=4,8,12,16-- | n=4,8,12,16-- | n=4,8,12,16-- n=2 4,68
1 switch, 2 switches|
(Different side, 80 85 90 95 100 110 15
D-M9TIA Same side)
Other gt 80 +40 (n-2)/2 85 +40 (n—2)/2 90+40 (N-2)/2 | 95+40 (N-2)/2 | 100 +40 (n-2)/2 | 110 +40 (n - 2)/2 15+ 40 (n - 2)/2
- | n=4,812 16 n=4,812,16-- n=4,812,16- | n=4,8,12,16-- | n=4,8,12,16-- | n=4,8,12,16-- n=24,6,8"
1 switch, 2 switches|
(Different side, 55 60 65 70 75 85 15
D-M9CIAV Same side)
Other gt 55+ 30 (n - 2)/2 60 + 30 (n—2)/2 65+30(N-2)/2 | 70+30(n-2)2 | 75+30(n—-2)/2 | 85+30 (n-2)/2 15 +30 (n - 2)/2
W | n=4,812 16 n=4,812 16 n=4,81216- | n=4,8,12,16-- | n=4,8,12,16-- | n=4,8,12,16-- n=24,6 8"
2 switches
(Different side) 60 65 75 80 85 90 35
2 switches
B (Same side) 90 95 100 105 110 125 100
D-G39 Other qty. 60 +30 (n-2) 65+30 (n-2) 75+30(n-2) | 80+30(n-2) | 85+30(n-2) | 90+30(n-2) 35+30(n-2)
D-K39 (Different side)| n=2,4,86,8 n=24,6 8" n=2,4,68- | n=24,68- | n=2468- | n=24,6 8" n=23, 4
Other gty. | 90+100 (1-2) 95+ 100 (n - 2) 100 +100 (N —2) | 105+100 (n—2) | 110+ 100 (1—2) | 125+ 100 (n-2) 100 + 100 (n - 2)
(Same side) | n=2,4,6,8- n=24,6 8" n=2,4,68- | n=24,68- | n=2468- | n=24,6 8" n=23, 4
1 switch 60 65 75 80 85 90 10
2 switches
(Different side) 70 s 80 85 90 35
2 switches
(Same side) 70 75 80 85 90 55
D-A44 Other qty. 70+30 (n-2) 75+30 (n-2) 80+30(n-2) 85+30(N-2) | 90+30(n-2) 35+30(n-2)
(Different side)| n=2,4,6,8 n=24,6, 8 n=24,6 8" n=2,4,68- | n=2486 8" n=2,3 4.
Other qty. 70+50 (n-2) 75+50 (n—2) 80 +50 (n—2) 85+50(N-2) | 90+50(n-2) 55+ 50 (n—2)
(Same side) | n=2,4,6,8- n=24,6, 8" n=24,6 8 n=24,68- | n=246 8" n=2,3 4.
1 switch 70 75 80 85 90 10
1 switch, 2 switches
(Different side, 60 80 105 110 115 15 20
D-A50 Same side)
Reses Other qty. 60 + 55 (n — 4)/2 80 +55 (N—4)/2 [105 + 55 (n — 4)/2| 110 + 55 (n — 4)/2 115 + 55 (n — 4)/2 15+ 55 (n - 2)/2 20 + 55 (n—2)/2
(Same side) n=4,812 16 n=4,81216- |n=4,8,12,16-| n=4,8,12,16-- n=4,812 16 n=24,6,8- n=24,6,8"
2 switches
(Different side, 60 70 85 110 115 120 20 25
Same side)
[ty Other qty. | 60+55(n—4)2 | 70+55(n—4)2 | 85+55(n-4)2 | 110+55 (n—4)2 | 115 +55 (n—4)2 120 + 55 (n — 4)/2 20+55 (n-2)/2 25+ 55 (n—2)/2
(Same side) | n=4,8,12,16- | n=4,8,12,16 | n=4,8,12, 16 | n=4,8,12, 16 | n=4,8, 12, 16 n=4,812, 16 n=24,68- n=24,6,8-
1 switch 60 70 85 110 115 120 15 25
D-F500 2 switches
D-J501 (Different side, 90 95 110 115 120 130 15 25
D-F50W Same side)
D-J59W Other gty. | 90 +55 (n—4)/2 95 + 55 (n — 4)/2 110 + 55 (N—4)/2 | 115+ 55 (n—4)/2 | 120 + 55 (n - 4)/2 | 130 + 55 (1—4)/2 | 15+ 55 (n - 2)/2 25 + 55 (n—2)/2
D-F5BA (Same side) | n=4,8,12, 16 n=4,8,12, 16 n=4,812,16- | n=4,8,12,16-- | n=4,8,12,16-- | n=4,8,12,16-- | n=2,4,6,8-- n=24,6, 8-
D-F59F 1 switch 90 95 110 115 120 130 10 25
2 switches
(Different side, 100 105 120 125 130 140 15 25 30
Same side)
D-FSNT Other gty. | 100 + 55 (n - 4)/2 105 + 55 (n — 4)/2 120+ 55 (n—4)/2 | 125+ 55 (n—4)/2 | 130+ 55 (1= 4)/2 [ 140+ 55 (n=4)/2 | 15+55 (N=2)/2 | 25+55 (n-2)/2 | 30 + 55 (n-2)/2
(Same side) | n=4,8, 12, 16-- n=4,812 16 n=4,812,16- | n=4,8,12,16-- | n=4,8,12,16-- [ n=4,8,12,16-- | n=2,4,6,8- | n=24,6,8- | n=24,68-
1 switch 100 105 120 125 130 140 10 25 30
D-z700 1 switch, 2 switches|
D-Z80 (Different side, 80 85 90 95 100 105 15
D-Y590] Same side)
D-Y7P Other gt 80 +40 (N-4)/2 | 85+40 (n-4)2 90 +40 (n—4)/2 95 +40 (n-4)/2 | 100 +40 (n - 4)/2 | 105 + 40 (n - 4)/2 15 + 40 (n - 2)/2
D-Y7OW 9% | n=4,81216- | n=4,8 12,16 n=4,812 16 n=4,81216- | n=4,8,12,16-- | n=4,8,12,16-- n=24,6 8"
1 switch, 2 switches|
D-Y690] (Different side, 60 65 70 75 85 10
D-Y7PV Same side)
D-Y7OWV Other gt 60 + 30 (n-4)/2 65 + 30 (n—4)/2 70430 (N-4)2 | 75+30 (n-4)/2 85+ 30 (n—4)/2 10 +30 (n—2)/2
W | n=4,812 16 n=4,812 16 n=4,812,16- | n=4,8,12,16-- n=4,812, 16 n=24,6 8"
1 switch, 2 switches
(Different side, 85 90 100 105 110 115 20
D-Y7BA Same side)
Other gt 85+ 45 (n - 4)/2 90 + 45 (n—4)/2 100 + 45 (n—4)/2 | 105+ 45 (n—4)/2 [ 110 + 45 (n-4)/2 | 115 + 45 (n - 4)/2 20 + 45 (n—2)/2
eraY- | n=4,8,12, 16 n=4,8 12,16 n=4,812,16- | n=4,8,12,16 | n=4,8,12,16- | n=4,8,12, 16.- n=24,6 8-
1 switch, 2 switches|
(Different side, 120 130 140 150 15 20
D-P4DW Same side)
Other gt 120 + 65 (n — 4)/2 130 + 65 (n — 4)/2 140 + 65 (n — 4)/2 150 + 65 (n - 4)/2 15 + 65 (n - 2)/2 20 + 65 (n-2)/2
er aty. n=4,8, 12, 16.- n=4,8, 12, 16.- n=4,8, 12, 16.- n=4,8,12,16-- n=24,86, 8 n=2,4,6 8"

O

SVC

Series C85

Series CP96

Series C96

Series C55



Series C96
Auto Switch Mounting 2

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

A Auto switch = Hs
—nﬂ‘—r_‘ﬁﬁ —I—T—w—
u i [ — — — I} i +
_ ~Ho of ' I i
5 gl =t ] ] ] I ]
) LL —C_o__Jo| J i
= - —1o0 © -pL
{
B
Auto Switch Proper Mounting Position (mm)
Auto D-Z701
switch D-Z
model D-M9C] D-F500W D_Yggm
D-M9IV D-J59W D-A30 | 'veor
D-A90]  [D-MOOIW D-A50] D-F501 D-A44
p-Aomv [D-Moowv | D-ae0 | DA%V | s D-FSNT | p.gag gx;::v D-P4DW
D-M9CIA D-F5BA DK39 | o v7ow
D-M9TIAV D-F59F DY7OWV
D-Y7BA
Bore size A | B|A|B|A|B|A|B|A|B|A|B|A|B|A|B|A|B
32 65| 4 [105| 8 |05 |0 45| 2 | 7 45|12 95(05|0 |4 15 | 35 | 1
40 65| 4 |[105| 8 |05 |0 45| 2 | 7 45|12 95|05 |0 |4 15 | 35 | 1
50 7 | 45|11 85| 1 0 5 25| 75| 5 [125]10 |1 0 |45 |2 |4 1.5
63 7 | 45|11 85| 1 0 5 25| 75| 5 |125]|10 |1 0 |45 |2 |4 1.5
80 10 | 85|14 |125|4 | 25| 8 65(105| 9 [155|14 |4 | 25|75 |6 |7 5.5
100 10 | 85|14 [125|4 |25 | 8 65(105| 9 [155(|14 |4 | 25|75 |6 |7 5.5
125 12 |12 |16 |16 | 6 6 |10 [10 |125|125|175|175]| 6 6 |95]95]|09 9
Note) Adjust the auto switch after confirming the operation to set actually.
Auto Switch Proper Mounting Height (mm)
Auto D-F50]
switeh| 1, ror D-J50) 3535
model| " or D-M9CIV D-A50] D-F59F D-A30 D-ysoo |D-Y69D
D-moow | P-A9CV  [D-MOOWV | D-A60 D-F50W | D-G39 D-Ad4 | Do D-Y7PV D-P4DW
D-M9TAV | D-A59W | D-J59W D-K39 D-Y7OWV
D-M9UIA D-Y7OW
D-F5BA D-Y7BA
D-F5NT

Bore size Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht

32 245 |23 |275 |23 30523 |35 245(325 |25 67 |275| 77 |27.5|255 |23 |26.5|23 38 31

40 285 (255|315 |255 |34 |255|385|27.5|365|275| 715|275 | 815|275|29.5|26 |30 26 |42 |33

50 33.5 | 31 36 |31 38.5 | 31 43.5 | 34.5 | 41 34 77 — | & — |33.5 |31 34.5 | 31 46.5 | 39
63 38536 |405|36 |43 |36 |485|395|46 |39 835| — | 985| — |39 |36 |40 |36 |51.5]|44
80 46.5 |45 |49 |45 |52 |45 |55 |46.5|525|46.5| 925| — [103 — |475|45 |485 |45 |58 |515
100 54 |53.5|57 |53.5|59.5|535]62 55 |59.5 |55 |103 — | 1185 — |55.5|53.5|56.5|53.5|655|60.5
125 65.5 | 64.5 | 68.5 | 64.5 | 71 64.5|71.5 |66.5|70.5|66.5|115 — | 125 — |675|65 |685 |65 |76.5]|72

46



Auto Switch Mounting Series CI96

Auto Switch Mounting Bracket Part No.

Bore size (mm)
032 240 250 263 280 2100 0125

Auto switch model

D-A9C/A9CIV
D-M9CI/MOCIV
D-M9OW/MOOOIWV
D-MOCIA/M9CIAV

D-A300/A44
D-G39/K39

D-A5C1/A601
D-A59W

D-F500/J501
D-F5C0W/J59W BT-03 BT-03 BT-05 BT-05 BT-06 BT-06 BT-08
D-F59F
D-F5BA

D-F5NT » Mounting example for D-A9C1(V),
D-P4DW BMB3T-040|BMB3T-040|BMB3T-050BMB3T-050|BMB3T-080|BMB3T-080| BAP2T-080 MOTI(V), MOCIW(V), MOTIA(V)

D-Z701/Z80
D-Y5901/Y6901
D-Y7P/Y7PV
D-Y7OOW
D-Y7OWV
D-Y7BA

[Mounting screws set made of stainless steel]
The following set of mounting screws made of stainless steel is also available. Use it in accordance with the
operating environment. (Please order the mounting bracket separately, since it is not included.)
BBA1: For D-A5/A6/F5/J5
Note 1) For details on BBA1, refer to page 51.
“D-F5BA” switch is set on the cylinder with the stainless steel screws above when shipped from factory.
When a switch is shipped independently, “BBA1” screws are attached.
Note 2) When using type D-M9CIA(V) or Y7BA, please do not use the iron set screws included with the auto switch
mounting bracket (BMB5-032, BA7-0J0, BMB4-0O00, BA4-0J0) shown above, instead order the set of

BMB5-032 | BMB5-032 | BA7-040 | BA7-040 | BA7-063 | BA7-063 | BA7-080

BMB2-032 | BMB2-040 | BMB1-050 | BMB1-063 | BMB1-080 | BMB1-100 | BS1-125

Series C85

BMB4-032 | BMB4-032 | BMB4-050 | BMB4-050 | BA4-063 | BA4-063 | BA4-080

Series CP96

stainless steel set screws (BBA1), and please use the stainless steel set screws (M4 x 6 L) included in BBAT. &D’
&)
(7))
2
o
Operating Range »
(mm)
. Bore size
Auto switch model
32 | 40 | 50 | 63 | 80 | 100 | 125
D-A9C1/A91V 7 75| 85| 95| 9.5]/10.5|12
D-M9oCI/M9CIV
D-MOCIW/MOCIWV | 4 45| 5 6 6 6 7
D-M9CJA/M9LIAV
D-Z701/Z280 75| 85| 75| 95| 9.5/10.5|13 E’)
D-A5C1/A60] 9 9 |10 |11 |11 |11 |10 &)
D-A59W 13 |13 |13 (14 |14 |15 |17 g
D-A3[1/A44 9 9 |10 |11 |11 |11 |10 'E
D-Y59C1/Y690] @
D-Y7P/Y700V
D-Y7OW/YZOWV 55| 55| 7 75| 65| 55| 7
D-Y7BA
D-F501/J501
D-FSOIW/ISOW 35| 4 | 4 | 45| 45| 45| 5
D-F5BA/F5NT
D-F59F
D-G39/K39 9 9 9 [10 |10 |11 |11
D-P4DW 4 4 4 45| 4 45| 45

x Since this is a guideline including hysteresis, not meant to be guaranteed.
(Assuming approximately +30% dispersion.)
There may be the case it will vary substantially depending on an ambient environment.

SMC 47

O



Series C96
Auto Switch Mounting 3

e |

Besides the models listed “How to Order,” the following auto switches are applicable.
For detailed auto switch specifications, refer to Best Pneumatics No. 2.

1

1

1

1 Type Auto switch model Electrical entry Features
1 D-M9NV, M9PV, M9BV
: D-Y69A, Y69B, Y7PV

1 D-M9NWV, MOPWV, M9BWV Grommet (Perpendicular)
1 D-Y7NWV, Y7PWV, Y7BWV
1 D-M9NAV, MOPAV, M9BAV Water resistant (2-color)
! . . D-Y59A, Y59B, Y7P
I | Solid state switch —
1 D-F59, F5P, J59
1 D-Y7NW, Y7PW, Y7BW
1

1

1

1

1

1

1

1

1

1

1

1

1

Diagnosis indication (2-color)

. Diagnosis indication (2-color)
D-F59W, F5PW, J59W Grommet (In-line)

D-F5BA, Y7BA Water resistant (2-color)
D-F5NT With timer
D-P5DW Magnetic field resistant (2-color)

D-A93V, A96V _ —
Grommet (Perpendicular)

. D-A90V
Reed switch Without indicator light

D-A67, 280 )
Grommet (In-line)
D-A53, A56, 273, Z76 —
x Normally closed (NC = b contact) solid state switch (D-F9G, F9H, Y7G, Y7H type) are also available.
For details, refer to Best Pneumatics No. 2.
* For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.

R |

/\ Specific Product Precautions

] Adjustment

AWarnlng

. Do not open the cushion valve above the stopper.

Cushion valves are provided with a crimp (232) or a retaining ring (240 to 100) as a stopping mechanism, and the cushion valve
should not be opened above that point.

If air is supplied and operation started without confirming the above condition, the cushion valve may be ejected from the cover.

2. Be certain to activate the air cushion at the stroke end.
When it is intended to use the cushion valve in the fully opened position, select a style with a damper. If this is not done, the tie-rods or
piston rod assembly will be damaged.

3. When replacing brackets, use the hexagon wrenches shown below.

Bore size (mm) Width across flats | Tightening torque (N-m)
32,40 4 5.1
50, 63 5 11
80, 100 6 19.2
125 10 30.1

48



Series C96
How to Mount and Move the Auto Switch 1

Tl [oQ=IET CIMl Tie-rod Mounting Type \
X2}
<Applicable Auto Switch> <Applicable Auto Switch> 8
Solid state switch --- D-G39, D-K39 Solid state switch --- D-MON(V), D-M9P(V), D-M9B(V) p
Reed switch ---------- D-A33, D-A34, D-A44 D-MONW(V), D-MOPW(V), D-MOBW(V) | &
D-MONA(V), D-MOPA(V), D-MIBA(V) 3
Reed switch ------ .... D-A90(V), A93(V), A96(V)
How to Mount and Move the Auto Switch How to Mount and Move the Auto Switch
D-A30], D-G3/K3 type ) ) Watchmaker's
’ yp ’:‘Alg(;sxwétzg ;nzuliwtmg screw LJ/ (precision) screwdriver
. Auto switch
Auto switch mounting screw Hexa
gon socket
M5x0.8x 16 L head set screw ® 8
M4 n.
&)
(]
Put the auto switch g
4 the surface of th Q
o Sinder tbe. *
Auto switch .
mL(J)un?ivr:Igcban q Auto switch
Auto switch

mounting
bracket

Auto switch
mounting screw

M5x0.8x16L

Cylinder tube

Series C96

Hook

1. Fix it to the detecting position with a set screw by installing an auto switch
mounting bracket in cylinder tie-rod and letting the bottom surface of an
auto switch mounting bracket contact the cylinder tube firmly.

2. Fix it to the detecting position with a set screw (M4).

(Use a hexagon wrench.)

) 3. Fit an auto switch into the auto switch mounting groove to set it roughly

Auto switch to the mounting position for an auto switch.

mounting band 4. After confirming the detecting position, tighten up the mounting screw
(M2.5 x 0.45 x 4 L) attached to an auto switch, and secure the auto switch.

5. When changing the detecting position, carry out in the state of 3.

Note 1) To protect auto switches, ensure that main body of an auto switch should be
embedded into auto switch mounting groove with a depth of 15 mm or more.

Note 2) Set the tightening torque of a hexagon socket head set screw (M4) to be 1.0
to1.2N-m.

Note 3) When tightening an auto switch mounting screw (M2.5 x 0.45 x 4 L), use a

1. Loosen the auto switch mounting screws at both sides to pull down the

Series C55

hook. watchmaker’s screwdriver with a grip diameter of 5 to 6 mm
2. Put an auto switch mounting band on the cylinder tube and set it at the Also, set the tightening torque to be 0.05 to 0.15 N-m. As a .guide turn 90°
auto switch mounting position, and then hook the band. from the position where it comes to feel tight.

3. Screw lightly the auto switch mounting screw (M5 x 0.8 x 16 L).

4. Set the whole body to the detecting position by sliding, tighten the . .
mounting screw (M5 x 0.8 x 16 L) to secure the auto switch. (The Auto Switch Mounting Bracket Part No.

tightening torque should be about 2 to 3 N-m.) (Including Bracket, Set Screw)
5. Modification of the detecting position should be made in the state of 3. Cylinder Applicable bore size (mm)
series 32 40 50 63 80 100 125
BMB5 | BMB5 | BA7 BA7 BA7 BA7 BA7

Auto Switch Mounting Bracket Part No. (Band) C9% | o35 | 032 | -040 | -040 | -063 | -063 | -080
Cylinder Applicable bore size (mm) Note 1) When using D-MITIA(V) type, please order stainless steel screw set BBA1
series 32 40 50 63 80 100 125 separately (page 51) , and use the stainless steel set screws, after selecting
Co6 BvVB2 | BMB2 | BMB1 | BMB1 | BMB1 | BMB1 BS1 tS:I;IZCareb:)v\?eOf the appropriate length for the cylinder series—as shown in the
-032 -040 -050 -063 -080 -100 125 Note 2) Color or gloss differences in the metal surfaces have no effect on metal
performance.

The special properties of the chromate (trivalent) applied to the main body of
the auto switch mounting bracket for BA7-00 and BMB5-U result in differ-
ences in coloration depending on the production lot, but these have no
adverse impact on corrosion resistance.

SVC 49

O



Series C96

How to Mount and Move the Auto Switch 2

Tl [oQ=IE T CIMl Tie-rod Mounting Type

<Applicable Auto Switch>

Solid state switch -.- D-Y598, Y698, D-Y7P(V)
D-Y7NW(V), Y7PW(V), YZBW(V)
D-Y7BA

Reed switch ---..-. ... D-Z73, Z76, Z80

How to Mount and Move the Auto Switch

<Applicable Auto Switch>
Solid state switch --- D-P4DW

How to Mount and Move the Auto Switch

Watchmaker’s (precision) screwdriver

Hexagon socket head set screw N 2)
M4 x07x6L \8

Auto switch
Auto switch
mounting screw

Auto switch
mounting bracket

Hexagon socket
head cap screw

M4 x0.7x8L

Auto switch
mounting bracket

Auto switch

Hexagon socket
head cap screw
M3x0.5x14L

Note 1) When tightening an auto switch mounting screw, use a
watchmaker’s screwdriver with a handle diameter of 5 to 6 mm.
Also, set the tightening torque to be 0.05 to 0.1 N-m.
As a guide, turn 90° from the position where it comes to feel
tight. Set the tightening torque of a hexagon socket head set
screw (M4 x 0.7 x6 L) tobe 1.0to 1.2 N-m.

1. Fix it to the detecting position with a set screw by installing an auto
switch mounting bracket in cylinder tie-rod and letting the bottom
surface of an auto switch mounting bracket contact the cylinder tube
firmly. (Use a hexagon wrench.)

2. Fit an auto switch into the auto switch mounting groove to set it roughly
to the mounting position for an auto switch.

3. After confirming the detecting position, tighten up the mounting screw
attached to an auto switch, and secure the auto switch.

4. When changing the detecting position, carry out in the state of 2.

= To protect auto switches, ensure that main body of an auto switch should
be embedded into auto switch mounting groove with a depth of 15 mm or
more.

Auto Switch Mounting Bracket Part No.
(Including Bracket, Set Screw)

1. Slightly screw the hexagon socket head cap screw (M4 x 0.7 x 8 L) into
the M4 tapped portion of auto switch mounting bracket. (2 locations)
Use caution that the tip of the hexagon socket head cap screw should
not stick out to the concave portion of auto switch mounting bracket.

2. Put a hexagon socket head cap screw (M3 x 0.5 x 14 L) through the
auto switch's through-hole (2 locations), and then push it down into the
M3 tapped part on the auto switch mounting bracket while turning it
lightly.

3. Place the concave part of the auto switch mounting bracket into the
cylinder tie-rod, and slide the auto switch mounting bracket in order to
set roughly to the detecting position.

4. After reconfirming the detecting position, tighten the M3 mounting
screw to secure the auto switch by making the bottom face of auto
switch attached to the cylinder tube. (Tightening torque of M3 screw
should be 0.5 t0 0.7 N-m.)

5. Tighten up M4 screw of auto switch mounting bracket to secure the
auto switch mounting bracket. (Ensure that tightening torque of M4
screw should be set 1.0 to 1.2 N-m.)

Auto Switch Mounting Bracket Part No.
(Including Bracket, Screw)

Cylinder Applicable bore size (mm)
series 32 40 50 63 80 100 125

Cylinder Applicable bore size (mm)

series 32 40 50 63 80 100 125

C96 BMB4 | BMB4 | BMB4 | BMB4 | BA4 BA4 BA4
-032 -032 -050 -050 -063 -063 -080

C9% BMB3T | BMB3T | BMB3T | BMB3T | BMB3T | BMB3T | BAP2T
-040 -040 -050 -050 -080 -080 -080

Note 2) When using D-Y7BA type, please order stainless steel screw set
BBAT1 separately (page 51), and use the stainless steel set
screws, after selecting set screws of the appropriate length for the
cylinder series — as shown in the table above.

50

O




How to Mount and Move the Auto Switch Series 096

T il [oQ=IET CIlMl Tie-rod Mounting Type \

<Applicable Auto Switch>
Solid state switch ... D-F59, D-F5P
D-J59, D-J51, D-F5BA
D-F59W, D-F5PW, D-J59W
D-F59F, D-F5NT
Reed switch ----.-...... D-A53, D-A54, D-A56, D-A64, D-A67
D-A59W

%\ Auto switch mounting screw (M4)

Series C85

1. Fix the auto switch on the auto switch mounting bracket with the auto
switch mounting screw (M4) and install the set screw (M4).

2. Fit the auto switch mounting bracket into the cylinder tie-rod and then
fix the auto switch at the detecting position with a set screw (M4).
(Be sure to put the auto switch on the surface of cylinder tube.) (Use a
hexagon wrench.)

3. When changing the detecting position, loosen the set screw to move
the auto switch and then re-fix the auto switch on the cylinder tube.
(Tightening torque of M4 screw should be 1.0to 1.2 N-m.)

Series CP96

Auto Switch Mounting Bracket Part No.
(Including Bracket, Screw, Set Screw)

Cylinder Applicable bore size (mm)
series 32 40 50 63 80 100 125

C96 BT-03 | BT-03 | BT-05 | BT-05 | BT-06 | BT-06 | BT-08
The following set of mounting screws made of stainless steel (including set screws) is
also available. Use it in accordance with the operating environment.

(Please order the auto switch mounting bracket separately, since it is not included.)

BBA1: For D-A5/A6/F5/J5 g
“D-F5BA” switch is set on the cylinder with the stainless steel screws above when Q
shipped from factory. »
When a switch is shipped independently, “BBA1” screws are attached. Q

o
(/7]
Auto Switch Mounting Screw Set
Contents Applicable auto switch : f
T Description Size Quantity mounting bracket part no. Applicable auto switch
1 Auto switch mounting screw M4 x0.7x8L 1 BT-00O D-A5. A6
BT-03, BT-04, BT-05 D-F5’ Js
BT-06, BT-08, BT-12 ’
BA4-040, BA4-063, BA4-080 D-z7, 728
2 Set screw M4x0.7x6L 2 | BMB4-032, BMB4-050 D-Y5, Y6, Y7
BMB5-032 D-A9 R
BBA1 BA7-040, BA7-063, BA7-080 D-M9 Q
BT-16, BT-18A, BT-20 D-AS, 76 »
’ ’ D-F5, J5 Q9
BS4-125, BS4-160 D-Z7, Z8 S
8 Set screw M4x0.7x8L 2 | Bs4-180, BS4-200 D-Y5, Y6, Y7 o
BS5-125, BS5-160 D-A9
BS5-180, BS5-200 D-M9
Note) Use the set screw after selecting the appropriate length for the auto switch mounting bracket.

O

51




Series CP96/C96
Auto Switches Connection and Example

Basic Wiring

Solid state 3-wire, NPN Solid state 3-wire, PNP  2-wire (Solid state) 2-wire (Reed switch)

--------------------------------------------------- Brown m----------------Brown
Load

Indicator

h h h h i
: : : : ﬂ—-T | Load |
I I I I I
1 [Main ' [Main ' [Main ! , ,
I |curcuit — & |curcuit = 1 |curcuit | protection| | ~
1 [of switch ! [of switch ! |of switch ! cireuit, !
' ' ' | ' etc. '
I I I I
I I I I
fmmmmmmmmm e fmmmmmmmmm e fmmmmmmmmm e ' Blue fmmmmmmmmm e ' Blue
(Power supply for switch and load are separate)
---------------------------------- Brown -----------------Brown

Main Main
of switch of switch

|
l E Indicator !
! protection| ! -
' circuit, !
! etc. !
: O

h h
| |

| |

| |

| |

' . | .
+|curcuit - 1+ |curcuit
| |

| |

| |

| |

| |

Example of Connection with PLC (Programmable Logic Controller)

*Sink input specifications * Source input specifications Connect according to the applicable PLC
Wi Wi input specifications, as the connection
3-wire, NPNBIak Y 3-wire, PNF:BIak S —— method will vary depending on the PLC

input specifications.

Auto switch Auto switch

|_

2-wire 2-wire

Brown INput = A KT Blue T by W
O Q O 0

Auto switch

Auto switch

O O
Blue COM --------------- Brown COM =---mmmmmmmm e
PLC internal circuit PLC internal circuit

Example of AND (Series) and OR (Parallel) Connection

* 3-wire
AND connection for NPN output AND connection for NPN output OR connection for NPN output
(Using relays) (Performed with auto switches only)
Brown Load Brown Brown
- Black |_I - Black |_T - Black _-_I
[Auto switch 1 e LRI < Relay [Auto switch 1 @ Load Blue
A1 contact A4 £
Brown T i Brown T Brown T
. Black |_] , Black [Auto swich 2] < Black
|Auto switch 2 %{ Relay ‘ Blue Auto switch 2 Blue

The indicator lights will light up when
both auto switches are turned ON.

* 2-wire
2-wire with 2-switch AND connection 2-wire with 2-switch OR connection
When two auto switches (Solid state auto switch)  (Reed auto switch)
Brown are connected in series, a Brown When two auto switches Because there is no
load may malfunction are connected in parallel, current leakage, the load
because the load voltage Blue malfunction may occur voltage will not increase
will decline when in the ON because the load voltage when turned OFF.
state. will increase when in the However, depending on
- The indicator lights will light - B OFF state. the number of auto
up when both of the auto. roun switches in the ON state,
Blue switches are in the ON Blue the |nc§|cator Ilghts_may
state. sometimes grow dim or
not light up, due to the
Load voltage at ON = Power supply voltage — Residual voltage x 2 pcs. Load voltage at OFF = Leakage current x 2 pcs. x Load impedance dispegrsionpand reduction
=24V -4V x 2 pes. =1mAx2pcs. x 3kQ of the current flowing to
=16V =6V the auto switches.
Example: Power supply is 24 VDC Example: Load impedance is 3 kQ.
Internal voltage drop in auto switch is 4 V. Leakage current from auto switch is 1 mA.

>z SvC

O



Series CP96/C96
Accessories

Cylinder Mounting Accessories/Part No.

Rod/Head flange

o 4 8 &
N

Double clevis
(Corresponds to E accessory)

——
Bore )
size ‘.\[g: J )/,f
(mm) G
OB T @°
Supplied with 4 screws.
Supplied with 4 screws. * Supplied with 4 screws, clevis pin, and safety device. Plain With ball joint
32 F5032 D5032 C5032 CS5032
40 F5040 D5040 C5040 CS5040
50 F5050 D5050 C5050 CS5050
63 F5063 D5063 C5063 CS5063
80 F5080 D5080 C5080 CS5080
100 F5100 D5100 C5100 CS5100
125 F5125 D5125 C5125 CS5125
Page 44 for dimensions. Page 54 for dimensions. Page 54 for dimensions.
Foot E Double clevis Clevis pivot bracket E Clevis pivot bracket
_ (for ES accessory) with ball joint
= - |
L. N. | 74
Bore T U\
size 4 | @ \
(mm) = T = —: -
T N
=== JIRRLC )
Supplied with 2 pieces and 4 screws.
32 L5032 DS5032 ES5032 E5032
40 L5040 DS5040 ES5040 E5040
50 L5050 DS5050 ES5050 E5050
63 L5063 DS5063 ES5063 E5063
80 L5080 DS5080 ES5080 E5080
100 L5100 DS5100 ES5100 E5100
125 L5125 DS5125 ES5125 E5125

Page 44 for dimensions.

Page 55 for dimensions.

Page 55 for dimensions.

Page 54 for dimensions.

Piston Rod Mounting Accessories/Part No.

Bore
size
(mm)

- E

Rod clevis
(1SO 8140)

gtFT n

N\
—

Supplied with clevis pin and safety device.

Piston rod ball joint
(ISO 8139)

Floating joint

SE,

32 GKM10-20 KJ10D JA30-10-125
40 GKM12-24 KJ12D JA40-12-125
50 GKM16-32 KJ16D JA50-16-150
63 GKM16-32 KJ16D JA50-16-150
80 GKM20-40 KJ20D JAH50-20-150
100 GKM20-40 KJ20D JAH50-20-150
125 GKM30-54 KJ27D JA125-27-200

Page 56 for dimensions.

Page 56 for dimensions.

Page 56 for dimensions.

53 ®

Series C85

Series CP96

Series C96

Series C55



Series CP96/C96

Dimensions: Cylinder Mounting Accessories

Single clevis (C)

Double clevis (D)

ez
CEt L UB hi4 FL
Ew £ CB H14 2
v N - ki : T -
Fany 44
o] 1 1® P RE iz
o 2 ~ | = | 2 - HE:
| - T | L : |
: g @ : - (O]
4 . £ t:- A | e- < I
> ' % L & ! % L [
4 4
B‘zrnf;')ze Ei EW | TGi | FL | & L ¢2 | odi |oCD | MR | od2 | Ri E2 UB | CB
32 45 | 26782 | 325| 22 5 12 55 | 30 10 95| 66| 65 48 45 | 26
40 51 28792 | 38 25 5 15 55| 35 12 | 12 66| 65 56 52 | 28
50 64 | 32352 | 465 | 27 5 15 6.5 | 40 12 | 12 9 8.5 64 60 | 32
63 74 | 4052 | 565 | 32 5 20 6.5 | 45 16 | 16 9 8.5 75 70 | 40
80 94 5002 | 72 36 5 20 | 10 45 16 | 16 11 11 95 90 | 50
100 113 6002 | 89 41 5 25 | 10 55 20 | 20 11 12 115 110 | 60
125 Max.157 | 70 93 | 110 50 7 30 | 10 60 25 | 26 135 | 10 | Max.157 | 130 | 70
Clevis pivot bracket (E)
EM 82 L LI
- [u;]
4 v
R Q
— | @d2 a
l3 | e
141 |
I
[(]
2S5 S| I
B K2
Boresize | 4, | oCK | 0S5 | Ki | K2 | ¢s | Gi | ¢+ | Ge | EM | Gs | CA | He | R
(mm) max. | max. max.
32 11 10 6.6 | 38 51 | 10 | 21 7 18 | 2632 | 31 32 8 | 10
40 11 12 6.6 | 41 54 | 10 | 24 | 9 22 | 2832 | 35 | 36 10 | 11
50 15 12 9 50 65 | 12 33 | 11 30 | 3252 | 45 45 12 | 12
63 15 16 9 52 67 | 14 37 | 11 35 | 4052 | 50 50 12 | 15
80 18 16 | 11 66 86 | 18 | 47 | 125 | 40 |5032 | 60 | 63 14 | 15
100 18 | 20 | 11 76 96 | 20 | 55 | 135 | 50 |[6032 | 70 | 71 15 | 19
125 20 | 25 | 14 94 | 124 | 30 | 70 | 17 60 | 7092 | 90 | 90 | 20 | 225
Single clevis with ball joint (CS)
L
I’L‘I Boresizel o | B | ¢ |oDwr| EN|ER |oFun| oE | L |[oM| N [P | H
— (mm) max, -01 |max. 05
@ i @ 32 | 325|105|22| 10 | 14 | 15 | 30 | 66 45|105] 65| 5 | —
T 40 | 38 (12 |25|12| 16|18 |35 | 66| 55|11 | 55|5 | —
SIS A e | B —@jﬁ 50 | 465|15 |27|16| 21|20 (40| 9 | 65|15 | 65| 5] 51
- 63 | 565/15 [32]| 16|21 |23 [45| 9 | 75(15 | 65|5 | —
@5 | @@ 80 |72 |18 [36|20 (25|27 |45 |11 | 95(18 |10 |5 | 70
| B 100 | 89 (18 |41|20| 25|30 |55 |11 11518 |10 |5 | —
EN 125 110 |25 | 50|30 |37 | 40 | 60 13514020 |10 | 7 |100
H * Black color
2 S\NC



Accessories Series CP 96/ 096

Dimensions: Cylinder Mounting Accessories

Double clevis (DS)
2 CNE7 T£0.2 B1 H14 S
QO
4 } 0
o NIV 2
T \ :?z ! ~ o
g ST @
L '(2 1 H | . M
ofE i : 9-‘
P 7N
m Q1D
L+0.3 : I
N C2+0.5 LS
L H
©
- (2})
800 S E Bi | B2 | Bs | Li |TGi | T ) ¢2 | FL | H | odi | od2 | ods | eCN| SR | R Q.
(mm) min. max. max. Q
32 45 14 34 3.3 11.5 32.5 3 5 55 22 10 30 10.5 6.6 10 11 17 8
40 55) 16 40 4.3 12 38 4 5! 55 25 10 35 11 6.6 12 13 20 %
50 65 21 45 4.3 14 46.5 4 5 6.5 27 12 40 15 9 16 18 22 »
63 75 | 21 51 43 | 14 56.5 | 4 5 65 | 32 12 45 | 15 9 16 18 25
80 95 25 65 4.3 16 72 4 5 10 36 16 45 18 11 20 22 30
100 115 25 75 6.3 16 89 4 5! 10 41 16 55) 18 11 20 22 32
125 140 37 97 6.3 24 110 6 7 10 50 20 60 20 13.5 30 30 42
* Black color
- - - - - m
Clevis pivot bracket with ball joint (ES) 8
V]
EN .1 g
L.
EU G1 %
' &

oN H7
5
>

I
| | | & |
[ [ V f © Tt T+ © l'j%
= = [ I T
I L] | ! | Q
@85 e
G2 =
K1 3
G3
K2
Boresize | s | oCN | 0Ss | Ki | K2 | ¢2 | Gi | Ge | Gs | EN | EU | CH | Hs | ER
(mm) max. max. max.
32 11 10 6.6 38 51 8.5 21 18 31 14 10.5 32 10 15
40 11 12 6.6 41 54 8.5 24 22 35 16 12 36 10 18
50 15 16 9 50 65 10.5 33 30 45 21 15 45 12 20
63 15 16 9 52 67 10.5 &7 35} 50 21 15 50 12 23
80 18 20 11 66 86 11.5 47 40 60 25 18 63 14 27
100 18 20 11 76 96 12.5 55} 50 70 25 18 71 15 30
125 20 30 13.5 94 124 17 70 60 90 37 25 90 20 40
+ Black color

55



Series CP96/C96

Dimensions: Piston Rod Mounting Accessories

Floating Joint JA

h

oF

H

(RN

= i
- | ] = 2 m
4 S I %
U Y T;?é,— R = ’
B |
G E G
P
A
Bore size (mm) M Part no. A B (& oD E F G H P U |[Load (kN)|Weight (g)] Angle
32 M10x1.25 | JA30-10-125 | 495| 195 | — | 24 5 8 8 17 9 |05 25 70
40 M12x1.25 | JA40-12-125 | 60 | 20 — | 31 6 11 | 11 22 13 | 0.75 4.4 160
50, 63 Mi6x1.5 |JA50-16-150 | 71.5| 22 — |41 75| 14 | 135 | 27 15 | 1 11 300 | +0.5°
80, 100 M20x 1.5 | JAH50-20-150 | 101 | 28 31 | 595 | 115 | 24 | 16 32 18 | 2 18 1080
125 M27 x2 | JA125-27-200 | 123 | 34 38 | 66 13 27 | 20 41 24 | 2 28 1500
* Black color
Rod Clevis GKM (ISO 8140), Supplied with clevis pin and Safety Device
4
@f  h1
. d
!
i)
1 L
[ \Y _—
(1] 0 } @
g IS — |
. c |
Bore size of n11 | of Ho c a
(mm) € Part no. & z (Shaft) | (Hole) & min. max.
32 M10x 1.25 | GKM10-20 | 10 33, 40 10 10 52 20 20
40 M12x1.25 | GKM12-24 | 12133, 48 12 12 62 24 24
50, 63 M16x1.5 | GKM16-32 | 16 7035 64 16 16 83 32 32
80, 100 M20x 1.5 | GKM20-40 | 20 75335 80 20 20 105 40 40
125 M27 x2 | GKM30-54 | 30 33 110 30 30 148 54 55
Piston Rod Ball Joint KJ (ISO 8139)
@d1,H9
[4 // \
N , B \/ P
——\] - 7
h
Bo(::]arzi)ze ds Partno. |edine | h "g?( b1 n12 nﬁn_ o 173
32 M10 x 1.25 KJ10D 10 43 28 14 20 4° 15
40 M12 x 1.25 KJ12D 12 50 32 16 22 4° 17
50, 63 M16 x 1.5 KJ16D 16 64 42 21 28 4° 23
80, 100 M20 x 1.5 KJ20D 20 77 50 25 33 4° 27
125 M27 x 2 KJ27D 30 110 70 37 51 4° 36
>0 ZS\NC



ISO Standards

Compact Cylinder
Double acting, Single Rod

Series C55

020, 625, 032, 940, 350, 563, 280, 3100

How to Order

B cs5(Bl20-[10

| 1]

[ cD55(B20/-[10] ]-[M9B[S

lNumber of auto switches

With auto switch

(Built-in magnet) "g' 212005'
n “n” pcs.
Mounting
B | tapped sommon (Standard) ¢ Auto switch
= PP Foot style [ Nil [ Without auto switch (Built-in magnet cylinder) |
F Rod side flange style * Eglro tvlce applicable auto switch model, refer to the table
G Hea.d side flahge style = Auto switches are shipped together, (but not assembled).
Cc Single clevis style
B . e Rod end thread
ore size é Nil | Rod end female thread
;g gg mm M Rod end male thread
mm :
32 32 mm # A rubber bumper comes as standard.
gg gg mm e Cylinder stroke (mm)
63 mm Refer to page 58 for standard
63 mm and intermediate strokes.
80| 80mm
100| 100 mm

Applicable Auto Switches/Refer to Best Pneumatics No. 2 for further information on auto switches.

Electrical | S = Wiring Load voltage Auto switch model | Lead wire length (m) ]Pre wired
. - © = - .
Type| Special function entry "('E)g (Output) DC AC  |Pemendicular| In-line (?\l |£I_>) ( |\1/I ) (E) (g) I\(k’)\?f e Applicable load
3-wire (NPN) 5V, MONV MON @ ® ®@ O|—| O IC circuit
— 3-wire (PNP) 12V M9PV MP © @ ® O —| O
S 2-wire 12V M9BV | M9B (@ ® ® O|—| O —
s 3-wire (NPN) 5V MONWV | MONW @ @ | @ O|—| O o
® | Diagnostic indication 3wire (PNP 12V MOPWV | M9PW (@ | ® (@O o |'Ccircuit
% (2-color indication) | Grommet | Yes -W|re(. ) 24V _ 9 9 — Relay,
£ 2-wire 12V M9BWV | M9BW @ (@ (@ O|—| O — | PLC
o W _ 3-wire (NPN) 5V, “*M9NAV| **MONA | O[O |@ | O|—| O C circuit
©° ater resistant : — circui
@ | (2-color indication) 3-wire (.PNP) 12V *MOPAV **I‘MQPA O|0O|@®@|O O
2-wire 12V **M9BAV| **M9BA | O |O | @ | O |—| O
e e oot 2wite (Nor-polar) — = P3IDW (@|— @@ —| @ -
o5 Ves (NPNEqumaieny| — | 5V | — | A9V | A% |@|—|®@|—|—| — |[ICcircuit] —
§-‘§ — Grommet 2-wire PYRY 12V | 100V | A93V A93 o —\ 0 —|—| — — Relay,
Z No 5V,12V[100Vorless) A90V A0 |@|—|®|—|—| — |[ICcircuit| PLC

=+ \Water resistant type auto switch can be mounted to the models with the above mentioned part numbers, but this does not guarantee the water resistance
of the cylinder.

Lead wire length symbols: 0.5 M-« Nil (Example) MONW * Solid state auto switches marked with a “O” are produced upon receipt of order.
1im- -+ M (Example) MONWM
21 BRI L (Example) MONWL
5meceeeeeees Z (Example) MONWZ

* There are other applicable auto switches other than the listed above. For details, refer to Best Pneumatics No. 2.
x For details about auto switches with pre-wired connector, refer to Best Pneumatics No. 2.
* For details about D-P3DWL type, refer to the D-P3DWLU series catalog (CAT.ES20-201).
* Auto switches are shipped together, (but not assembled).
sMC >

O

Series C96 Series CP96 Series C85

Series C55




Series C55

/\ Caution

Be sure to read before handling.

(DRefer to back cover for Safety Instructions and
“Handling Precautions for SMC Product”
(M-E03-3) for Actuators and Auto Switches
Precautions.

(@)This product should not be used as a stopper.

(3Use the PF thread fittings for this cylinder.

Mounting Bracket Part No.

Specifications
Type Pneumatic (Non-lube)
Action Double acting, Single rod
Fluid Air
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa

Minimum operating pressure

0.05 MPa (920 to 963), 0.03 MPa (280, g100)

Ambient and fluid temperature

Without auto switch: —10 to 70°C (No freezing)
With auto switch: —10 to 60°C (No freezing)

Cushion Rubber bumper on both end
N +1.0
Stroke length tolerance Note) 0" mm
Piston speed 220 to 063 50 to 500 mm/s
P 080, 3100 50 to 300 mm/s

Note) Stroke length tolerance does not include the amount of bumper change.

Standard Stroke

Bore size (mm)

Standard stroke (mm)

20 to 63

5,10, 15, 20, 25, 30, 35, 40, 45, 50, 60, 80, 100, 125, 150

80, 100

10, 15, 20, 25, 30, 35, 40, 45, 50, 60, 80, 100, 125

Manufacture of Intermediate Stroke

Dealing with the stroke by the 1 mm interval by using an exclusive body

DEEEHIFE with the specified stroke
Bore size Single
(mm) Foot Flange cllggis Part no. Refer to “How to Order” for the standard model no. (page 57)
20 | C55-L020 | C55-F020 | C55-C020 Stroke range 610 149
25 | C55-L025 | C55-F025 | C55-C025 ERR Part no.: C55832-47
32 | C55-L032 | C55-F032 | C55-C032 Makes 47 stroke tube
40 | C55-L040 | C55-F040 | C55-C040
50 | C55-L050 | C55-F050 | C55-C050 Weight
63 | C55-L063 | C55-F063 | C55-C063
Without Auto Swtich Unit;
80 | C55-L080 | C55-F080 | C55-C080 _ i - =
100 | C55-L100 | C55-F100 | C55-G100 Bore size ol s ok M
S f (mm) | 5 10|15 |20 |25 |30 (35|40 45|50 60|80 |100]125|150
¢ Order two foot brackets per cylinder.
« Parts belonging to each bracket are as follows. 20 | 111 124] 137| 150| 163 176] 189| 202| 215| 228/ 254| 306| 357| 422| 487
Foot, Flange, Single clevis/Body mounting bolt 25 152 | 168| 183| 199| 214| 230| 246| 261| 277| 292| 323| 386| 448| 526| 603
] 32 [250| 273| 295| 317| 339 362| 384| 406| 428| 451| 495| 584| 673| 785| 896
Replacement Parts/Seal Kit 40 |315| 339| 364| 388| 412| 436| 461| 485| 500| 533| 582| 679 776| 897|1018
50 |497| 534| 570| 607| 644 681| 718| 755| 791| 828| 902|1049|1197|1381|1565
Bc;:ﬁri;ze Kit o, Contents 63 |677| 717| 757| 797| 837| 877| 917| 957| 997|1037|1117|1277|1437| 1638 1838
80 | — |1164[1223(1281(1339]1398 | 1456|1514 |1573| 1631|1748 | 1981|2214 2506 —
20 CQ2B20-PS
100 | — [2213]2295|2377| 2459|2541 | 2623 | 2705 | 2787 | 2870 | 3034 | 3362 | 3690 | 4101 —
25 CQ2B25-PS : - .
32 CQ2B32-PS With Auto Switch (Built-in magnet) Unit: g
40 CQ2B40-PS Ei%(tjo?\e:éal Bore size Cylinder stroke (mm)
50 CQ2B50-PS | Type gasket mm) | 5 [10]15|20|25|30|35]40]45]50]60]80][100]125]150
63 CQ2B63-PS 20 | 113 126| 139| 152 165| 178| 191| 204| 216| 229| 255| 307| 359| 424| 489
80 CQ2B80-PS 25 | 154 | 170| 185| 201| 217| 232| 248 263 279| 204| 325| 388| 450| 528| 606
100 | CQ2B100-PS
32 | 254 | 277| 299| 321| 343| 366| 388| 410 432| 455 499| 588 677| 788 900
40 | 319 | 344| 368 392| 416| 441| 465| 489 513| 537| 586| 683 780 901[1022
50 | 502 | 539 575| 612| 649| 686| 723| 760| 796| 833] 907|1054]1202/13861570
63 | 685 | 725 765| 805 845 885| 925 965/1005(1045(1125/1285(1445/1645| 1845
80 | — |1188[1246(1305(13631421|1480(1538|1596]1654|1771|2004|2238[2529| —
100 | — [22482330[2412]2494|2577]2659/2741(2823(2905|3069[3397(3726|4136] —
Add each weight of auto switches and mounting brackets when mounting an auto switches.
Refer to Best Pneumatics No. 2 for auto switch weight.
58

ZS\VC




Compact Cylinder .
Double acting, Single Rod Series 055

Dimensions (With and without auto switch are the same size)

020, 025
@OB depth of counterbore RB (4 positions) M5 x 9'8 (2 positions) Auto switch
- Port size 0
(The same four-place size) - o
5.5 H thread effective depth C Q 0 3 Q
2 S8 n
58 2
o| i
T T O & Q
(A / o /3 »n
/ 52
T L) 3|
w Q . <o
S —_— z|<
|  — ﬁ = —_
220 @ OA (4 positions) | ©
« 4 pes. (The same four-place size) g:
2x4xRA (RB) o
' 1]
L B + Stroke Q
E o
A + Stroke n
225
Width across flats K M: Rod end male thread &%
(&
0
T T Q
(N iy E
(7]
— (e
o II ] -
Q
Hexagon width —
across flats B1 H1
Rod end nut c
p)
p)
L1 0
0
Q
o
(/7]
Rod End Male Thread (mm)
Bore size
(mm) B1 C D H H1 K L X
20 13 14 10 M8 x 1.25 5 8 22 16
25 13 14 12 M8 x 1.25 5) 10 22 16
Standard Type (mm)
Bo('rﬁrﬁl)zeABCDEFHIKLMNOAOBQRARBT
20 43 37 10 10 36 55 |[M6x1.0| 43 8 6 22 45 |M5x08| 7.5 13 10 5 0.8
25 45 39 10 12 40 55 |[M6x1.0| 48 10 6 26 45 |[M5x0.8| 7.5 13 10 5 0.8

Z;SMC 59



Series C55

Dimensions (With and without auto switch are the same size)

032 to 963

@0B depth of counterbore RB (4 positions)

z

(The same four-place size)

H thread effective depth C

-

G1/8 (2 positions)
Port size

Q

Auto switch

oN through (4 positions)
(The same four-place size)

/ Flat washer

OA (4 positions)

4 pcs. (The same four-place size)
2x4xRA (RB)
E L B + Stroke
A + Stroke
Width across flats K
M: Rod end male thread
T i T T 1 T
I A
8 = 1
Hexagon width o —
across flats B1 H1
Rod end nut c
X
L1
Rod End Male Thread (mm)
Bore size
(mm) B C D H H1 K L1 X
32 17 |165| 16 |[M10x125| 6 | 14 | 26 | 19
40 17 [16.5| 16 | M10x1.25| 6 14 | 26 19
50 19 |195| 20 |M12x1.25| 7 17 | 30 | 22
63 19 |195| 20 |M12x1.25| 7 17 | 30 | 22
Standard Type (mm)
B‘Z:ﬁrﬁ')zeABCDEF H Il |J|K|L|M|N OA OB| Q |[RA|RB| T | Zz
32 51 | 44 | 12 | 16 | 46 | 85| M8x1.25| 59 2 14 7 |325/ 55| M6x1.0 9 (145 11 5 1 15
40 52 | 45 | 12 | 16 | 52 | 95| M8x1.25| 67 8 14 7 |38 55| M6x1.0 9 (145 11 5 1 17
50 53 | 45 | 16 | 20 | 64 |10.5|M10x15 | 82 | 2 | 17 | 8 |46.5| 6.6 | M8x1.25 (105|135 15 | 5 | 1.6 | 17
63 57 | 49 | 16 | 20 | 74 |145| M10x 1.5 96 3 17 8 [56.5/ 6.6 | M8x1.25 |10.5|/15.5| 15 5 16 | 17
60
% SMC



Compact Cylinder .
Double acting, Single Rod Series C55

Dimensions (With and without auto switch are the same size)
080, 100

M12 x 1.75 effective depth 21 Q Auto switch F

€=
Series C85

2xG1/8

WA\

I il | I 8
I ) f— _ Q
N B 8 &)
\M1O x 1.5 effective depth 20 (4 positions) | .2 $ _3
(The same four-place size) 2| & =
o o ‘}’)
10 B + Stroke =5
E 25 A + Stroke '§: “g
i
213.5 depth of counterbore 5 (4 positions) f g
(The same four-place size) ® é
M: Rod end male thread ©
3
Width across flats K 7
D
Hexagon width <
across flats 24 )
[a) ; % ,
Q
2 § \
- [ lI
x
2]
g | Ho 105
25 O
(/)
28 Q
o
38 B + Stroke N
A1 + Stroke
Standard Type (mm) Rod End Male Thread (mm)
Bore size Bore size
(mm) A B (o3 D E F | K M Q Z (mm) Ai
80 64 54 11 25 91 15 121 22 72 19 36 80 92
100 77 67 14 30 111 18 145 27 89 26 42 100 106.5

61



Series C55

Mounting Bracket

Foot bracket

Flange bracket

Hexagon socket
head cap screw

(Accessory)
2 x oFD 4 x gFD
M z} ©
Hexagon socket +
L2 head cap screw -@- @- N @
z( af (Accessory) 7_6}_7 N xS S
=
I - B 2xoLD
r "l <> i '@' @- i i
— R )
- 5 <
LX -
220, 925
LZ Y| X ’ al
‘ M
FV
23210 2100
(mm) (mm)
f Hexagon f Hexagon
eS| L [LD | LH LT X [z | M | R | X | v e, BOes2® | p | m |FD|FL|FT|FV|FX|FY|FZ | w25
screw screw
20 22 7 |27 4 | 22| 36|22 8 | 16 7 M5 20 16 |22 | 66|28 | 8| 38| 55| — | 68 M5
25 22 7 |29 4 |26 | 40|26 |10 | 16 7 M5 25 16 |26 | 66(28| 8| 38| 60| — | 73 M5
32 245| 7 |335| 4 | 32| 46|325|15 | 16 7 M6 32 30 (3257 |5 10 | 50| 64| 32 | 79 M6
40 26 (10 (38 4 | 36 | 52|38 |17.5| 18 9 M6 40 35 (38 |9 |5 10 | 55| 72| 36 | 90 M6
50 31 (10 (45 5 | 45| 64|465|20 | 21 9 M8 50 40 |465| 9 |6 12 | 70| 90| 45 | 110 M8
63 31 (10 (50 5 | 50 | 74 |56.5|22.5| 21 9 M8 63 45 |565| 9 |6 12 | 80100 | 50 | 120 M8
80 38.5(12 |63 6 63| 9|72 | — |26 | 11 | M10 80 45 |72 |12 | 8 16 | 100|126 | 63 | 153 | M10
100 45 |145|74 6 | 75|116|89 | — | 27 | 13 | M10 100 55 (89 (14 |8 16 (120|150 | 75 [178| M10
Single clevis bracket
CcL Hexagon socket head cap screw
(Accessory)
@CD hole ke @
[T
8= i
-i L[]
sl g
CX3%
CuU M
CW |[RR Ccz
(mm)
a Hexagon
B CDr| CL | CU |cw | Cx | CZ | M | RR | 25,
screw
20 8| 3 12 | 20 | 16 35 |22 9 M5
25 8| 3 12 | 20 | 16 | 40 |26 9 M5
32 10 | 65| 12 | 22 | 26 45(32.5| 9.5 M6
40 12 | 55| 15 | 25 | 28 5138 |12 M6
50 12 | 65| 15 | 27 | 32 64 [46.5|12 M8
63 16 | 65| 20 | 32 | 40 | 74 |56.5|16 M8
80 16 |10 20 | 36 | 50 94|72 |16 M10
100 20 |10 25 | 41 | 60 | 113 (89 |20 M10
62

O



Series C55

Auto Switch Mounting 1

Proper Auto Switch Mounting Position (Detection at Stroke End) and Its Mounting Heig_ht

Reed auto switch | Solid state auto switch
D-M9L]
D-M9L1wW
D-M9LIA
D-P3DWL]

D-A9L]

232, 040, 950, 063, 80, 2100

020, 025

= Figures in the table below are used as a reference when mounting the auto switches for stroke end detection.

In the case of actually setting the auto switches, adjust them after confirming their operation.

(mm)
Auto switch
D-M9[]
model D-A9[] D-M9CIW D-M9CIA D-P3DW[CI
Bore size (mm) A B w A B w A B w A B W Hs
20 11.5 5.5 1(3.5) 15.5 9.5 -0.5 15.5 9.5 -2.5 6.0 0.5 -3.0 30
25 12.5 7.5 3(5.5) 16.5 11.5 1.5 16.5 115 -0.5 7 2.5 -1 32
32 14.5 9.5 5(7.5) 18.5 13.5 3.5 18.5 13.5 1.5 9.5 4 1 35
40 13 12 7.5 (10) 17 16 6 17 16 4 8 7 B35 38
50 9.5 155 | 11(135) | 13.5 19.5 9.5 13.5 19.5 7.5 4.5 10.5 7 44
63 10.5 18.5 14 (16.5) 14.5 22.5 12.5 14.5 22.5 10.5 5.5 13.5 10 49
80 16.5 17.5 | 13(155) | 20.5 21.5 11.5 20.5 21.5 9.5 11.5 12.5 9 57.5
100 24.5 225 |18(20.5) | 285 26.5 16.5 28.5 26.5 14.5 19.5 17.5 14 67.5

The dimension inside ( ) is for D-A96.

Negative figures in the table W indicate an auto switch is mounted inward from the edge of the cylinder body.

Reed auto switch | Solid state auto switch
D-M9L IV

D-M9L WV
D-M9L]AV

D-A9L1V

232, 240, 250, 063, 280, 2100

= Figures in the table below are used as a reference when mounting the auto
switches for stroke end detection. In the case of actually setting the auto switches,
adjust them after confirming their operation.

(mm)
Auto switch D-M9C1V
model D-A9C1V D-M9CIWV
D-M9[IAV
Bore size (mm) A B Hs A B Hs
20 11.5 5.5 22 15.5 9.5 24
25 12.5 7.5 24 16.5 11.5 26
32 14.5 9.5 27 18.5 13.5 29
40 13 12 30 17 16 32
50 9.5 15.5 36 13.5 19.5 38
63 10.5 18.5 41 14.5 22.5 43
80 16.5 17.5 49.5 20.5 21.5 52
100 24.5 22.5 60 28.5 26.5 62

220, 225

A B
Fal
[@r—oma |
A B
[—
T T
1[2) ) e ) -
[ promer |

63

Series C96 Series CP96 Series C85

Series C55




Series C55
Auto Switch Mounting 2

The Number of Surfaces and Grooves Where an Auto Switch Can Be Mounted (As Direct Mounting)

The number of the surfaces and grooves where the auto switch can be mounted, by switch type, are shown in the table below.

Piping port
I Auto switch
P model D-A90], M9C] D-P3DWOI
Bore Size (Mounting (Mounting (Mounting (Mounting (Mounting (Mounting (Mounting (Mounting
D B (mm) groove no.) | groove no.) | groove no.) | groove no.) | groove no.) | groove no.) | groove no.) | groove no.)
) O O @] O O O O
View from 20 1 5 > > X > 2 >
o end am | e | @ | @ @ | @ | ®
o5 o) o) o) o) « o) o) o)
% (2 (2 (2 2 2 (2 2
Mounting the D-P3DWLI on a 820 to @25 port 32 O O O O x O O O
surface interferes with the fitting, so it needs to (2) (2) (2) (2) (2) (2 (2)
be mounted on a place other than the port 40 @) @) @) @) % O @] O
surface. 2 ) ) ) ) ) @)
For 832 to 6100, if the corner of the fitting O O O O O O O
hexagon interferes with the D-P3DWL series, 50 (2) (2) 2 (2) x @) (2) (2)
adjust the tightening of the fitting to eliminate O O O O O O O
the interference. 63 %) ) ) ) X ) 2 )
Also, in the case of interference with an elbow
e : - @) @) @) O @] O O O
]Eype fitting, direct the pqn of the fitting away 80 @) @) @) @) @) @) @) @)
rom the D-P3DWLI series. o o o o o o o o
If you have any other questions, please contact
Mo, yomerd P 100 @ B) @ @ @ B) @ @
Operating Range
(mm)
A s I Bore size
DL Tl 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
D-A9L (V) 9 9 9 9 9 10.5 14 10.5
D-M9LI(V)
D-M9L1W(V) 5 4.5 5 4 4.5 5 10 8
D-M9IA(V)
D-P3DWL[ | 5 55 55 5.5 5.5 6.5 9 7
= The operating ranges are provided as guidelines including hystereses and are not guaranteed
values (assuming approximately £30% variations).
They may vary significantly with ambient environments.
Minimum Auto Switch Mounting Stroke
(mm)
B ShE Auto switch model D-M9CIW
(mm) . |Noofamoswich\ | D-A9C) | D-ASCV | D-MeO | pne—' | D-MOOV | D-MOUIWV | D-M9LIAV | D-P3DWCI
mounted
20 2 pcs. 10 10 15 15 5 10 10 15
1 pc. 10 5 15 15 5 5 10 15
25 2 pcs. 10 10 10 15 5 10 10 15
1 pc. 10 5 10 15 5 5 10 15
2 pcs. 10 10 10 15 5 10 10 10
2, 4
s 4l e 1 pc. 10 5 10 15 5 5 10 10
63 2 pcs. 10 10 10 15 5 10 10 10
1 pc. 5 5 5 15 5 5 10 10
2 pcs. 10 10 15 15 5 10 10 10
1
e 1 pc. 10 5 15 15 5 5 10 10
e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e ===y
1 Besides the models listed in “How to Order,” the following auto switches are applicable. 1
I+ Normally closed (NC = b contact) solid state auto switch (D-FOG/F9H type) and solid state auto switch D-F8 type are also available. For details, 1
1 refer to Best Pneumatics No. 2. 1
1 * For solid state auto switches, auto switches with a pre-wired connector are also available. Refer to Best Pneumatics No. 2 for details. 1
Lo o o o o i e e e e e e e e e e e e e e e e e e R e e R R e e e e e e e e

64

O

SVC



Auto Switch Mounting Series C55

Mounting of Auto Switch/Direct Mounting Style

To mount auto switches, follow the instruction illustrated below.
<Applicable auto switch> <Applicable auto switch>
Solid state-----D-M9L[I(V) Solid state----.-D-P3DW[] g
D-M9IW(V) &)
D-M9OLIA(V) »
Reed  ceeeeeerenes D-A9](V) .g
Q
)]
220 to 0100 220 to 2100
(attached to the auto switch)
Watchmakers screw driver Hexagon socket head cap screw
(M2.5x9.5L)
Hexagon socket head cap screw !
Auto switch mounting screw (M2.5x6L) i
S
\ I b
8
. Auto switch
Auto switch / \mounting bracket Note) o
g
S
5]
Note) When the auto switch mounting bracket is ordered by its part
number, it includes all the bracket and bolts in the above chart. 0
[*))
Use a watchmakers screwdriver with a handle 5 to 6 mm in diameter Applicable auto switch | Auto switch mounting bracket part no. O]
when tightening the auto switch mounting screw. D-P3DWLI BQ6-032S _3
P
. . . O
Tightening Torque of Auto Switch (D Fix the auto switch and the auto switch mounting bracket 1}
Mounting Screws (N-m) temporarily by tightening the hexagon socket head cap screw (M2.5
Auto switch model Tightening torque x9.5L)1to2tums.
D-M9LCI(V) (@ Insert the temporarily tightened mounting bracket into the mating
D-M9IW(V) 0.0510 0.15 groove of the cylinder tube, and slide the auto switch onto the
D-M9LIA(V) ' ' cylinder tube through the groove.
. When inserting into the mating groove of the cylinder/actuator,
D-A9LI(V) 0.10100.20 please hold the rear end of the auto switch (lead wire side) and the
rear end of the auto switch mounting bracket together whilst
working.

(3 Check the detecting position of the auto switch and fix the auto
switch firmly with the hexagon socket head cap screw (M2.5x 6 L,
M2.5x9.5L).*

@ If the detecting position is changed, go back to step .

Series C55

* The hexagon socket head cap screw (M2.5 x 6 L) is used to fix the
mounting bracket and cylinder tube.
This enables the replacement of the auto switch without adjusting
the auto switch position.

Note 1) Ensure that the auto switch is covered with the mating groove
to protect the auto switch.

Note 2) The torque for tightening the hexagon socket head cap screw
(M2.5x6L, M2.5x9.5L)is 0.2t0 0.3 N-m.

Note 3) Tighten the hexagon socket head cap screws evenly.

SvC o5

O



Series C55
Auto Switches Connection and Example

Basic Wiring

Solid state 3-wire, NPN Solid state 3-wire, PNP  2-wire (Solid state)

2-wire (Reed switch)

;---------------- Brown ;---------------- Brown ettt Brown ittt
| | | |

. . @ . . :

" [Main ! [Main ! [Main . Indicator

1 |curcuit . - | |curcuit -4 | |curcuit : protection

1 lof switch ! 1 Lof switch ! |of switch ! circuit,

' ' ' ' ' etc.

| | | |

\ \ QO \ \
e oo ' Blue e memeooo ' Blue e oo ' Blue L
(Power supply for switch and load are separate)

;---------------- Brown ;---------------- Brown et
1 1 [ 1% 1 ndicat

: @ | [Main 1 ! ndicator

l  Black -+ ' |curcuit : : protection

i : ' |of switch ' ' circuit,

. . ' ! ' efc.

' @ ' Q '

Example of Connection with PLC (Programmable Logic Controller)

¢ Sink input specifications

3-wire, NPNB

lack
O

e Source input specifications

3-wire, PNP

Black
O

Input

5 5 i
Auto switch 1 , )—I 1 i
= = - |
COM*=---------------- ! COM'----mmmmmme oo !
PLC internal circuit PLC internal circuit

2-wire 2-wire
Brown Input! = A" "~ """ Blue Input " A\ A~ """ """

O O

Auto switch

PLC internal circuit

Auto switch

PLC internal circuit

Example of AND (Series) and OR (Parallel) Connection

Connect according to the applicable PLC
input specifications, as the connection
method will vary depending on the PLC
input specifications.

* 3-wire

AND connection for NPN output

(Using relays)

Brown

[Auto switch 1

Black
Rel |—]
Blue Lo

e

Brown

AND connection for NPN output
(Performed with auto switches only)

- Black
[Auto switch 2 %{ Relay I—]

° 2-wire

The indicator lights will light up when
both auto switches are turned ON.

2-wire with 2-switch AND connection

2-wire with 2-switch OR connection

OR connection for NPN output

Brown Brown
Load Black Black
- acl - acl
rony | s T} B
contact 1 1
Brown 7 Brown 7
Black Black
Auto switch 2 ac Auto switch 2 ac
Blue Blue

Auto switch 1

Auto switch 2

When two auto switches
are connected in series, a
load may malfunction
because the load voltage
will decline when in the ON
state.

The indicator lights will light
up when both of the auto
switches are in the ON
state.

Brown

Blue

Load voltage at ON = Power supply voltage — Residual voltage x 2 pcs.

=24V -4V x2pcs.
=16V

Example: Power supply is 24 VDC

66

Internal voltage drop in auto switch is 4 V.

O

(Solid state auto switch)

Brown Load When two auto switches
Auto switch 1 are connected in parallel,
Blue malfunction may occur
because the load voltage
5 will increase when in the
Auto switch 2 rown OFF state.
Blue

Load voltage at OFF = Leakage current x 2 pcs. x Load impedance

=1mAx 2 pcs. x 3 kQ
=6V

Example: Load impedance is 3 kQ.

Leakage current from auto switch is 1 mA.

SVC

(Reed auto switch)
Because there is no
current leakage, the load
voltage will not increase
when turned OFF.
However, depending on
the number of auto
switches in the ON state,
the indicator lights may
sometimes grow dim or
not light up, due to the
dispersion and reduction
of the current flowing to
the auto switches.



A\ Safety Instructions

These safety instructions are intended to prevent hazardous situations and/or
equipment damage.

These instructions indicate the level of potential hazard with

the labels of “Caution,” “Warning” or “Danger.” They are all important notes for
safety and must be followed in addition to International Standards (ISO/IEC) *1),
and other safety regulations.

e |

A\ Caution:

Caution indicates a hazard with a low level of risk
which, if not avoided, could result in minor or
moderate injury.

Warning indicates a hazard with a medium level of
risk which, if not avoided, could result in death or
serious injury.

A\ Warning:

Danger indicates a hazard with a high level of risk
which, if not avoided, will result in death or serious

A\ Danger : w
injury.

Tl T T RS |

#1) 1SO 4414: Pneumatic fluid power — General rules relating to systems.
1ISO 4413: Hydraulic fluid power — General rules relating to systems.
IEC 60204-1: Safety of machinery — Electrical equipment of machines.

(Part 1: General requirements)
ISO 10218-1: Manipulating industrial robots - Safety.
etc.

AWarning

1. The compatibility of the product is the responsibility of the
person who designs the equipment or decides its specifications.
Since the product specified here is used under various operating conditions, its
compatibility with specific equipment must be decided by the person who designs
the equipment or decides its specifications based on necessary analysis and test
results. The expected performance and safety assurance of the equipment will be
the responsibility of the person who has determined its compatibility with the
product. This person should also continuously review all specifications of the
product referring to its latest catalog information, with a view to giving due
consideration to any possibility of equipment failure when configuring the
equipment.

2. Only personnel with appropriate training should operate
machinery and equipment.
The product specified here may become unsafe if handled incorrectly. The
assembly, operation and maintenance of machines or equipment including our
products must be performed by an operator who is appropriately trained and
experienced.

3. Do not service or attempt to remove product and
machinery/equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only be
performed after measures to prevent falling or runaway of the driven objects
have been confirmed.

2.When the product is to be removed, confirm that the safety measures as
mentioned above are implemented and the power from any appropriate source
is cut, and read and understand the specific product precautions of all relevant
products carefully.

3. Before machinery/equipment is restarted, take measures to prevent unexpected
operation and malfunction.

4. Contact SMC beforehand and take special consideration of safety
measures if the product is to be used in any of the following
conditions.

1. Conditions and environments outside of the given specifications, or use outdoors

orin a place exposed to direct sunlight.

2.Installation on equipment in conjunction with atomic energy, railways, air
navigation, space, shipping, vehicles, military, medical treatment, combustion
and recreation, or equipment in contact with food and beverages, emergency
stop circuits, clutch and brake circuits in press applications, safety equipment or
other applications unsuitable for the standard specifications described in the
product catalog.

. An application which could have negative effects on people, property, or animals

requiring special safety analysis.

Use in an interlock circuit, which requires the provision of double interlock for

possible failure by using a mechanical protective function, and periodical checks

to confirm proper operation.

w

»

A\ Caution

. The product is provided for use in manufacturing industries.
The product herein described is basically provided for peaceful use in
manufacturing industries.
If considering using the product in other industries, consult SMC beforehand and
exchange specifications or a contract if necessary.
If anything is unclear, contact your nearest sales branch.

-

Limited warranty and Disclaimer/
Compliance Requirements

The product used is subject to the following “Limited warranty and Disclaimer”
and “Compliance Requirements”.
Read and accept them before using the product.

Limited warranty and Disclaimer

1. The warranty period of the product is 1 year in service or 1.5 years after
the product is delivered.*2)
Also, the product may have specified durability, running distance or
replacement parts. Please consult your nearest sales branch.

2. For any failure or damage reported within the warranty period which is clearly our
responsibility, a replacement product or necessary parts will be provided.
This limited warranty applies only to our product independently, and not to any
other damage incurred due to the failure of the product.

3. Prior to using SMC products, please read and understand the warranty terms
and disclaimers noted in the specified catalog for the particular products.

#2) Vacuum pads are excluded from this 1 year warranty.
A vacuum pad is a consumable part, so it is warranted for a year after it is delivered.
Also, even within the warranty period, the wear of a product due to the use of the vacuum pad
or failure due to the deterioration of rubber material are not covered by the limited warranty.

Compliance Requirements

1.The use of SMC products with production equipment for the manufacture of
weapons of mass destruction (WMD) or any other weapon is strictly prohibited.

2. The exports of SMC products or technology from one country to another are
governed by the relevant security laws and regulations of the countries involved
in the transaction. Prior to the shipment of a SMC product to another country,
assure that all local rules governing that export are known and followed.

’ASafety Instructions | Be sure to read “Handling Precautions for SMC Products” (M-E03-3) before using.

O
2

67



SMC Corporation

Akihabara UDX 15F,

4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021, JAPAN
Phone: 03-5207-8249 Fax: 03-5298-5362
http://www.smcworld.com

© 2011 SMC Corporation All Rights Reserved

Specifications are subject to change without prior notice - 1st printing PZ printing PZ 7850KY Printed in Japan.
and any obligation on the part of the manufacturer.




	ISO Cylinder
	Series Variations
	Series C85: Standard/Non-rotating Type, Double Acting, Single/Double Rod, How to Order
	Specifications, Weight
	Dimensions/Double acting, Single rod
	Dimensions/Double acting, Double rod

	C85 Accessory Dimensions
	Series C85: Standard/Non-rotating Type, Single Acting, Spring Return/Extended, How to Order
	Specifications, Spring Retracting Force
	Dimensions/Single acting, Spring return
	Dimensions/Single acting, Spring extended

	Series C85R: Direct Mount Type, Double Acting, Single Rod, How to Order
	Specifications, Weight
	Dimensions/Double acting, Single rod

	Series C85: Auto Switch
	Series C85: Auto Switch Mounting 1, 2, 3
	Series C85: How to Mount and Move the Auto Switch
	Series C85: Auto Switches Connection and Example
	Series CP96: Standard, Double Acting with End of Stroke Cushioning, How to Order
	Specifications, Standard Stroke, Accessories, Replacement Parts/Seal Kit
	Dimensions

	Series CP96: Auto Switch Mounting 1, 2
	Series C96: Standard, Double Acting, Single/Double Rod, How to Order
	Specifications, Standard Stroke, Accessories, Replacement Parts/Seal Kit
	Dimensions

	Series C96: Auto Switch Mounting 1, 2, 3
	Series C96: How to Mount and Move the Auto Switch 1, 2
	Series CP96/C96: Auto Switches Connection and Example
	Series CP96/C96: Accessories
	Dimensions: Cylinder Mounting Accessories
	Dimensions: Piston Rod Mounting Accessories

	Series C55: Compact Cylinder, Double acting, Single Rod, How to Order
	Specifications, Standard Stroke, Manufacture of Intermediate Stroke, Mounting Bracket Part No., Replacement Parts/Seal Kit
	Dimensions
	Mounting Bracket

	Series C55: Auto Switch Mounting 1, 2
	Series C55: Auto Switches Connection and Example
	Safety Instructions
	1.pdf
	ISOシリンダ
	シリーズバリエーション
	エアシリンダ：標準形/ロッド回り止め形 複動・片/両ロッド C85 Series
	型式表示方法
	仕様、質量表
	ストロークの選定
	構造図/複動・片ロッド
	構造図/複動・両ロッド
	外形寸法図/複動・片ロッド
	外形寸法図/複動・両ロッド
	付属金具寸法

	エアシリンダ：標準形/ロッド回り止め形 単動・押出し、引込み C85 Series
	型式表示方法
	仕様、スプリング戻り力
	構造図
	外形寸法図/単動・押出し
	外形寸法図/単動・引込み

	エアシリンダ：ダイレクトマウント形 複動・片ロッド C85R Series 
	型式表示方法
	仕様、質量表
	構造図
	外形寸法図

	C85 オートスイッチ
	オートスイッチ取付
	オートスイッチ取付および移動方法
	ご使用になる前に：オートスイッチ/結線方法、接続例

	エアシリンダ：標準形 複動クッション付 CP96 Series
	型式表示方法
	仕様、標準ストローク、付属品
	理論出力表、質量、許容運動エネルギー
	構造図
	外形寸法図

	エアシリンダ：ロッド回り止め形 複動・片/両ロッド CP96K Series
	型式表示方法
	仕様/内容、最大ストローク、付属品
	構造図
	外形寸法図

	CP96 オートスイッチ取付
	エアシリンダ：標準形 複動・片/両ロッド C96 Series
	型式表示方法
	仕様、標準ストローク、付属品
	理論出力表、質量、許容運動エネルギー
	構造図
	外形寸法図

	エアシリンダ：ロッド回り止め形 複動・片/両ロッド C96K Series
	型式表示方法
	仕様/内容、最大ストローク、付属品
	構造図
	外形寸法図

	スムースシリンダ：複動・片ロッド C96Y Series
	型式表示方法
	仕様/内容、最大ストローク、付属品
	構造図
	製品個別注意事項

	C96 オートスイッチ取付
	オートスイッチ取付および移動方法
	ご使用になる前に：オートスイッチ/結線方法、接続例

	CP96/C96 付属品
	外形寸法図/シリンダ用取付付属品
	外形寸法図/ピストンロッド用取付付属品

	CP96/C96 簡易特注品
	CP96/C96 オーダーメイド仕様
	薄型シリンダ：複動・片ロッド C55 Series 
	型式表示方法
	仕様、標準ストローク、中間ストロークの製作
	質量表、支持金具部品品番
	許容横荷重、許容運動エネルギー
	取付ボルト
	構造図
	外形寸法図
	取付支持金具

	C55 オートスイッチ取付
	ご使用になる前に：オートスイッチ/結線方法、接続例

	安全上のご注意




